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PART - I (|- 1)
MENTAL ABILITY TEST

ifser AvIar ghemr

Questions : 1 to 90

Direction : (Question No. 1 to 3)

In these questions, a number series is

given with one term missing. Choose the

correct alternative from the given ones

that will complete the series.

1.

11, 8, 16, 12, 36, 31, ?

(1) 155 2) 124
(3) 62 (4) 108
4,10, 22, 46, ?

(1) 92 2) 66

(3) 68 (4) 94

28, 23, 19, 16, 14, 13, ?
(1) 12 2) 11

(3) 10 4) 13

If X means +, Y means —, Z means
+ and P means X, then find the
value of 10P2 x 5Y5%5 :

(1) 24
2) 10
3) 15
(4) 20

NMMS-NOV-2022

IGEEIR

Time : 12 Hours

(UsT €= 1 | 3)

= uedl H Uk dE e & R B
e ok 95 g g | Ru T fasmedi |
q gg fabed gFT SoSEe Hog
HT & |

1.

11, 8, 16, 12, 36, 31, ?

(1) 155 2) 124
(3) 62 (4) 108
4, 10, 22, 46, ?

(1) 92 2) 66

(3) 68 (4) 94

28, 23, 19, 16, 14, 13, ?
(1) 12 @) 11

(3) 10 4) 13

g X a1 A +, Y Hr 37T —, Z
P 31 + X P T o7 x HET
STQ, a 10P2 x 5Y5Z5 &1 HME
ST HifoTT -

1) 24
2 10
3) 15
(4) 20

P.T.O.
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After sunrise, in which side will be
the shadow of a person standing
facing north ?

(1) Right

(2) Left

(3) It will depend on the person

(4) None of these

If 44 x 12 = 8 and 78 x 22 = 14,
then 81 x9=7
(1) 18
(3) 45

(2) 24
(4) 30

How many cubes are there in the
given figure ?

(1) 14
3) 15

The position of how many digit in
the number 7214658 will remain
the same after changing the digits
of this number in ascending order ?

(1) 4 2) 3
(3) 2 4) 1
Pooja  remembers that  her

mother’s birthday is after 16th
and before 22nd while her brother
remembers that her mother’s
birthday is after 20th and before
25th. If both the information is
correct then on what date are his
mother’s birthday ?

(1) 20 (2) 19

3) 21 (4) 23

NMMS-NOV-2022

(4)

IEZSIRC:IRE Sl e
(1) &g
(2) an
(3) @& AfRT 9T MY &HIM
(4) 379 9 HIF Tl
. A% 44x12=8 3T 78 x 22 =14
2, ar 81x9="?
(1) 18 (2) 24
(3) 45 (4) 30

. & TS oTepia H o w € 7

1) 14
3 15

(2) 11
(4) 12

1) 4
3) 2

@) 3
4 1

. g & 9| g 6 Sadr A @

SR 16 & 9% X 22 drE
% Ued & Sidih 39 9IS H A
2 fp Sga 91 &1 SR 20 &
& JAT 25 IE B Ued 2 | AR
A H AEDA el 8, ar I
AT 1 e fpg aiE & 8 7
(1) 20 (2) 19

(3) 21 (4) 23
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10. If 13 + 7 =109 and 14 + 6 = 408,
then 17+ 5=7
1) 22 (2) 508
(3) 85 (4) 345

Direction : (Question No. 11 to 15)

125 Cubes of side 2 cm are put together
to form a bigger cube. After this each
surface of the big cube is painted red.
After colouring all the small cubes are
separated. On this basis answer the
following questions.

11. What will be the length of each
side of the larger cube formed

after all the smaller cubes are put

together ?
(1) 8 cm (2) 4cm
(3) 6cm (4) 10 cm

12. How many such small cubes will
be there which will have red colour

on only two surfaces ?

1) 24 2) 8

(3) 36 (4) 12

13. How many such small cubes will
be there which will have red colour

on only three surfaces ?
1) 12 (2) 24
(3) 54 (4) 8

NMMS-NOV-2022

(5)

A

10. IfE 13+ 7 =109 3 14 + 6 = 408

=, AT17+5="2
(1) 22 (2) 508
(3) 85 (4) 345

fdsr @ (98 d@E=r 11§ 15)

2 GHI. YST 125 =91 H TH-A1e
EGHT U dS1 WWMIGI%l%H%
e g2 99 Hl TP dds X A T
fFar Strar B0 7 FE B 9E 94 8l
gl Bl ST - AT HY f&AT ST B
29 SR IR MHARIad 9991 & 31X
EUS L

11. 941 8¢ 941 @ TH-Ar W &
e §9 98 "9 %l U Yol
(FpeTR) =61 r==rg =/ Bl ?

(1) 8 9+ (2) 499
(3) 69Hr (4) 10 9

12. 'Y fHFaa B¢ =9 B8 N9
dHad & 9de UX dArd T B 7
(1) 24 2) 8
(3) 36 (4) 12

13. 0¥ fpaa ®I? =9 B9 e

FHad 9 gGdel 9¢ a1

R ?
(1) 12 (2) 24
3) 54 (4) 8

P.T.O.
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14.

15.

16.

17.

How many such small cubes will
be there which will not have red

colour on any of its surfaces ?

(1) 27 (2) 36

(3) 24 4) 25

How many such small cubes will
be there which will have red colour

on only one surface ?
(1) 36 (2) 54

(3) 16 (4) 48

If a person was born on last day of
February in 1980, then how many
birthdays will be celebrated till

November 2022 ?
(1) 42 (2) 41

(3) 10 (4) 11

At what time will the hands of the
clock be in a straight line between
8 : 00 and 9 : 00 but not coincide ?

1 8: 12
11
@ 8: 102
11

3) 8:16-%
11

@ 8: 122
11

NMMS-NOV-2022

(6)

14.

15.

16.

17.

09 fhadq ®Ile =9 B8 e
d ddae W I

et [T AR
R ?

(1) 27 (2) 36

(3) 24 (4) 25

g fhad ®BlC 9 BN s
I T dde U T BT BN 7

(1) 36 (2) 54

(3) 16 (4) 48

gfe fhal =i & ST 1980 &
®HXE HEH & Sifed & e,

dJarEX 2022 T a8 fhaw
SHE HATE ?

(1) 42 2) 41

(3) 10 (4) 11

8 X 9 &1 & = fopd THT HSI
H A gl uw Al @ o
BN g @Il el ?

1 8: 1%
11
@ 8: 102
11

3) 8:16-%
11

@ 8: 122
11
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Direction : (Question No. 18 and 19)

Study carefully the given series and
Answer the following questions.

4WP#K38% &5QGS1$UNI25@«68

18. How many such numbers are there
in the given above series each of
which is immediately followed by a
letter and immediately preceded by

a symbol ?
1) 1 2 0
3) 2 4) 3

19. How many such symbols are there
in the given above series each of
which is immediately followed by a
letter and immediately preceded
by a number.
(1) 2

@) 1

@) 3
4) 4

20. A couple has 5 married sons, each

of whom has three children. How
many total members are there in
this family ?
(1) 25 (2) 26
(3) 27 (4) 12
Direction : (Question No. 21 and 22)
The three different position of a dice are

given below. Select the suitable answer
to the following questions.

A~ ~—~C A B ~

ef [0 [F)

21. Which letter is on the surface
opposite to D ?

1) A
3) E

NMMS-NOV-2022

(2) B
4) F

(7)

fder : (v e 18 wd 19)

BialNicSIESCKINCA T
FY X = fRu @ g & IAX T

AWP#K38% &5QGS1$UNI25@+68
18. & T2 Sugewd  ofEenr HOTEn
XA 9% Uh 1ER Sl A ded

T Uailh ot B 7
M1 2) 0
3) 2 4) 3

19. &1 % SUYH e H UF e
udiieh & B9 T % gid 9’
TH e B AN A dBd TH
e 2 7
1) 2 2 3
3 1 (4) 4

20. fRelt =Twufq & 5 foenfed g ©

59 9 g% & de-dE "=
g1 39 dREaR H FHa Frad Ged
g7
(1) 25
(3) 27
feer @ (Js demr 21 ug 22)
Teh O ol dIF S-S Raf S
S M ) FEAfRad 9|l % SugEd
IO BT =TT BR |

epop [

21. D &% faudg @dge 94X HE-91

©2) 26
(4) 12

3T 8 7
1) A 2) B
3) E 4) F

P.T.O.
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A

22.

Which letter is on the surface
opposite to F ?

(1) B
@) D
3) E
4 C

Direction : (Question No. 23 to 26)

The answers to the following questions

are based on the diagram given below :

A
<SS
(Teacher)
(Artist) D G | F
c « ¥
B (Scientist)
23. Teachers who are not scientists

24.

but artists are represented by
which letters ?

(1) D
(2) F
3 E
4) A
Scientists who are teachers and

artists are represented by which
letters ?

1) E
3) C

@) G
(4) F

NMMS-NOV-2022

(8)

22.

ISCER

F & fauidg dds ¥ &H=-4r
378X B ?

(1) B
@ D
3) E
4 C

(I dEmm 23 § 26)

fr=fefaa gs=i & SO A Ru o
M UX T ¥ -

A
«3THIH
'(Teacher)
CIKIE R 2
(Artist) D G | F
c <« 3emifrn
B | (Scientist)
23. I 3TAYEH S dsies A8l 8,

24.

=] HAHR &, [hd &R IR
afdid Y T B 7

(1) D
@ F
3) E
4) A
I JEiees S STHUE SR

FHATRIT &, hE ST & UsiRidT
fpg 1@ § 7

1) E
3) C

@) G
4) F
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25. Artists who are scientists but not

teachers are represented by which

letter ?
(1) B 2 D
3) F 4) C

26. Scientists who are neither
teachers nor artists are

represented by which letter ?
(1) B @) F
3) D 4) C

Direction : (Question No. 27 to 30)

There are given seven logical diagrams
(a, b, c, d, e, f and g). Select one which
best illustrates the relationship among
three classes in each of the following
questions.

@O @ @C
® Q0

g
27. Mustard, Wheat, Potato.
(1) e @) g
3) b (4) c
28. Boy, Student, Player.
1 f (2) c
3) g 4) e

NMMS-NOV-2022

(9)

25.

26.

e

A

J FABR ST GEE B IR

gafdtd fpe @ g ?
(1) B 2) D
3) F 4 C

I AR ST T Al SASHgE @
AR T & HaAR g, FE R
a0 uefia feg T g 7

() B 2 F

3) D 4) C

: (I deEmm 27 | 30)

qad d® G99 =T (8, b, ¢, d, e, f X g)
few o 2| Fr=foRaa & @ g usH
7 d9 am & d @99 909 9
4 g |

OO @ we

& ©0 *F

28.

g

g3El, g, o7 |
(1) e 2) g
(3 b 4) ¢

P.T.O.
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A
29. Brinjal, Food, Vegetables.

1) b (2) e
3 a 4) g
30. Thief, Judge, Criminal.
1 f (2) b
3 g 4) d

Direction : (Question No. 31 to 34)

In the following questions there are
statements followed by
Choose the conclusion(s) which must
logically the given
statements.

conclusions.

follow  from

(1) If only conclusion I follows.

(2) If only conclusion II follows.

(3) Neither conclusion I nor II follows.
(4) Both conclusion I and II follows.

Some teachers are
players.

All  Players
doctors.

31. Statements:

are

Conclusions: I Some doctors
are teachers.

II Some doctors
are players.

Some jeeps

buses.

32. Statements: are

Some Buses

Cars.

are

Conclusions: I All buses

Cars.

are

II Some Cars
buses.

are

NMMS-NOV-2022

(10)

29. <, @I, s |

1) b 2) e

3) a 4) g
30. =X, SToT, ST |

M f 2) b

3 g 4) d
feer : (I dEm 31 9 34)

F=fRaa gl d, o9 & 9e ey
2| e 1 =EE #® o Ru Ta et
q difebs BT A FATAIOT BT |

(1) afs Faa Frpd 1 STTERET &I € |

(2) A& wast Fepd 11 STFEReT FH
gl

(3) 7 A Fr=pd 1 IR & 11 AFERT
AT B |

4) Frepd 1 ok I a0 oTgEReT &3d
=

31. YT : HFY HeAUH Raarel & |
a¥ Raeret St g |
fept : I B St oTe 2 |

Il 5 SfFex faae! 2|

32. YT : FB Y T ¥ |
He T4 B E |

freps : 1 91 o9 R B |

II % %R a9 2 |
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33. Statements: All flowers are
vegetables.
All leaves are
vegetables.

Conclusion: I Some vegetables

are leaves.

II Some vegetables
are flowers.

Statements :

34. All animals are
horses.
All  horses are
birds.
Conclusions : I Some birds are
animals.
IT All animals are
birds.

Direction : (Question No. 35 to 37)

Read the following information and

answer the questions given below.
(1) P+ Q means P is mother of Q.
(2) P+ Q means P is husband of Q.
(3) P— Q means P is sister of Q.

(4) P xQ means P is son of Q.

35. A—BxC + D+ E, then which of

the following are true ?
(1) A is brother of E

(2) Ais sister of E

(3) Bis Husband of C
(4) C is brother of E

NMMS-NOV-2022

(11)

33. &Y : I | ATl 2 |
g4 I afssar 2 |
freps : 1 g afesar qafwr 2
Il & il B 2 |
34. HIA : FA TR qIS B
g4l 912 vl € |
frepe 1 1 %o well SeR 2|
I | Sax geft 21
fasr : (v d=m 35 | 37)

fr=fafaa s & 98 o) A fRu
gedl & IAT 2 |

(1) P+Q &1 378f 8 P, Q & HICT 2 |
(2) P+Q @1 7ef 8 P,Q &1 Ui 2 |
(3) P-Q @1 31f 8 P,Q &I &+ B
(49 PxQ 1 3 8 P,Q 1 9 2|

35. A-BxC~+D+Eg, @ frfafad
79 pE-a G ?
(1) A,E=r o 2|
(2) A,E® 98 2|
(3) B,C %1 ufaq ®1
(4) C,E=r «1g B\

P.T.O.
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36.

37.

38.

39.

Which of the following relations
show that A is the daughter of D ?

1) A-BxC+D
@2 D+C-AxB
3 A-BxC=+D
4 D+C-BxA

If Ax B+ C + D, then how is B
related to D ?

(1) Mother-in-law
(2) Mother

(3) Husband

(4) Father

The volume of water in a tank
doubles every minute. The tank is
completely filled in 30 minutes. In

how many minutes will the tank
be half full ?

(1) 15 Minutes
(2) 29 Minutes
(3) 20 Minutes
(4) 10 Minutes

If the word “JAIPUR”
written as QZRKFI, then how can
the word “ROHTAK” be written in
that Code ?

(1) LIPGZQ
(2) ILSGZP
(3) JKRHZP
(4) LIGQZO

can be

NMMS-NOV-2022

(12)

36.

37.

38.

39.

fFrfaRaa § 9 d9-w1 dd¥g g8
Toiem B 5 A, D @ g B 7
(1) A-BxC+D

(2) D+C-AxB

(3) A-BxC=+D

(4 D+C-BxA

e AxB+C+D %, @ B @& D

T FT GEYg T 7
(1) a9

gie “JAIPUR” 1= &I QZRKFI
forar star 8, @ “ROHTAK” ==
F = He H B ueR o
ST Hehall & °?

(1) LIPGZQ
(2) ILSGZP
(3) JKRHZP
(4) LIGQZO
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Direction (Question No. 40)

In the following question, select from the
figure which satisfies the same condition

of the placement of the dots as in figure
X).

40. M

X)

(1) @ 2) @
3) @ (4) @

41. If + means X, X means —, ~ means

+ and — means +, then find the
value of 288 —16+9x 54 +9:

1) 0

2) 171
(3) 225
4) 117

42, Ifitis 2: 20 in the clock, what will
be the time after turning the hours
hand 40 degrees ?

(1) 3:40
(2) 6:20
(3) 3:00
(4) 5:40

NMMS-NOV-2022

(13)

fEwr : (9s7 e 40)
e usT |, g8 Spla g S
feig o= @ IET R Bl s HIr
2 o9& & et (X) # B

40. 7

X)

(1) @ @) @
3) @ (4) @

41. I + Hr AT x, x B A —, +
3T + AR — 1 37 +, AFT SAC, A
288 — 16 + 9 x 54 + 9 [ T =q
P -

(1) 0

2) 171
(3) 225
(4) 117

42, Il =31 H 2 g7 20 e g4 g,
ar S H gS 40° gHA & 9
g BT 7
(1) 3:40
(2) 6:20
(3) 3:00
(4) 5:40

P.T.O.
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A

43.

44.

45.

Varun walks 20 meters in the
North direction then walks 20
meters in the East direction, then
12 meters in South direction and
then stops after walking 26 meters
in the West. In which direction
and how far is he now from the
starting point ?

(1) 6 meters West

(2) 14 meters South-East

(3) 10 meters South-East

(4) 10 meters North-West

If “DUCK” is written as @49% and
“LIKE” 1s written as I8%#, then

how can “ELUDE” be written in
the same code ?

(1) #ST%H
(3) #I4a@#

2) @89%#
(4) @T4%@H

Q’s sister is P, R’s brother is Q, S’s
son 1s R, then how P is related
toS?

(1) Daughter
(3) Father

(2) Son
(4) Mother

Direction : (Question No. 46 and 47)

Select a proper group of number / letters

from the given alternative.

46.

123 2 _41_4124 _23
(1) 3431 (2) 4313
(3) 4331 (4) 4321

NMMS-NOV-2022
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43.

44.

45.

IGEEIR

TJEIT IR H 20 HieX Iax¥ f&em H
Sam 8 fee 20 Hiex gd fem H
Y 12 Hiex aferor fa=m #, e
26 Hiex qiygH f&sm # I@he &6
ST 21 °fd, 98 URiYe e 9
fope faem ® g fRaeil g0 WX B 7

(1) 6#HIeX gie=gH

(2) 14 HrexX o
(3) 10 Hiex =feror-gd
(4) 10 Hiex IAT-9i=H

gfe  “DUCK”> & @49% oI%
“LIKE” & I8%# forar Siar 2,
ar “ELUDE” @I 361 &l # &9
UehY forar o1 gehar ®

(1) #83%# (2) @89%#
(3) H4a# (4) @34%@H#

QF eI PT, REHT M2 QT, SH
g R g @ P & S § | Gdy
g

(1) g=n
(3) far

2) I
(4) #IdT

(U1 HEmm 46 o 47)

ftu U fapeal # 9 G137 &
T @ dgE gHu Bea Red el

H gicd ST G |

46. 123 _2 _41_4124 23
(1) 3431 (2) 4313
(3) 4331 (4) 4321
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47. a _abc_bc _abced _
(1) abde
(2) bade
(3) baed

(4) abed

Direction : (Question No. 48 to 51)

Read the following information and
answer the questions given below. The
following information compares the age
of A, B, C, D and E. A is older than B, C
is older than B but younger than A. D is

younger than E and B. B is older than E.

48. Who is the youngest ?

(1) E (2) A
3) C 4) D
49. Whose age is exactly in the middle
of everyone ?
(1) B (2) A
3) D 4) C
50. Whose age is between B and D ?
(1) A (2) E
3) C (4) None of these

NMMS-NOV-2022

(15)

47. a _abc _bc _abed _
(1) abde
(2) bade
(3) baed

(4) abed

IGEEIR

fr=fafaa s @ u@ iR i fRu
T Ul B I 3 | T SRR H A,
B, C, D X E & 39 %I ga=m & T
TIA BA el C B g 2
AT A & Bler 21 D, E 3R B &
Blel 1 B,E 4 =71 21

(we7 e 48 | 51)

48. GFH BT HiA 8 ?
(1) E 2) A

(3) C 4) D

el 3 99l & S d9ig H
g

49.

1) B @ A
®3) D 4 C

50. TFEehl SUBIRD® & H € 7
1) A @ E
@ C (4) 379 | B T

P.T.O.

Downloaded from cclchapter.in



A (16)

51. Who is the eldest in age ? 51. &9 U § @99 ST 8 7
(1) C (1) C
2) E @) E
(3) A (3) A
4 B 4 B
Direction : (Question No. 52 to 54) e ¢ (Us €& 52 | 54)

In the following questions, which of the Frfiad 999 & STx BTIEE%TI\T (1),
answer figures (1), (2), (3) and (4) will 2), 3) AR (4 T F HI-Ar TR

complete the picture matrix ? == ATYE (ﬁ'fEER:T) Ea) qa HAM ?
52. 52.
1|/ |— 1|/ |—
| ? D | ? D
[ |/ [ |/
0 % ® i 0 % @ i
(3) % 4) % 3) % 4 %

NMMS-NOV-2022
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53. O

a=le

(1)

2)

A
£
2

)
o)

54 00|00 |(0 O
e R
A |laaalAAn
Lo o o I s I | Q
AA [AAA
L ] 0
2
Fa
o]
M 1A A @ |ana
o o0¢C 00
3 4
A A A

NMMS-NOV-2022
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OO
Al 7
o A
@ @
o |\
o A
54. DUGO o OO0 DD&
A |laaalAAn
AA [AAA
2
Fa
o]
M 1A @ |ana
o o0¢C 00
(3) (4
A A A
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55. Which letter will be seventh to the
right of the seventh letter from the
left of the English alphabet ?

(1) N
(2) M
3 G
4 T
Direction : (Question No. 56 to 61)

In each of the following figures number
are written according to some patterns.
One number is missing. Find the
missing number that replace the
question marks (?).

1 4 2 3 2 1
56.
8 27 ?
6 4 8 709 9
(1) 27 (2) 64
(3) 216 (4) 125

57.

1 7 2 10

3) 12 4) 9
58. /—‘_\

1 8 2) 4

3) 30 (4) 60

NMMS-NOV-2022

55. STUSH GUHIE % 9@ 9§ AT
X & IM Fradr e HiA-ar
BRT ?

(1) N
(2 M
3) G
(4) T

fesr : (Js7 demr 56 9 61)

= & T uas otefa # uws MiEd
FH OAJER HB Fee e T g
TTH 9 U de g9 2 e a@en
ST L, ST U e (7) & A W)

SUYET Bl |
1 4 2 3 2 1
56.
8 27 ?
6 4 8 7 9 9
(1) 27 (2) 64
(3) 216 (4) 125
57.
1 7 (2) 10
3) 12 4) 9
58. /—‘_\
(1) 8 (2) 4
(3) 30 (4) 60
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29. 13 14 182
15 ? 195
17 19 323
(1) 13 (2) 17
(3) 11 4) 21
60.
4 6 7 n g 18
28 ? T4
3 5 8
(1) 24 (2) 31
(3) 28 (4) 46
61. -
14
7
5 8
7 15
17
(1) 3 2 9
(3) 19 (4) 25

Direction : (Question No. 62 and 63)
In a certain code language

(1) ‘tip ja pul’ means ‘tomato is red’

(2) ‘pul sur mat’ means ‘red and green’
(3) ‘mat tip jir means ‘green is tasty’

62. In that language which word is
written for ‘tasty’ ?

(1) mot (2) sur
(3) tip (4) jir

NMMS-NOV-2022

(19)

59. 13 14 182
15 ? 195
17 19 323
(1) 13 ) 17
(3) 11 4) 21
60.
4 6 7 n g 18
28 ? T4
3 5 8
(1) 24 (2) 31
(3) 28 (4) 46
61. o
14
7
5 8
? 15
17
1 3 2) 9
3) 19 (4) 25

feer : (99 dEmr 62 wd 63)
fepdl 9= e A §

(1) ‘tip ja pul’ @T 277 ‘tomato is red’ &

(2) ‘pul sur mat’ T 37 ‘red and green’ &

(3) ‘mat tip jir’ =T 37T ‘green is tasty’ &

62. IOI 91T F ‘tasty’ & @ si=-41

=% foram = B 7
(1) mot (2) sur
(3) tip (4) jir
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63. In that language which word is

written for ‘tomato’ ?
(1) ja

(2) pul

(3) mot

(4) tip

Direction : (Question No. 64 and 65)

In the following number/letters series
find the number/letter which is wrong
according to the series.

64. 7,12, 20, 31, 46, 62
(1) 46
(2) 62
(3) 31
(4) 12
65. C,E,I,P,W
1) E 2 W
3) P 4) 1

66. How many triangles are in the

given figure ?

(1) 16 2) 8
(3) 24 (4) 10

NMMS-NOV-2022
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63. IOl 9NT H ‘tomato & @

e

HI-AT 9T for@ar = B 7
1) ja
(2) pul

(3) mot
(4) tip

: (9% EE=AT 64 T 65)

dE d S GE/sTeR fadr # 98
/3 S d S HEer &
HATIR T 2 |

64.

65.

66.

7,12, 20, 31, 46, 62
(1) 46
(2) 62
(3) 31
4) 12

CEILPW
1) E 2 W
3) P 4) 1

& T omphr A Brast @ de
Rectr B 7

(1) 16 2) 8
(3) 24 (4) 10
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67. Reaching the meeting place 15
minutes before 5 : 00, Asim came
to know that he had arrived 30
minutes before the one who was 50
minutes late. Tell what was the
scheduled time of the meeting ?
(1) 5:15
(2) 4:45
(3) 4:25
(4) 6:05

68. If white is called green, green is
called black, black 1s called red
and red is called yellow, then what

is the colour of blood ?
(1) Red (2) Black
(3) Green (4) Yellow

Direction : (Question No. 69 to 71)

In each of the following questions the
first
relationship. Choose one word out of the
which will
replace the question marks (?), having

two words have a common

given four alternatives,

same relationship with the third, the

pairs are given as follows.

69. Ammeter : Current : : Odometer : ?
(1) Speed
(2) Earthquakes
(3) Distance
(4) Humidity

NMMS-NOV-2022

(21)

A

67. 5 951 ¥ 15 < Usd dooh €«
U 9gad g4, ST H T8 HIGH
g3l f& g& 50 e a3x 9 o
I AT | 30 MEe Usd 31
T 2 g8 9ad B doh H
Meifa a9 o/ or ?

(1) 5:15
(2) 4:45
(3) 4:25
(4) 6:05

68. IT TH™E HI B, B Hl I,
HAT B AT ST AT B IIAT
Fel Ser B, af W@ OB T
HE-ET 8 7
(1) <IreT (2) I
(3 B0 (4) dre

st ¢ (I dEmm 69 | 71)

FiRad 9% U9 H dUsd a1 U=
fepdl 9 fopdl ¥ 9 Th-gur 4 geiead
21 fiu @ Ix Oeeal & § us oEr
g= A S gsarEe T (7) & e
gy AT Hhal & AR dER S=E § @l
THE 99 28l, Siie 39 U&hK 2

69. ITHIC : fgaemy : : SAISHeT: 7
(1) TTfer
(2) T

@) g
(4) ST

P.T.O.
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A

70. Race : Track :: Cricket : ?
(1) Ground
(2) Stadium
(3) Pitch

(4) Tournament

71. Negroes : Africa :: Sherpas : ?
(1) Japan (2) Tibet

(3) Nepal (4) China

Direction : (Question No. 72 and 73)

In the following questions, choose a
figures amongst the four alternatives
which when placed in question mark (?)

space of figure (X) would complete the

pattern.
72.
?
(X)
/ s
W { @ |4
'
® | 27 @ |7
/

NMMS-NOV-2022

(22)

70.

71.

R

T T e 7
(1) ass

RS

3) =

(4) g

S STRIRT o QIROT ;P
(1) St (2) feresia
(3) AT (4) ==

(w7 &E&r 72 wd 73)

AR U § I Ol § 9 T%
ST I, B S ARiT (X) Bl g7

e

(?) & &I 9 @ AT A U

g0 Bl ST |

72.

?
(X)
e e
m [ @ |47
v
@ 27 @ |7
/
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73.

(1)

3)

@)

(4)

Direction : (Question No. 74 and 75).

Select the mirror image of the given

figure/word (X).

(1)

3)

74. %? E

?‘Z @
?Z @

75. MALAYALAM

(1)
@)
3)
(4)

X)
MALAYALAM

MAJAYA 1AM
INVIVAVIVIA

MAI AYAT AM

NMMS-NOV-2022
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—
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73.

(1)

3)

@)

(4)

feer : (9s dEmr 74w 75)
& e AT/ (X) HI YT Yited

g |

(1)

3)

74. %? E

Y

—

ZANCIV

75. MALAYALAM

(1)
2)
(3)
(4)

X) E
MALAYALAM

MAJAYA 1AM
IWVIVAVTVIN

MAIAYATAM

P.T.O.
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A (24)
Direction : (Question No. 76 and 77)

Select the water image of the given
combination of English alphabet and

feer : (997 dEmr 76 T 77)
SAUSH o AR FEell & R[Ru g
SRISERCIIS CIRSIRICE RS

number.
76. A1M3b 76. A1M3b
(1) VIN3P (1) VIN3P
(2) VIA3P (2) VIAN3P
(3) VIIN3P (3) VN3P
(4) VINEP (4) VIINEP
7. E8t4e9C 7. E8t4e9C

(1) 38theD
2) E81helD
(3) 38fre6C
4) E8I¥edC

(1) 38iheeD
(2) E8ibsRD
(3) I8ire6C
(4) E8I¥edC
fFrder « (997 e 78 T 79)
T = T X) =) ’=E ), (2), (3)
AT (4) § 9 UFh Hr 9oy 2, Ak

X) 38 § fpdl ws H MG 2
SUYET faehed i e @Y |

R, TS,

(X) (X)

Direction : (Question No. 78 and 79)

The given figure (X) is followed by four
figures (1), (2), (3) and (4), such that (X)
1s embedded in one of them. Trace out
the correct alternatives.

(1) @) 1) (2)

(3) @ [N 3 @ [N

NMMS-NOV-2022
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79.

80.

81.

82.

@)

3) (4)

-
(X)
® @ P
=2 @ [E=

How many digits are there in

writing the numbers from 1 to
100 ?

(1) 198 (2) 192
(3) 99 (4) 100
If the word “EARTH” can be

written as 51928, then how can
the word “ORBIT” be written in
that Code ?

(1) 15182
(3) 58290

(2) 69289
(4) 69292
If the word “FLOWER” can be
written as “GNRXGU”, then how

the “FATHER” be
written in that code ?

(1) GCWIGU
(2) FCXGUW
(3) FDWIGU
(4) GCXUGW

can word

NMMS-NOV-2022

(25)

79.

80.

81.

82.

>
(X)
M @ @ | B
® | | O =
1 & 100 o de R § g

fepe o B 7

(1) 198 (2) 192
(3) 99 (4) 100
g “EARTH” == a1 51928

forar Sar 2, af “ORBIT” STs= ahi
=il Hie § B9 UsR o o
ThaT B 7

(1) 15182 (2) 69289
(3) 58290 (4) 69292
gfg “FLOWER” Tsx I
“GNRXGU” femar Sar 2, o
“FATHER” & sdi s # fp9
TehY forEr ST dahat B 7
(1) GCWIGU
(2) FCXGUW
(3) FDWIGU
(4) GCXUGW
P.T.O.
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83.

84.

How many times do the hands of a

clock meet each other in 2 days ?
1) 11 (2) 44

(3) 22 (4) 33

If the word “HEAD” can be written

as JDCC, then how can the word
“NOSE” be written in that Code ?

(1) PNUD (2) NPSD
(3) QOST (4) QMSE

Direction : (Question No. 85)

In the following Question, select the
option showing the main figure (X) after
rotation.

85.

86.

>

X)

(1) @)

A man starts walking towards
west, after walking some distance
he turns 135 degree left of the

direction of walking. In which
direction is he going now ?

(1) North-East
(2) North-West
(3) South-East
(4) South-West

3) (4)

NMMS-NOV-2022
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83.

84.

st -
g g9 o

T RT A ouS # gEAr umEER
T fpat I} e & °?
1) 11 (2) 44
(3) 22 (4) 33
gic “HEAD” 9= @& JDCC fomn

ST B, a1 “NOSE” 9= &l &1 &S
Y fpa e fo/ar o 9t B °

(1) PNUD (2) NPSD
(3) QOST (4) QMSE

(J<7 GE&r 85)
goi & d9r’e H=H

Rl (X) @ I AT fabed @
T HR |

85.

86.

>

X)

A o |
¥ oK

Teh AR TivEH i S =l
IR & 2, B X GAAT b
d1E 98 = Rem P 135° A
gSHT Tl 2 | A g8 fha e
g ?

(1) STR-gd

(2) IALT-uis=H

(3) aferor-ge

(4) fEroT-uis=H

(1) @)

3) (4)
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87.

88.

89.

90.

Chirag’s birthday is on Tuesday 29
May. If Sahil was born on 17th
November, then on which day of

the week will Sahil’s birthday be
in the same year ?

(1) Tuesday

(2) Friday

(3) Wednesday

(4) Saturday

In a class of 73 students, the rank
of Rahul is 24th from the top.

What 1s its sequence from the
bottom ?

(1) 50th
(3) 52nd

(2) 51st
(4) 49th
Sunil is eighth from both the ends

in a row. How many total students

are there in the row ?
1) 16 @) 15

(3) 17 4) 14

On reaching a meeting place on
Sunday, I learned that I had
reached 2 days before the

scheduled day. If I reached there
on next Saturday, how many days
would I have been late ?

(1) 4 days
) 3days
(3) 1day
(4) 2 days

NMMS-NOV-2022
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87.

88.

89.

90.

A

R 1 Sfes H e 29 HWE
F BT oIl @fedw &1 S 17
TEER W ST AT, A1 IE AN
qiied ®l e d<e & 64
fas 8rm ?

(1) HITEA

(2) YehaX

(3) gearx

(4) fEr

73 faEneil @ weh ke H g Hl

HH SHIT T 2441 B | AT F IHH
HH FT B 7

(2) 5lat
(4) 494t

(1) 504t
(3) 52ar

(1) 16 2 15
(3) 17 (4) 14
AT hl Teh T & &I UX
TgEdl HW S R H feiRa
fed & &1 e gd & 9T T g
afe § omht ER @ aer
geaal, o feaw R\ fa@a @
ST ?
(1) 4T
(2) 3t
(3 11
(4) 2=

P.T.O.
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PART - II (T - II)
SCHOLASTIC APTITUDE TEST

Aferer arar gderor

Questions : 91 to 180

91.

92.

93.

94.

95.

Which metal is soft and can be cut
with knife ?
(1) Gold

(3) Calcium

(2) Sodium
(4) Copper

Which property of COz2 makes it
suitable to use it in fire
extinguisher ?

(1)
(2)

It is lighter than oxygen.

It increases temperature of the
fuel.

3)
(4)

It is heavier than oxygen.
It contracts in volume when
released from cylinder.

The
implemented Subsidiary Treaty in
India ?

(1) Lord Dalhousie

(2) Lord Banting

(3) Lord Dafrin

(4) Lord Wellesley

Governor General who

Which of the following is not an
example of polymer ?

(1) Cellulose  (2) Glucose

(3) Nylon (4) Starch

The range of audible frequencies
for human ear is :

(1) 20 Hz to 200 Hz

(2) 20 Hz to 2000 Hz

(3) 20 Hz to 20000 Hz

(4) 20 Hz to 200000 Hz

NMMS-NOV-2022

91.

92.

93.

94.

95.

Time : 12 Hours

HF-T G AXH BN & AT AR,
T PIEl ST Topall & 7

(1) |1 (2) |ifsaH

(3) Hfeaaw (4) aram

COz T HIA-ET oT 3H ARAMHE

45 H IO A & [T IugEd

ST ® ?

(1) I8 STfRdeE 9 & h 2 |

(2 I8 g9 T TAYHM HI FErT
=4

(3) T& SIS q 9 B

(4) TcieT § Meha 9X I8 "ET
H THger B |

ARG H Hed® it ARl i
AT TIHT ST i o7 7

(1) @€ sTere
(2) @ dfeT

(3) e SHRA
(4) @TE ATSTeN

Fefafad & | %9 Sgas
eI T8 © 7

(1) st (2) TR
(3) AT (4) T
CINCHCTE NG S L C T BRI O
P UH T -

(1) 20 Hz & 200 Hz

(2) 20 Hz & 2000 Hz

(3) 20 Hz & 20000 Hz

(4) 20 Hz ¥ 200000 Hz

FI
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96.

97.

98.

99.

100.

101.

The Chemical Formula of rust is :
(1) FesOq4 (2) FeO
(3) Fe20s3 (4) FesO2

During a thunder storm :
(1) Keep moving while holding
umbrella.

@)
3)

Should stand in open ground.
Should move to high altitude
place.

Should sit in bus/ car with its
windows shut.

(4)

Ozone layer protects from
which radiations ?

(1) Infrared Rays

(2) Microwave

(3) Ultraviolet

(4) X-rays

us

The vehicles are designed
that :
(1) Fluid friction increase

SO

(2) Fluid friction decrease

(3) Fluid friction don’t change

(4) There 1s no scientific concept
of this fact

The transparent front part of
human eye is called :

(1) Cornea (2) Iris

(3) Optic Nerve (4) Retina

The North pole of a bar magnet
exerts a force of ..... on North pole
of another bar magnet.

(1) Attraction

(2) Repulsion

(3) Exerts no force

(4) Can’t be said

NMMS-NOV-2022
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96.

97.

98.

99.

100.

101.

ST 1 EEEE G 2

(1) FesOq4 (2) FeO
(3) Fe20s3 (4) FesO2
dfed o & 99T -

(1) BT Y Fa-T ATl |

(2) o WM X @S 'l ST
BT |

B) T TN W TN ST
BT |

(4) R8Tl PR T¥ar 99 § Ras,
AT I HY AT e |

S WXa BH fra [Afeeen &

T B ?

(1) 3faer fBeor

(2) Hrgshiae

(3) RIS

(4) TF-X

qdl aredl & fS9Ed 29 UK

AT S & dreb

(1) =9 =997 =g ST

(2) =g 999 &HH & ST

(3) 3T &G "YU el Faardl

(4) 3@ TSI W HZ  ASTD
ST A&l &

Mg 99 & 9RESH ST 9TFT
FHeT ST 2 |

(1) =pifiaT (2) 9iRATERT
(3) UeRITSes AT (4) et

[Pl B gk B ITA A,
el gaX B8 Ik & I gd
ESECHICIES

......

............

P.T.O.
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102.

103.

104.

105.

106.

The 1image formed retina
retains

removal of object.

on

for even after

(1) isecond (2) %second
(3) lsecond (4) Lsecond
8 16

Which acid is present in Ant
sting ?

(1) Formic Acid

(2) Acetic Acid

(3) Lactic Acid

(4) Oxalic Acid

Which indicator gives pink colour
in basic solution ?

(1) Methyl Orange

(2) Red Litmus Paper

(3) Phenolphthalein

(4) Blue Litmus Paper

Melting of wax is an example of
which type of change ?

(1) Biological

(2) Chemical

(3) Physical

(4) Physical and Chemical both

Tin cans, used for storing food, are
made by electroplating tin on iron
because :
Tin is more reactive than
1ron

(1)
(2) Tin is less reactive than iron
3)

Tin and Iron are equally

reactive
All the above are correct

(4)

NMMS-NOV-2022
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102.

103.

104.

105.

106.

e WX T g, aEg gem

® g N ATHET ........ CEIl
T&dr B |
1 1
(1) Zaaaug (2) 3
1 1
(3) gaaaug (4) i

I & SH H HA-AT T ASE
gar g ?

(1) ®IfHE T

(2) TEHT 3T

(3) dfFeep o
ORCIEGINERS |

-9 Geh ol e J AT
[ AT E 7

(1) HaEa R

(2) @ foTeqd quX

(3) BATHATAT

(4) e ferewd 99T

79 ®H Ogaar b9 9 &
qiad+ 1 ISELOT & 7

(1) SAfep

(2) TS

(3) 9Tk

(4) N R TaEf~E =

T e % HeROT & e 9

M g =i § AR B WY

e = fagaaod e Sar @

Fifh -

1) T @’ a9 SuEr anei|
T B

(2) o571 <ie | &9 Fhaddiar 8ar 2

(3) feq efX aWer S SER
ERIEIS SR

(4) ITAFT T TEr B
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107.

108.

109.

110.

111.

Which is the primary component
of natural gas ?

(1) Hydrogen

(2) Ethane

(3) Carbon dioxide
(4) Methane

Which gas causes global warming ?

(1) Oxygen

(2) Sulphur dioxide
(3) Carbon monoxide
(4) Carbon dioxide

What is the unit of calorific value ?
(1) KJ (2) Kg
3) KJ/Kg (4) KW

When did Neil Armstrong landed
on surface of moon ?

(1) 20 July, 1968

(2) 21 July, 1968

(3) 21 July, 1969

(4) 22 July, 1969

When a cracker is ignited, a
sudden reaction takes place with
the evolution of heat, light and
sound and a large amount of gas is
in the Such

reaction is called :

formed reaction.
(1) Explosion

(2) Rapid combustion

(3) Spontaneous combustion

(4) Slow combustion
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107

108.

109.

110.

111.

A

gfaes T @1 grefies ek
PH-TT B ?

(1) eEgsH

(2) 289

(3) FHEA SEATFAES

(4) #Hrg=H

HF-El TG TS AT & BT
I B 7

(1) St

(2) ITHT SBIHFAES
GEIERRIRISIESIES

(4) FEA SEATFAZS

AN heh T hl Shs a7 8 °
1) KJ @) Kg
(3) KJ/Kg (4) KW

T STHEEIT 9 T=HT U9¥ Had
e @l ?

(1) 20 SI&TTE,
(2) 21 SIS,
(3) 21 SEIE,
(4) 22 JIE,

S Uk YTl Usdiqd [hdr STran
2, @ Up S UldahAr
21 =g ufabear § o1, U9,
e SR §Sr "Em H AW a9
2| U ufafsean wedrdt 2 ¢

1968
1968
1969
1969

(1) faepe

(2) dig &8A
(3) HEq: T&d
(4) =T TBA

P.T.O.
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112.

113.

114.

115.

116.

Which of the following statement
about metals is true ?

(1) Oxide of magnesium is basic in
nature.

(2) Sodium and gold are metals
that can be cut with knife.

(3) Mercury is the lightest metal.

(4) Zinc can’t replace copper from
copper sulphate solution.

How many dot patterns are there
in Braille system ?

(1) 58 (2) 60
(3) 56 (4) 63

Which number should be added to
49 containing the same digits to
make it divisible by 11 ?

(1) 94 @) 9

(3) 4 (4) 49

The slow process of conversion of
dead vegetation into coal is called :

(1) Coal formation
(2) Bitumen formation
(3) Carbonisation

(4) Fossilisation

18 out of 36 people love reading, so
reading in the pie chart will be
represented by :

(1) 36 degree sector

(2) Quarter sector

(3) Semi circular sector
(4) None of these

NMMS-NOV-2022

(32)

112.

113.

114.

115.

116.

gl & a) H Fefatad J§ |J

HF-T7 HIT FF 2 7

(1) T=NfaEs &1 oifaEs usfd
H AT 2

(2) Aifeaq AR AT g8 o1 €
T2 =g | HIeT ST Fehall 2 |

(3) IRT HEH Thl o7 © |

(4) i HAT The GaaT | HAT
T et shY Hehdl |

da gafa & feaw figfhea e

2 8 7

(1) 58

(3) 56

49 H = TR G HE-Al
T Sigl Sw 6 oa@ 11 9
fawrsg 8 S ?
(1) 94
(3) 4

Jd I % HiEd H giRadd
oI I ORI FHedwndl © -

(1) HFAT TS
(2) Fagie o
(3) HBIEATRTOT

(4) STETLHIRTOT

(2) 60
(4) 63

2 9
(4) 49

36 H & 18 4 UedAl Ud=
FA T, a1 Ugd H U A@e H
AT S

(1) 36° HFeX

(2) =IgAiTr FFX

(3) ST HFeX

(4) 39 9 Hg T
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117.

118.

119.

120.

Which of the following changes in
environment may not be possible
due to deforestation ?

(1) Increase in atmospheric
temperature
(2) Increase in water holding

capacity of the soil
Increased chances of flood

3)
(4)

Conversion of fertile land into

desert

Who founded Nalanda University ?

(1) Kumargupta
(2) Chandragupta-I
(3) Skandgupta
(4) Harshvardhana

I act as control centre of the

activities of cell. Whoam I ?

(1) Vacuole
(2) Cell membrane
(3) Nucleus
(4) Plastids

How can we reduce environment
Pollution ?

(1) By using diesel cars
(2) By using CNG Kits in vehicles

(3) By using petrol cars
(4) All of the above
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117.

118.

119.

120.

A

el Hels B HIOT JrAEIeT H
e § 9 f9-ar afikadw
g & T 7

(1) argHsE qaq= J gia

(2) T W S gROT e H
afs

(3) TG P AHWEET d¢ AN &

(4) SIS i h 75T |
FEAT

el fasafaemad & T9T
oy :

(1) HHAT

(2) == g=H

(3) =T
(4) U

¥ pIIERT I TiAtaeEt & SEEeT
FE & @ H HF FHar gl H
BT g 7

(1) Rieemt

EEAEEIRESS]

(3) H=H

(4) wifs

gEReT UgWeT & BH &9 Uk

b & ?

(1) S HR B AN &R

(2) @Al | Hio Uqo Silo ke &
TIRT T

(3) Ui BRI b TANT ST

(4) IURTRT |+l

P.T.O.
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A

121.

122,

123.

124.

Which of the following statement is

correct regarding carbon farming ?

(1) Involves -cultivation of crop
after clearing/burning forest
till its looses fertility and
provide revenue to farmers.

(2) Helps the crop to retain soil
health,
infiltration into water bodies,
increases  biodiversity and

revenue to farmers.

reduces chemaical

(3) Animal raising practices with
lot of Chemicals in the fields
and fumes earn more revenue.

(4) Small scale farming with old

and traditional cropping

methods with low production.

The difference between two whole
number i1s 66. The ratio of the two
numbers is 2 : 5. The two numbers
are :

(1) 60 and 6

(2) 100 and 33

(3) 110 and 44

(4) 99 and 33

In Medieval India the department of
Diwan-e-wizarat was related to :

(1) Abroad (2) Religion

(3) Revenue (4) Military

In the Vedic period, there was a
bigger institution than the village ?
(1) Kula (2) Vish

(3) Jan (4) Sabha
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121.

122.

123.

124.

FrEE H QA B TR T OH

HT-9T HA T g ?

(1) a& Q@ SEad S @&
PIEH /STATBY dh HXH b
e HOd IME Sl 8 S
dH a8 STFSUSe 9 8l AT
JAT I8 [hEEi Bl A /TS
A 2

(2) TEdl & ABd/IYSTHIA bl
g HX HEA ol o q™T
It REE & S| dat
¥ u s ¥, g fafgear
B Forr & S fHaEt &
o FErl B

(3) Uy IEA W faEr/wem @
Ferar 41, ©dl § IEET R
TANT STaE fREE S STl
™ B

(4) BIZ WT 9T YT Thelh a
A s O S w1
3T Bl B |

& gl HEmredl @ SR 66 ©
AR TH AFA 2 : 5 B, A
& ®

(1) 60 2% 6
(2) 100 X 33
(3) 110 3TX 44
(4) 99 3T 33
HETpRI 9Rd H daM-u-fgemd
fIorT T o

(1) fagar (2) gH°

(3) T (4) A=

afes g H um 4 FEr HeEn
2y oy ?
(1) B
(3) =1

(2) fasr
(4) 9«1
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125. Identify the diagrams given below
and select the relevant option :

(1) Uterus and Fertilization
(2) Embryo and Zygote
(3) Uterus and Embryo
(4) Fertilisation and Zygote

126. Name the given microorganism

and group to which it belongs.

(1) Spirogyra , Algae
(2) Rhizopus, Fungi
(3) Penicillium, Fungi

(4) Chlamydomonas, Algae

127. Spreading the powder on carrom

board will
(1) increase

............ friction.
(2) decrease

(3) friction don’t change

(4) none of the above

128. If each side of an equilateral
triangle is doubled, then its area
becomes how many times ?

(1) 2 2) 3

3) 4 (4) 8

NMMS-NOV-2022

126.

127.

128.

(1) T SNX HuEe
(2) IOT X FFHAA
(3) AT 3T HoOI

(4) FY=E iR g

S i

2 ST 2

(4) IUUFT § 9 Hig ALl

i uh THdg Bygst & gl
YSTSAT sl T Y f&dr =, o
ZOh &% s IAT S ?
(1) 2 @ 3

3) 4 4) 8

P.T.O.
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129.

130.

131.

132.

133.

The
system 1s :

(1) Venus (2) Mercury

(3) Earth (4) Saturn

A plastic used for making floor
tiles, kitchenware and fabric
which resist fire is .............. .

smallest planet of solar

(1) Bakelite
(3) Polythene

(2) PVC
(4) Melamine

The value of /(-1).4/(-1) 1is:
(1) -1 (2) +1
(3) £2 4) 0

Which of the following is the value
of 0.1 x51.7?

(1) 517 (2) 51.7

(3) 0.517 (4) 5.17

Which of the principle given in the
options 1s represented from the
given figure more appropriately ?

(1) Atmospheric pressure is the
force of gravity on air in a
column of unit area.

(2) A liquid exerts pressure on the

walls of the container.

Liquid exerts equal pressure

on the walls of the container at

the same depth.

The pressure exerted by water

at the bottom of a container

depends on the height of the
column.

3)

(4)
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129.

130.

131.

132.

133.

GR qfE &1 Jgaq 7E B

(2) 9=

(4) =
B B RS, @R B
A AR HIT W B U
S RAT S Il U ©lReeh
2 S STRT ohl U &l 2 |

1)
(3) geit

............

(1) SpaEe (2) dlo dio dlo
(3) difereli= (4) AAHEZA
JE A1) # = ER

(1) -1 2) +1

(3) +2 4) 0

0.1x51.7 &I I BFM :

(1) 517 (2) 51.7

(3) 0.517 (4) 5.17

e o o faeeedi § Ru g

?‘H fosia &1 Sfaa =0 9 guiar
?

(1) 3HE &FhA & dPEEd X
SHEECISIINCICEESEEI P U ES B
TG H TAEAL B |

(2) &g a9 H @RI UX G
AT & |

(3) &g SA9 H A 9T THM
TEE U HH SE ST |

(4) FPEl SO H Aol 9X gl

ERIRUNESHIE IS | IS I |
Ol W B BER W
R e 21
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134.

135.

136.

137.

Suppose A is a digit, find the value
of Aif 31A + 1A3=501:

1) 8
(3) 6

@) 2
4) 4

heat.” This

principle can be proved by which

‘Friction produces

of the following activities ?

(1) Heat is produced when hands
are rubbed together.

(2) Rubbing the match sticks on

the rough end of the match box

causes it to burn.

(3) On running the electric mixer

for a few minutes, its jar
becomes hot.

(4) All of the above activities can
prove the principle of ‘friction

produces heat.’

The cube of 1 —%is :

1 1

M 1-5 @ 1-5-
8 8
T T

Correct value of 13.572 to the
tenth place is :
(1) 10

(3) 13.67

(2) 14.5
(4) 13.6
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134.

135.

136.

137.

A

O difoie 6 A Tk 3% 8,

31A + 1A3 = 501 H A 1 #4
BN :

(1) 8 (2) 2

(3) 6 4) 4

‘qyur ¥ ST I el 2 9

ESE=US G M i s M BCS B C o1 M E 2| £ |

% A = e ST & © 7

(1) 1&FqF H AU H WA W
ST IO~ el |

(2) T @ dielt @ " B
gex Y o Wed ¥ 9 o
IJodl B

(3) fagd M @l f e O
TA™ 9¥ IR AR T8
ST 2

(4) I9gwF Gl FRATRATl &I
‘q¥or F ST 3@ Bl 8
fasia &l Ra=s FRar ST ehan
=

1—%EH¥FT§WTI

1 1

M 1-5 @ 1-5-
8 8
T T

LMY TIE Tk 13.572 /1 el
a2
(1) 10

(3) 13.67

(2) 14.5
4) 13.6

P.T.O.
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138.

139.

140.

141.

142.

143.

The factors of xyz are :
(1) x

@)y

(3) z

(4) All of the above

Loudness is determined by the
.............. of vibration.

(1) Amplitude

(2) Noise

(3) Frequency

(4) Wave

Minimum possible interior angle
in a regular polygon is :

(1) 70° (2) 60°

(3) 90° (4) 120°

The thyroxine production requires
the presence of
necessary to develop tadpoles into
adults.

(1) Copper
(3) Iron

in water

(2) Iodine
(4) Sodium

What is the circle which connects
all the vertices of a polygon called ?
(1) Semi-circle

(2) In circle

(3) Outer circle

(4) Circum circle

100° + 20° + 5° 1s equal to :
1) 125 (2) 25
(3) 1/125 4) 3
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138.

139.

140.

141.

142.

143.

(1) 70°
(3) 90°

(2) 60°
(4) 120°
SSU I gI%h Hed H faeraa
P H [T SAEFH AR

% IAET B [0 g1 H
Fr SuRafg &I STaIesar skl 2 |

(1) afam (2) smaEE
(3) wret (4) wifeam

SH g W T HEIl S dgYST b
a1 B @ Sisar @ 7
(1) erdg

(2) sT=<r:gd

(3) ==& g

(4) g

100° + 20° + 5° B[ A & :

(1) 125 (2) 25
(3) 1/125 4) 3
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144.

145.

146.

147.

The cost of 7 Kg of potatoes is
Rs. 42. How many Kgs of potatoes
can be purchased for 96 Rupees ?

(1) 10 Kg (2) 12 Kg
3) 15 Kg (4) 16 Kg

The base of a prism is :
(1) Circle

(2) Triangle

(3) Square

(4) Any Shape

Eikansh has
coins, one five rupees coin and two
what

combination should the boy select

two, two rupees

ten rupees coins. In

three coins so the amount 1is
maximum ?

(1) Two five rupees and one ten
rupees coins

(2) Three ten rupees and one five
rupees coins

(3) Four two rupees and one ten
rupees coins

(4)

Two ten rupees and one five

rupees coins

What is the volume of the cuboid
of length 8 xy, breadth 3 xy and
height xy ?
(1) 24 xy2
(3) 24 x3y2

(2) 24 x2y
(4) 24 x3y3
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144.

145.

146.

147.

A

7 Kg I &l HiHd 42 B9 B
96 TUY H fohae Kg g T4 ?

(1) 10 Kg
3) 15 Kg

(2) 12 Kg
(4) 16 Kg

g &1 TR BT B

(1 g

RECE]

3) =i

(4) 1 4 sTpfa

THT H U™E &, A B B

foo®, wh dag @O @ ferEsr

AN [ T v B fgwEs T

THIT H A HOsH H A

Pl 1 II9 HIAT AT dlich

AT AR ar ?

(1) & 9= $9F X UH =9 FIA
CANESEET)

2 99 =9 s X TH U=
Y B [IeRpT

(3) I & YUY X UTH &9 v
CANESEET)

(4) T =TT B I TH Ui B
CANESEET)

9 gFAM H AEAH Rl BN
S T 8xy, iﬁ%‘l’é 3xy 3T
SIS xy & 7
(1) 24 xy?
(3) 24 x3y2

(2) 24 x2y
(4) 24 x3y3

P.T.O.
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148.

149.

150.

151.

152.

If the weight of 12 sheets of thick
paper is 40 gms, how many sheets
of the same paper would weigh
2500 grams ?

(1) 750 (2) 800

(3) 850 (4) 950

The point (-5, 2) is nearest to :
(1) x-axis

(2) y-axis

(3) origin

(4) equidistant from x-axis and
y-axis
What should be subtracted from
2
—£ toget—17?
3 g

1 1
(1) 3 2) ~3
2 2
3) 3 4) ~5

What do you mean by FIR ?

(1) First Information Report

(2) First Information Commission
(3) First Knowledge Commission
(4) All of the above

Which of the following is correct
about “Ramsar Sites” ?

(1) Bhindawas Wildlife Sanctuary
and Sultanpur National Park
Thol Lake Wildlife Sanctuary
and Vadhvana Wetland
Bhindawas Wildlife Sanctuary
and Vadhvana Wetland
Sultanpur National Park and
Thol Lake Wildlife Sanctuary

@)
3)

(4)
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148.

149.

150.

151.

152.

g Hie HETST &l 12 i &
aor 40 O™ 2, ar fha-in sfie &r
ao= 2500 T BRI ?

(1) 750 (2) 800
(3) 850 (4) 950
frg (-5,2) ®0a B -
(1) x-37&7

(2) y-3181

(3) =

(4) x T y-3T7 § IO X

—%ﬁﬁwwﬁﬁs—lw
=1

1 1
M £ @ -+
2 2
® 2 @ -2

Tho &Eo 3MRo (FIR) A 379
FT TS B 7

(1) w=&rd gaer Rard

(2) 9&H AT SA™RT

(3) IIH I SAANT

(4) IURT THI

frrefeRaa & P9-a1 SOX @& e ?

(1) [HeEE gsia I9aRe 9
YEAgT TEE A

(2) O A FSIg AIARTT
AT G

(3) M@ g=sig TR 49
AT =

(4) Gea™gR TT IgqM 9 o
A gOeia THARY
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153.

154.

155.

156.

157.

In which Buddhist Text
Mahajanapadas are given ?

(1) Bhagwati Sutra
(2) Upanishad
(3) Angutar Nikay
(4) Mulachar

16

Which of the following is a water
related disease ?

(1) Eye Flu
(2) Cholera
(3) Malaria
(4) Plague

What was the Provinces called in
the Chola Administration ?

(1) Province
(2) Country
(3) Nation

(4) Mandal

In which year the law against
Child Labour was implemented ?

(1) 2001
(2) 2003
(3) 2005
(4) 2006

Which of the following is a private
sector industry ?

(1) Hindustan Aeronautics Ltd.
(2) Tata Iron & Steel Industries
(3) Steel Authority of India

(4) National  Thermal
Corporation

Power
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153.

154.

155.

156.

157.

A

g S 71 H 16 HesHusl &
forazor fear & ?

(1) et g

(2) U9

(3) AR epr T

(4) =R

Feffaa & @ f9-dr =
g & Hefag ® 7

(1) SE-Y

(2) BT

(3) AW

(4) T

A TATEA H Y=l Bl kel ATl
o ?

(1) 9=

(2) B

(3) e

(4) HIST

I o9H B Raas Afataw e
g9 @ R =T P

(1) 2001

(2) 2003

(3) 2005

(4) 2006

=1 & & @9-a1, et &3 @0
IENT ' ?

(1) FgEm wiHfesd faffds
(2) TTET STERA Toe A IENT
(3) I AR S e

(4) T A faegga e

P.T.O.
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A

158.

159.

160.

Match the following as per their
relation with the following phrases :

(A) Terrace (1) Protection from

farming soil waste
(B) Inter - (11) Reducing
cropping surface run-off
(C) Contour (i11) Prevention  of
ploughing water flowing

down from slope
(D) Shelter belts (iv) Prevent gullies
(E) Mulching (v) Checking wind
movement
(F) Rock dams (vi) Retaining
moisture from
soil
(1) AQ@), B(v), Cai), DGi1), EGv), F(v1)
(2) AQ@y, B@), Cav), D(v), EGi1), F(vi)
(3) A@Gy, B@), Cair), D(v), E(vi), Fav)
(4) A(®), B(w), C), DGi1), EGv), F()

When did the Constitution of India

come into force ?

(1) 15 August, 1947
(2) 26 November, 1949
(3) 26 January, 1950
(4) 9 December, 1950

In the Rayatwari system the rayat

was called :
(1) Farmer
(2) Labour
(3) Zamindar
(4) Jagirdar
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158.

159.

freififed ammisi & @ S b
G & STFAR T B e B

@) g @) Fed & e
el Jerlt o =
(B) Sfd¥ ®aw (i) Ode q UdE

T HH HEAT
(C) =g Jars (il) ST H A=
T | I
(D) &M 9l (iv) AITEr @Bl AT
(E) qaam (v) B & T
eI
F) b arg (vi) TEET B TH
AT AT

(1) AQ@, B(v), C@), D), EGv), F(v1)
(2) A@), B@), C@v), D(v), E@Gii), F(vi)
(3) A@), B@), C@i1), D(v), E(v1), F@v)
(4) A(v), B(vi), C(1), D@ii), EGv), F@)

ARAE  G@fag o AR e
T 7

(1) 15 ST, 1947

(2) 26 =L, 1949

(3) 26 SEA, 1950

(4) 9 TR, 1950

160. TdaTS! FIAT § Id Hel Sdam

o :
(1) Fram™ &
(2) ASTEY <l
(3) STHiEX @
(4) SFTRER
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161.

162.

163.

164.

Match  the  following
sanctuary with correct
animal given below :
Animal/Bird Place/National
park/Sanctuary
(1 Kaziranga

park/
bird/

(A) Elephant

(B) Tiger (1) Periyar
(C) Lion (111) Dudhwa
(D) Rhino (iv) Gir

(1) A@), B(i), Cii), Dv)
(2) Adii), BG), C(iv), D(i)
(3) A(i), B(ii), C(iv), D()
(4) A(@iv), B(i), C(ii), D()

Which of the article of Indian
Constitution is related to abolition
of untouchability ?

(1) Article 17 (2) Article 18
(3) Article 15 (4) Article 16

What is the process in which minerals
lying near the surface are dug ?

(1) Drilling

(2) Off — Shore drilling

(3) Quarrying

(4) Extraction

Topography means :

(1) The physical characteristics of
an area of land especially the
position of its rivers, mountain
etc.

(2) Description of land, air and

celestial bodies

(3) Description of air of an area,

mountains and celestial bodies

Description  of

oceans, rivers of an area

(4)

mountain,
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A

=1 ag/aferEi @ ST STHARTY
DI /AL SIS N S

qg/qeft M /T
S /SAHARY
(A) =1t (i) IS
(B) e (i) 9RIR
(C) I (iii) geram
(D) T G aren (v) PR
et

(1) AQ), B(@i), C(iii), D(iv)

(2) A(ii), B@), C(iv), D(ii)

(3) A(i), B(ii), C@iv), D@)

(4) A@v), B(@i), C(ii), D@)

g dfaems #r #e-ar
YDV TG (Y)Y
U B 9 dafad g °?

(1) eTg=sT 17 (2) Tg=e 18
(3) oTJ=B= 15 (4) 3TI=8= 16
Ie H-d Utk ® Sed 9ag &
I 92 @it %l @aT Siar 8 °
(1) T/ FAET/A89T

(2) AT JquT

(3) IETH

(4) Fr=pyor

SO T et ©

(1) FpEl 9 & &= & Ui
fayame Sfe=t, gdar enfe =i
Reerfer, Teretrepicl

(2) q¥, BT g AERIT [USi @
fereroT

(3) TREl &1 HI =TI, ST
el g gdai &1 faaver

(4) R8T &= & uedi, yal, A
CANCCER]

P.T.O.
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165.

166.

167.

168.

169.

170.

Which American Company 1is
responsible for the Bhopal Gas
Tragedy ?

(1) Ford

(2) Pepsi

(3) Wipro

(4) Union Carbide

Who is the Chairman of Rajya
Sabha ?

(1) Prime Minister of India
(2) President of India

(3) Vice-President of India
(4) Finance Minister of India

Who introduced the rule of law in
India ?

(1) Mahatma Gandhi

(2) Mughals

(3) British Colonialists

(4) Hindu Kings

For which river the word 'Indus'
was used in India ?

(1) Ravi (2) Ghaggar
(3) Sindhu (4) Satluj
Low lying areas are very

susceptive to ............. .

(1) Landslides (2) Flooding
(3) Earthquakes (4) Tsunami

Who is
Sikhism ?
(1) Guru Har Ray

(2) Guru Har Kishan
(3) Guru Teg Bahadur
(4) Guru Hargovind

called Bal Guru 1in
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165.

166.

167.

168.

169.

170.

HT-G1 AR HUAI NI T
IEE & T SOeErE ' 7

(1) ®rE
(2) gl
(3) fermm
(4) IFET FHEiES

ToOaHT &I G i 8T 8 °?

(1) 9IRT &1 gEIHHAT
(2) RS BT TsgafT
(8) RS B IJU-sfe
(4) AR T fa =301
ARG H HET B
&I fhas & 7
(1) HareHT e

(2) 7Tt

(3) Tarfesr Iuf-rash

(4) &g T

e | 9dRG H R T8 B
T ogerT fopam T B 7

AT i

(1) et (2) ==X

(3) Ty (4) AagsT

e A e & ufa
3T Haeasha 8ia |

(1) qrae+ (2) 918

(3) P (4) g

g o1 H T s fRa e
S 8 7

(1) T5 3 A

(2) T& EXHH

(3) T& ATABIGY
(4) T& BCNE=
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171.

172.

173.

174.

What 1s the retirement age of
Supreme Court Judges in India ?

(1) 58 Years
(2) 60 Years
(3) 62 Years
(4) 65 Years

From which mineral silicon 1is
obtained out of the following ?

(1) Coal

(2) Bauxite

(3) Thorium

(4) Quartz
Match the following List-I to II :
List-I List-IT
(A) Land use (i) Prevent soil
erosions

(B) Humus (11) Land suitable
for agriculture

(C) Rock dams (ii1) Production use

of land

(D) Arable land (iv) Organic matter
deposited  on
top soil

(1) A@), B(i), C(ii), Dv)
(2) Adii), B(iv), C@), D(i)
(3) A(iv), B(ii), CGi), D()
(4) A(i), B(i), C@iv), D(ii)

In which district of Haryana
Rakhigarhi is located ?

(1) Fatehabad

(2) Hisar

(3) Bhiwani

(4) Sirsa
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171.

172.

173.

174.

A

IR H Hdaed OEed &
I fhel STg U Qerigd
g ¥ 7
(1) 58 a9
(2) 60 IY
(3) 62 a9
(4) 65 99

M= # @ e g 9 M
g BT & 7

(1) =prET
(2) SIFATSS
(3) ==
(4) oIt e
-1 1 I § FAafer Hifig
-1 g-11
Q) 9-39GrT () FEd & FweE
T AHAT
(B) eROT/@E (i) FHT UG
free qH
(C) Ts% =iy (iii) 9 T Ifera/
IdEH ST
D) FW IFT (iv) FEEH  TET
9 BT STHIE

(1) A@), B(i), Cii), Dv)
(2) Adii), B(iv), C@), D(i)
(3) A(iv), B(ii), C@i), D()
(4) A(i), B(i), C@iv), D(ii)

TErTEl s H fea B H
feerg B 7
(1) waeER
) BESIES
G REEIRI
(4) ™=

P.T.O.
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175.

176.

177.

178.

179.

180.

The force applied on a body :
(1) May change its shape.

(2) May change the velocity of
moving object.

(3) Only (1) is true.
(4) Both (1) and (2) are true.

What was the ritual performed in
Ancient times before attaining
education ?

(2) Gharbh

(4) Gurukul

(1) Upnayan
(3) Jatak

Out of the following which
industry i1s secondary activity ?

(1) Tourism
(2) Fishing
(3) Agriculture
(4) Coal mining

Which crop is referred as “green
gold” among the following ?

(1) Coconut
(3) Tea

(2) Sugarcane
(4) Coffee

Who 1is responsible for sanitary
conditions in the country ?

(1) Health Minister
(2) Home Minister
(3) Finance Minister
(4) Chief Minister

Who implemented the free trade
policy in India ?
(1) France
(3) Japan

(2) Germany
(4) Britain

(46)

175.

176.

177.

178.

179.

180.

fepdl &g 9 S arelr o

(1) a&g @& ARl J aRad=r
Tepal B |

(2) TN a%g & O H uRedd
AT Tehal B |

(3) Fad (1) IF 2|

(4) IR (1) TAT (2) AT T B

U i § e uia 9 98
fRaT ST aTaT 9%hIX o7 -

2) T
(4) THHA

= & 9 s9-a1 SE fadEes
afafr g ?

(1) gded IR

(2) AT U

(3) B

(4) HIAT @A I

M wadl § 9 9 wad &t
T Mes’ Hel ST & 7
(1) =g (2) =T
(3) =™ (4) HIHr

(1) I9TIH
(3) Sk

a9 I Tresdl Gl & o=
P TG & ?

(1) @ =53l

(2) T& =

GRESLE]

(4) geFHsI

P AR I Bl AT H AR
fpar or 7
(1) ®HE A
(3) S A

(2) SHAT A
ORECSE
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6.

10.

11.

12.

13.

14.

15.

16.
17.

18.

usHl % IO, IIX =k H i @ il
wwﬁ?ﬁgﬂhmaﬂwm%,
= g T R o

O e B o

AW B I ™ SOX G "HEr S, 9
IO A @ B A U 9 9 ©

© ® © @

gie U 9 el @l B WY 2d & Al AR
SAX IIT HIET ST |

B I
Sar 6

. X% HA U gRIE H 3E YA & fag & T

el SFTE 9Y &1 &1 |

.G IO Fad SAC UFH (OMR) WX & 3ffeed

FH | AIT I YD AR HL | IAX T
2g 29d % (F%e FIS) H gAnT Mt B

. g% 999 % foQ Rw w = fomedl | @ S

fgpea & T AT 99% (OMR) X &ad TF &l
gd H YU e H Oid @R 99 F 9 0H
IR I Sfkd X B G IH ST A8 S
T 2 |

srwpefl gfeea Y 6 3@ IO U=eh O Hiel |
ST Qawwﬁémﬁrsmqwm
ARl U SgHHI® IUX Uk H o MEiRd
W & Afaiead o= 9 R[Rid |

gse QRIS Ud IO 9 B eAYaS TANT HY,

iR e o aRRaf § (Faw geT gRawr o

IAX WE B HHIG A fWear Hl R @l

BIghI) ga¢ g7 Grawr 8 3=y &l #arn
/

gs gROH/SOY 9Eeh H [T T A
el Wl ade ¥ elord o= § o |

gt H ghem BA/FA OH O OUAA FE B
AT fopdl U sl 91gg amEl, giEda
EXAfeiad  hRTST i GfeET, ﬁa’{ Az B,
FAFSIh SIHLT I7 hAT ST WX hl A

H A S AT I FIA H AGART S 2 |

ISRUSET-ARY M U U STell ofuAr
T (T o) famamd |

o= Adierh a1 e ® [@AT g @ faer
FIE Tt STIAT W T BIE |

SAFS(~1eh /EETATAT Uiehaleh I SUANT afoid 2 |

fopel Bla H ued gRAeHl AR SAX U5 H Fis
ART ST T |

e " BN R, Sl qdiem et /et
8lgd 9 Yd SR YN HE-UIAEh bl AT
Fﬁtr%ganzreﬁamﬁwaqﬁg%waﬁém
qhd T |

6.

10.

11.

12,

13.

14.

15.

16.
17.

18.

Answers to questions in answer sheet are to be
given by darkening complete circle using black ball
point pen as shown below :

O e O o

The answer will be treated wrong, if it is marked, as given

below :
v ® © @

If you fill more than one circle it will be treated as a
Wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed
to be changed.

The candidate should ensure that the Answer Sheet is
not folded. Do not make any stray mark on Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of
Test Booklet will not be provided.

The candidate will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.

Candidate is not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic/Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, candidate must hand over the
Answer Sheet to the Invigilator in the Room/Hall. The
candidate is allowed to take away this Test Booklet with
them.
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SET:B

gehoie I U
3TouHo3TRo HHH
CRETIET <8:|3|%| ﬁ) : Booklet Serial No. &
Roll No. (In Figures) O. M. R. Serial No.
AT (r=al H)
Roll No. (In Words)
qOeT &HF Bl A -
Name of Examination Centre
Tegelt T A et B TEER -

Name of Candidate Signature of the Candidate

59 T97-giaesr 4 geal @l a&qr 48 g7l F TdEr 180 aTT

No. of Pages in this Question Booklet No. of Questions Time

3 hours

et P SEATEIT /Signature of the Invigilator :

oreeff @) 10 e &1 G597 g gRasr gT 89 RN # ge7, g9 gEae J Ry 7¢ gof & diRga 797 9% F77 a9 SRT 937 P g
Rar a1 af gev-97 gwae F go  diRGT T Ta7 89 & @ g = ordfers @ [Ma5T FWH G9F 9 JHAE Jad & | GO G
&I % geErg FE Frar @R TE AT T §7 10 Fret # sifaR¥, gel # Iav 87 7 Sifka #T % R Q3 392 # gwa Rar s

STRIFRNET % forg Fder
1. IR =% (OMR) 39 999 YRR & 3= &l

INSTRUCTIONS FOR THE CANDIDATES :

1. The OMR Answer Sheet is inside this Test Booklet.

2| S SRl U9 YRAeRT Fie @ el S, o
IAX U R Y A A had Fwi i @R
U9 9 faEyer «% |

. 9eT W rEi 3§28 & ud usd g F 180 UsT
2| Uk UT TH b B B FIF FURHE BT
T&T &1

.30 U T {qEROT Sifehd Hid Ud IO U WX
M9 & % [T A il S @ige U9
TR &Y | T UeA-gRGHT H ITART FHA oA
T U W WX H AEeEl 9Xd | §@d J9F
gieer @< garT T8 1 S

. T8 o gRfea & & & gs9 gRaew wHiw oA
ST 95E HHG UH B &1 TR FE F= B a@r
Al gAY gA-gRAHE AR I I=E A &
e [ieteh bl gi ST i |

. g8 gdem @ 9 7 8 -
ART-1 : NieH AT geor
AFT-I1 : e qrgar qh&er (9. 91 & T, 180)

(m. 1.8/ = 90)

When you are directed to open the Test Booklet, take out
the Answer Sheet and fill the particulars carefully with

black ball point pen only.

. The test is of three hours duration and consists of

180 questions. Each question carries one mark. There is no
negative marking.

. Use Black Ball Point Pen only for writing particulars on

this page/marking responses in the Answer Sheet. The
candidate should remain careful in handling the question
paper and in marking the answers on the answer sheet.

Another booklet set will not be given.

. Also ensure that your Test Booklet Serial No. and

Answer Sheet Serial No. are the same. In case of
discrepancy, the candidate should immediately report the
matter to the Invigilator for replacement of both the Test
Booklet and the Answer Sheet.

. This Test has two Parts :

Part-1 : Mental Ability Test (MAT) (Q.1t0 Q. 90)

Part-II : Scholastic Aptitude Test (SAT) (Q. 91 to Q. 180)

q?a.-ggma?amﬁﬁvws?vﬁé‘sﬁ#
Z1

Note : Read other remaining instructions given on the

last page of this Booklet.
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(3)

PART - I (|- 1)
MENTAL ABILITY TEST

ifser AvIar ghemr

Questions : 1 to 90

Direction : (Question No. 1 to 5)

125 Cubes of side 2 cm are put together
to form a bigger cube. After this each
surface of the big cube is painted red.
After colouring all the small cubes are
separated. On this basis answer the

following questions.

1. What will be the length of each
side of the larger cube formed

after all the smaller cubes are put

together ?
(1) 8 cm (2) 4cm
(3) 6cm (4) 10cm

2. How many such small cubes will
be there which will have red colour

on only two surfaces ?
(1) 24 (2) 8
(3) 36 4) 12

3. How many such small cubes will
be there which will have red colour

on only three surfaces ?
1) 12 ) 24
3) 54 (4) 8

NMMS-NOV-2022

Time : 12 Hours

fEer - (U7 d=ar1 9 5)

2 GHI. Yol i 125 =91 | TH-A1
LhY Ush &ST YA I \J'IICII%I'QH‘:{')
e g2 g9 Hl AP dde U A T
fFar Srar B T B B S| 9l Ble
g1 B STAT — ST Y &A1 ST B |
29 MUY WX MEfaRad 9|l & 3SaX
ST |

1. 9] 8¢ =99 Hl TH-9re T &
e F9 g8 "9l Ucdeh ol
(FPAR) &1 @w=rs I 8fl 7

(1) 8 9l
(3) 6 9=

(2) 4 Q4r
(4) 10 9+

2. U9 fhad ®BIC =9 B8 N9h
Had a gde 9¢ AT BT B8R 7

(1) 24
(3) 36

2) 8
(4) 12

3. U9 fhad ®IC =9 BN 9
dad 9 Gdel 98 di 3T
2R ?
(1) 12
3) 54

(2) 24
4) 8

P.T.O.
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How many such small cubes will
be there which will not have red

colour on any of its surfaces ?

(1) 27 (2) 36

(3) 24 4) 25

How many such small cubes will
be there which will have red colour

on only one surface ?
(1) 36 (2) 54

(3) 16 (4) 48

If a person was born on last day of
February in 1980, then how many
birthdays will be celebrated till
November 2022 ?

(1) 42
(3) 10

(2) 41
4) 11

At what time will the hands of the
clock be in a straight line between
8 : 00 and 9 : 00 but not coincide ?

1 8: 1%
11

@ 8: 102
11

3) 8:16-+
11

@ 8: 122
11

NMMS-NOV-2022

(4)

09 fha ®ie g9 8 e
pdl ol 9de 99X dT T el
2R ?

(1) 27 (2) 36

(3) 24 4) 25

g fhad ®BlC 9 BN s
I T dde U T BT BN 7

(1) 36 (2) 54

(3) 16 (4) 48

gfe fhal =i &1 ST 1980 &
®HXE WA & Sifed & ger,

darEY 2022 9% g8 fhaw
ST HATEI 7

(1) 42 (2) 41

(3) 10 (4) 11

8 X 9 &1 & o fopd THT =SI
H A gRAl uw Al Y@ o
BN g @Il el ?

1 8: 12
11

@ 8: 102
11

3) 8:16-+
11

@ 8: 122
11
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Direction : (Question No. 8 and 9)

Study carefully the given series and

Answer the following questions.

4WP#K38% &5QGS1$UNI25@«68

8. How many such numbers are there
in the given above series each of
which is immediately followed by a

letter and immediately preceded by

a symbol ?
11 (2) 0
3) 2 4) 3

9. How many such symbols are there
in the given above series each of
which is immediately followed by a
letter and immediately preceded

by a number.
(1) 2 2) 3
3) 1 (4) 4
10. A couple has 5 married sons, each
of whom has three children. How

many total members are there in

this family ?
(1) 25 (2) 26
3) 27 (4) 12

NMMS-NOV-2022

(5)

st ¢ (I dem 8 wd 9)

F=fdfad SEem 1 eamyes AT
F AR A R{RE T4 gsq & I 2 |
AWP#K38% &5QGS1$UNI25@68

8. & & SUPH e H UM
g dE T ST iR gRA ued

T Ueiieh T B 7
1 1 2 0
(3) 2 4) 3

9. & TS IugH HEar d UH R
ucies 8 fSH Ueeh % JRA 9
ThH X B AN JId dBd TH

e § 7
1) 2 @) 3
3) 1 4) 4

10. Feel Tl & 5 famed g ¥
e 8 @%@ de-dE =
g1 39 URaR H FHA Frad @el
g7
1) 25 2) 26
(3) 27 (4) 12

P.T.O.
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Direction : (Question No. 11 and 12)

The three different position of a dice are
given below. Select the suitable answer
to the following questions.

A 1 «ZC 1 B ~

ef [0 [F)

11. Which letter is on the surface
opposite to D ?

(1) A 2 B
(3 E 4 F
12. Which letter is on the surface
opposite to F ?
(1) B 2 D
3) E 4) C

Direction : (Question No. 13 to 16)

The answers to the following questions

are based on the diagram given below :

A
E «STEqH
FAER (Teacher)
-
(Artist) D G | F
c « 3=
B (Scientist)

13. Teachers who are not scientists
but artists are represented by
which letters ?

(1) D
3) E

NMMS-NOV-2022

@) F
4) A

(6)

fEwr ¢ (997 de=r 11w 12)

THh U™ B AN STAT-Ta R =
S Mg 2 FeEeiad 9l & SugEd
SO &I FIAT B

F

11. D & fOuid dds 9X HH-A1

X T ?
1 A 2 B
3 E 4 F
12. F & fAudaq @ae 49X s=-4r
FET T 7
(1) B ) D
3 E 4 C

freer : (J97 9@ 13 | 16)

F=fefRaa g & S¢S Ru To
STRY 9T ATRa & -

A
E 3T Yh
o (Teacher)
(Artist) D G | F
c « =i
B | (Scientist)

13. ¥ HUEH S Jeiies A8l g,
=] HATHR &, [hd AR IR

gafsa fepu @ B 7
(1) D 2 F
3) E 4) A
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14. Scientists who are teachers and
artists are represented by which

letters ?
1) E 2 G
3) C 4) F

15. Artists who are scientists but not
teachers are represented by which

letter ?
(1) B 2 D
3) F 4) C
16. Scientists  who are neither
teachers nor artists are
represented by which letter ?
1) B 2) F
3) D 4) C

Direction : (Question No. 17 to 20)

There are given seven logical diagrams
(a, b, ¢, d, e, f and g). Select one which
best illustrates the relationship among
three classes in each of the following
questions.

©e) @ @O
& ©0 *F

g

17. Mustard, Wheat, Potato.

(1) e 2 g
3) b 4) c

NMMS-NOV-2022

(7)

14.

15.

16.

CEEE 1S C AR | S E2) s ol Y
AR &, hd ST T UsiRia
fpo M@ 2 7

1) E 2) G
3) C 4) F

J FABR ST GEE B IR
37Uk A8l &, Fhe SR &I

gafsta fopu @ B 7
(1) B 2) D
3) F 4 C

I Jenvee S A A1 STEHUsh @
M T & FHAR B, Fa o1ew
a7 eieig fpu @ ¥ ?

1) B @) F
(3) D 4) C

freer : (J97 g 17 | 20)

ad d® G99 =T (a, b, ¢, d, e, f X g)
few u ¥ efoRed § 9 u@s gsq
7 a9 i & g d§Ed 909 arar
g4I g |

86 @ me
@@O <

g

17. @4, g, o7 |

(1) e @) g
3) b 4) c

P.T.O.
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18. Boy, Student, Player.

Q) f @) c
3 g (4) e
19. Brinjal, Food, Vegetables.
1) b @) e
(3) a 4 g
20. Thief, Judge, Criminal.
(1 f 2) b
3) g 4) d

Direction : (Question No. 21 to 24)

In the following questions there are
followed by
Choose the conclusion(s) which must
the

statements conclusions.

logically follow  from given

statements.

(1) If only conclusion I follows.

(2) If only conclusion II follows.

(3) Neither conclusion I nor II follows.

(4) Both conclusion I and II follows.

21. Statements: Some teachers are

players.
All

doctors.

Players are

Conclusions: I Some doctors

are teachers.

II Some
are players.

doctors

NMMS-NOV-2022

(8)

18. =1, faamell, RaarEt|

1 f 2 c

3 g 4) e
19. ™, @I, desil |

(1) b 2 e

3) a 4 g
20. AT, o1, STAET |

(1 f 2 b

3 g 4) d
s (I d@eEmm 21 | 24)

Frfaiad gsal H, &9 % 9 FeRd
g | Fr=py &1 = ® S Ru MU el
q difebs BT A FATAIOT BT |

(1) g Haa F=py 1 AFATOT AT 2 |

(2) A& Wast Fepd 11 STFEReT
=

(3) F ar Fr=pd [ oIk 1 &1 11 SAERT
HIAT B |

4) Frepd 1 ok I a0 oTgEReT &3d
=4

21. HYT : FHP AeAYF Rars! ¢ |
g4l RSl St € |
frepy : 1 B St A= € |

Il %5 SfFex faare! 2|
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22. Statements :

Some jeeps are
buses.
Some Buses are
Cars.
Conclusions: I All buses are
Cars.
II Some Cars are
buses.
23. Statements: All flowers are
vegetables.
All  leaves are
vegetables.

Conclusion: I Some vegetables

are leaves.

II Some vegetables
are flowers.

24. Statements: All animals are
horses.
All  horses are
birds.
Conclusions : I Some birds are
animals.

II All animals are
birds.
Direction : (Question No. 25 to 27)

Read the following information and
answer the questions given below.

(1) P+ Q means P is mother of Q.
(2) P+ Q means P is husband of Q.
(3) P—Q means P is sister of Q.
(4) P xQ means P is son of Q.

25. A—- B x C =D + E, then which of

the following are true ?
(1) A is brother of E

(2) Aissister of E

(3) B1is Husband of C
(4) C is brother of E

NMMS-NOV-2022

(9)

22. HYT : FY NG FH T |
He T4 HR E |
freps (1 91 9 R B |
II %5 &HR a4 2|
23. HUT : A HI AfesET 2 |
g o qfestr € |
freps : 1 g afesar qafwr 2
Il H& AfsTal B 2 |
24. FHAT : G T AIS T |
g4l =g el 2|
frepe : 1 B 9ell Ser 21
II 9sfl STER el € |
fesr ¢ (U H@E 25 § 27)

FrfaRad STl & 98 Sl -9 f’g
geql & IAX 3 |

(1) P+Q &1 372f 8 P, Q & AT B |
(2) P+Q @1 7 8 P,Q &1 Ui 2 |
B P-Q & 1f B P,Q & = 2|
(4 PxQ &1 31 2 P,Q & I 2 |

25. A—-BxC+D+EZg2, ar Fr=faRaa
79 s9-91 gg e ?
1) A,E& 92 B
(2) A, E=l 989 B
(3) B,Ca& 4fg 21
(4) C,E& 92 |

P.T.O.
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26.

27.

28.

29.

Which of the following relations
show that A is the daughter of D ?
(1) A-BxC+D

2 D+C-AxB

3 A-BxC=+D

4 D+C-BxA

If Ax B+ C + D, then how is B
related to D ?

(1) Mother-in-law

(2) Mother

(3) Husband

(4) Father

The volume of water in a tank
doubles every minute. The tank is
completely filled in 30 minutes. In

how many minutes will the tank
be half full ?

(1) 15 Minutes
(2) 29 Minutes
(3) 20 Minutes
(4) 10 Minutes

If the word “JAIPUR”
written as QZRKFI, then how can
the word “ROHTAK” be written in
that Code ?

(1) LIPGZQ

(3) JKRHZP

can be

(2) ILSGZP
(4) LIGQZO

NMMS-NOV-2022

(10)

26.

27.

28.

29.

fr=fafag & 9 f9-91 999 g8
Toiem B 5 A, D @ g B 7

(1) A-BxC+D

(2 D+C-AxB

(3) A-BxC=+D

(4 D+C-BxA

e AxB+C+D &, a@ B @& D
T T HEY T 7

(1) =g

(2) #Tar

(3) dfer

(4) foar

Weh Tkl b UM B AT TAH
FFe # d98d ¥ &l BRil B
g 30 e H ogol ®W od W)
Sl 21 fpa feel ® S omed
qE P

(1) 15 F=e

(2) 29 e

(3) 20 fH=e

(4) 10 T

gie “JAIPUR” 1= &I QZRKFI
forar Sram B, @ “ROHTAK” 1=
F TEl He H fpA gwER foEn
ST Hehall & °?
(1) LIPGZQ

(3) JKRHZP

(2) ILSGZP
(4) LIGQZO
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Direction (Question No. 30)

In the following question, select from the
figure which satisfies the same condition

of the placement of the dots as in figure
X).

30. M

X)

(1) @ 2) @
3) @ (4) @

31. If + means X, X means —, +~ means

+ and — means +, then find the
value of 288 —16+9x 54 +9:

1) 0 @) 171
(3) 225 4) 117
32. Ifitis 2:20 in the clock, what will

be the time after turning the hours

hand 40 degrees ?
(1) 3:40
(2) 6:20
(3) 3:00

(4) 5:40

NMMS-NOV-2022

(11)

fEwr : (957 dE= 30)
e usT |, g8 Spla g S
feig o= @ IET R Bl s HIr
2 o9& & et (X) # B

30. 7

X)

(1) @ @) @
3) @ (4) @

31. & + 1 37 x, x &H AT —, + &HT
3T + AR — BT 37 +, 7AFT SAC, A
288 — 16 + 9 x 54 + 9 T T
FIoTT -

(1) 0 2) 171

(3) 225 4) 117

32. af 91 7 2 IoTeRx 20 fiFe &T &,
ar S H gS 40° gHA & 9
qHT BT 7

(1) 3:40
(2) 6:20
(3) 3:00

(4) 5: 40

P.T.O.
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33. Varun walks 20 meters in the 33. IS URY H 20 Hiex I fEem
North direction then walks 20 ST & Y 20 Hiex g9 e #
meters in the East direction, then Y 12 Hiex aferor fa=m #, e
12 meters in South direction and 26 Hiex qiygH f&sm # I@he &6
then stops after walking 26 meters ST 21 S, 98 Ui e 9
in the West. In which direction fepg feem # g fepael gl WX g7
and how far is he now from the
starting point ?

(1) 6 meters West (1) 6#HrexX uieaH

(2) 14 meters South-East (2) 14 HrexX o
(3) 10 meters South-East (3) 10 Hiex =feror-gd
(4) 10 meters North-West (4) 10 Hiex IAT-9i=H

34. If “DUCK” is written as @49% and 34. I “DUCK” &I @49% <X
“LIKE” is written as I8%#, then “LIKE” &I 38%# forar oiar g,
how can “ELUDE” be written in I “ELUDE” & =€l %S H f6d
the same code ? e for@r S |t B 7
(1) #83%# (2) @89%# (1) #83%# (2) @89%#

(3) #4@# (4) @T4%a# (3) #4@# (4) @4%a#

35. Qs sister is P, R’s brother is Q, S’s 35, QFH TEeTPE, RFT A2 Q T, S &
son is R, then how P is related 93 R 2, Al P S A | g9y
to S ? g7
(1) Daughter (2) Son (1) g;ﬁ 2 g
(3) Father (4) Mother (3) fOar (4) Hrar

Direction : (Question No. 36 and 37) st : (I e 36 ud 37)

Select a proper group of number / letters fRu @ fOepeal § & =A™ &I

from the given alternative. UF Tl SbE ﬂﬁm Ve Rea &l

H gicd ST b |

36. 123 _2_41_4124_23 36. 123 _2_41_4124_23
(1) 3431 (2) 4313 (1) 3431 (2) 4313
(3) 4331 (4) 4321 (3) 4331 (4) 4321

NMMS-NOV-2022
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37. a_abc_bc_abed _
(1) abde (2) bade
(3) baed (4) abed

Direction : (Question No. 38 to 41)

Read the following information and
answer the questions given below. The
following information compares the age
of A, B, C, D and E. A is older than B, C
is older than B but younger than A. D is

younger than E and B. B is older than E.

38. Who is the youngest ?

1) E 2 A
3) C (4 D
39. Whose age is exactly in the middle
of everyone ?
(1) B 2) A
3) D 4) C
40. Whose age is between B and D ?
(1) A 2) E
3) C (4) None of these
41. Who is the eldest in age ?
(1) C 2) E
3) A 4) B

NMMS-NOV-2022
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37. a_abc_bc_abed _

(1) abde (2) bade

(3) baed (4) abed

feer : (Is7 deEm 38 | 41)

fFrfafaa M @ 9@ el e f'u
T YAl & IR & | T SRR H A,
B, C, D &R E ¥ 3§ & Jo-m &I T
I A, B ¥ 2 81 C, B FT ¢
AT A ¥ ®Bler 51 D, E ik B &
Bler 81 B, E 4 9271 81

g Blel T & °

1) E

38.
2) A

3 C 4) D

el 3 99l & S d9ig H
g7

39.

(1) B 2 A

3) D 4) C
40. FFOa SYBIRDS da & © 7

(1) A 2) E

3 C (4) 9 9 I3 el
41, Y IF H g9 FST B 7

(1) C 2 E

3) A 4) B

P.T.O.
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B (14)
fdsr @ (U d@Em 42 | 44)
Frefafad geq # SOX et (1),
2), 3) AR (@) F & HIA-AT AR
= ofege (Afge) @ g HOT ?

Direction : (Question No. 42 to 44)

In the following questions, which of the
answer figures (1), (2), (3) and (4) will

complete the picture matrix ?

42. / — 42. / —
| 2 D — > D
s | s [
(1) % @ i (1) % @) f
3) % ) % 3 % ) %
43. O 43. O

SI=e

(1)

3)

o> B =

NMMS-NOV-2022
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(4)
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~ B0

(1)

3)

o> B =

@)

(4)

B> P




44 00|00 |(0 O
e R
A |laaalAAn
Lo o o I s I | Q
AA [AAA
L ] 0
?
FiY
o]
M 1A @ |ana
o o0¢C 00
3 4
A A A

45. Which letter will be seventh to the
right of the seventh letter from the
left of the English alphabet ?

(1) N
(2) M
3) G
4) T
Direction : (Question No. 46 to 51)

In each of the following figures number
are written according to some patterns.

One number is missing. Find the

missing number that replace the
question marks (?).

1 4 2 3 2 1
46.

8 27 ?

6 4 8 79 9

(1) 27 (2) 64

(3) 216 (4) 125

NMMS-NOV-2022
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44 00|00 |(0 O
e R
A |laaalAAn
Lo o o I s I | Q
AA [AAA
L ] 0
2
FiY
o]
M 1A @ |ana
o o0¢C 00
(3) (4
A A A

45. AUSH o H AW F oAEd
FEX F TM AET FERX BT
BT 7
(1) N
2 M
3) G
(4) T

fdsr ¢ (F d@em 46 | 51)

d= & S Uk SRR H Uk MiRE
FH AR FHE den el O
TH 9 U de g9 2 e a@en
T L, S U R (7) & WA W)

SUYERT Bl |

1 4 2 3 2 1
46.

8 27 ?

6 4 8 7T 9 9

(1) 27 (2) 64

(3) 216 4) 125

P.T.O.
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47.

48.

49.

50.

NMMS-NOV-2022

1) 7 (2) 10
3) 12 4 9
(1) 8 (2) 4
(3) 30 (4) 60
(1) 13 2) 17
(3) 11 4) 21
4 6 7 7 18
28 74
3 8
(1) 24 (2) 31
(3) 28 (4) 46

(16)

47.

48.

49.

50.

1) 7
3 12

(2) 10
4) 9

1) 8 2) 4
(3) 30 (4) 60
(1) 13 @) 17
3 11 (4) 21
4 6 7 noq
2
3
(1) 24 (2) 31
(3) 28 (4) 46
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51.

12

1) 3
(3) 19

Direction : (Question No. 52 and 53)

In a certain code language

@) 9
(4) 25

(1) ‘tip ja pul’ means ‘tomato is red’
(2) ‘pul sur mat’ means ‘red and green’

(3) ‘mat tip jir means ‘green is tasty’

52. In that language which word is

written for ‘tasty’ ?
(1) mot (2) sur
(3) tip (4) jir

In that language which word is
written for ‘tomato’ ?

(1) ja (2) pul
(3) mot (4) tip

Direction : (Question No. 54 and 55)

53.

In the following number/letters series
find the number/letter which is wrong
according to the series.

54. 17,12, 20, 31, 46, 62

(1) 46
(3) 31
C,E L P, W
(1) E
3) P

55.

NMMS-NOV-2022

(2) 62
4) 12

@) W
) T

(17)

51.

14

(1) 3
3) 19
feer @ (99 demr 52 wd 53)
fepdl iR e Aem |
(1) ‘tip japul’ &T 37 ‘tomato is red’ &
(2) ‘pul sur mat’ T 37 ‘red and green’ &
(3) ‘mat tip jir’ T 37T ‘green is tasty’ &
52. IAT 9T H ‘tasty & fe@ sHi-4r

2 9
(4) 25

o= forEm = B °?
(1) mot (2) sur
(3) tip (4) jir
53. 3G 9T H ‘tomato H g
H-T1 U= for@r T B °?
1) ja (2) pul
(3) mot (4) tip
feer : (9s dear 54w 55)

SIEREUIE RIS P2C - el 1 [ I B 4
/AT S B S HEdAl &
ATIR T 2 |

54. 17,12, 20, 31, 46, 62

(1) 46 2) 62

(3) 31 4) 12
55. C,E,1,P,W

1 E 2) W

(3) P @) 1

P.T.O.
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56. How many triangles are in the
given figure ?

(1) 16
(3) 24

(2) 8
(4) 10

57. Reaching the meeting place 15
minutes before 5 : 00, Asim came
to know that he had arrived 30
minutes before the one who was 50
minutes late. Tell what was the

scheduled time of the meeting ?
(1) 5:15 (2) 4:45
(3) 4:25 (4) 6:05

58. If white is called green, green 1is

called black, black 1s called red
and red is called yellow, then what
1s the colour of blood ?

(1) Red (2) Black
(3) Green (4) Yellow

Direction : (Question No. 59 to 61)

In each of the following questions the
first two words have a common
relationship. Choose one word out of the
given four alternatives, which will
replace the question marks (?), having
same relationship with the third, the
pairs are given as follows.

59. Ammeter : Current : : Odometer : ?
(1) Speed

(2) Earthquakes

(3) Distance

(4) Humidity

NMMS-NOV-2022
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56. <1 TS IATpfa H Brysii @ G

fha=t 8 ?
(1) 16 2) 8
(3) 24 (4) 10

57. 5E|ﬁ@ 15 F e ggd doh ¥«
¥ Uged U, 3THM &l T8 HIgH
g3 % e 50 fFe aX @ oM
Il AR | 30 THe usd ST
T B g add [ 9% @
Maia 999 /=1 o ?
(1) 5:15 (2) 4: 45
(3) 4:25 (4) 6:05

58. & HHaE h B, B8U HI HI,
HIAT HI AT ST AT Bl Giel
Fel ST &, o &S H I
PH-G1 8 ?
ESIK (2) /T
(3) B0 (4) 9

fdsr : (9 d@emm 59 | 61)

FMHRaT Ik U9 H Usd &l R
fopdl 9 fopdl d¥e @ ush-gaX 9 qdiEd

2l Ru W Ix el ¥ 9 us qE
smgﬁsﬁqswazsi%@r() T
q¥ ST Hhal 8 X Y s 9 ae

I Hee 2, Gﬁésﬁwiﬁ%
59. STHICY : [aEgaemry : : SASHET : 7
(1) 7ifa
(2) P9

(3) &
(4) STEar
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(19) B

60. Race : Track :: Cricket : ? 60. XH : 2% :: fhbe ¢ 7
(1) Ground (1) TSe
(2) Stadium (2) wfeay
(3) Pitch 3 T=
(4) Tournament (4) Ej—lﬁ?‘:
61. Negroes : Africa :: Sherpas : ? 61. ST : STORIeRT @ QIXCT @ °?
(1) Japan (1) S
(2) Tibet (2) fasTa
(3) Nepal (3) e
(4) China (4) ==
Direction : (Question No. 62 and 63) fdsr (I | 62 ud 63)

In the following questions, choose a FHeRaa 999 # 9 Oedl § 9 T
figures amongst the four alternatives Sl g, 5T S TRl (X) bl 97
which when placed in question mark (?) e (?> F TE 9T @I AT Yed

space of figure (X) would complete the qa 2l SIa |
pattern.
62. 62.
A ™ A ™
{ N W Xy
™ ™
™ ? ™ ?
(X) (X)
/ v 4 4
m [ @ |47 m [ @ |47
v v
@ 27 @ |7 @ 27 @ |7
/ /
NMMS-NOV-2022 P.T.O.
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63.

(1)

3)

@)

(4)

Direction : (Question No. 64 and 65).

Select the mirror image of the given

figure/word (X).

(1)

3)

64. %? E

AN

—

ZANCIV%

65. MALAYALAM

X) E

(1)
@)
3)
(4)

MALAYALAM
MA_AYA_IAM
VT VAVIVIA

MAI AYAT AM

NMMS-NOV-2022

(20)

63.

(1)

3)

@)

(4)

feer : (9s7 dear 64 T 65)
& e AT/ (X) HI YT Yited

g |

(1)

3)

64. %? E

Y

—

ZANCIV

65. MALAYALAM

X) E

(1)
(2)
(3)
(4)

MALAYALAM
MA_AYA_IAM
VT VAVIVIN

MAIAYATAM
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Direction : (Question No. 66 and 67)

Select the water image of the given
combination of English alphabet and
number.

66. ATM3b

(1) VLIN3P
(2 VIN3P
(3) VIW3P
(4) VIWNEP

67. E8t4e9C
(1) 3I81helD
(2) E81hoRD
(3) 38ira6C
(4) E8i¥eadC

Direction : (Question No. 68 and 69)

The given figure (X) is followed by four
figures (1), (2), (3) and (4), such that (X)
i1s embedded in one of them. Trace out
the correct alternatives.

R,

(X)

(1) @)

3) @ |

NMMS-NOV-2022
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ISCER

(U7 & 66 Td 67)

SIS o oY dEel & fRu Tu

BEISEECARS SEEIRIEE S (i

66.

67.

A1M3b

(1) VLIN3P
(2) VIA3P
(3) VN3P
(4) VIINEP

E8t4e9C
(1) 38thsD
(2) E81hoRD
(3) 38irab6C
(4) E8itedC

ISCER

(I EE&r 68 wd 69)

e = T X)) IR =BE (), (2), (3)
AT (4) § q UFh Hr 9giRomy 2, Ak
X) 385 O fpel wk # FRa =

SUZeRT faehed I qe= Y |

68.

Al

(X)

D

3)

@)

(4)

P.T.O.



69.

70.

71.

72.

@)

3) (4)

-
(X)
® @ P
=2 @ [E=

How many digits are there in

writing the numbers from 1 to
100 ?

(1) 198 (2) 192
(3) 99 (4) 100
If the word “EARTH” can be

written as 51928, then how can
the word “ORBIT” be written in
that Code ?

(1) 15182
(3) 58290

(2) 69289
(4) 69292
If the word “FLOWER” can be
written as “GNRXGU”, then how

the “FATHER” be
written in that code ?

(1) GCWIGU
(2) FCXGUW
(3) FDWIGU
(4) GCXUGW

can word

NMMS-NOV-2022
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69.

70.

71.

72.

>
(X)
M @ @ | B
® | | O =
1 & 100 o de R § g

fepe o B 7

(1) 198 (2) 192
(3) 99 (4) 100
g “EARTH” == a1 51928

for@r strar 2, o “ORBIT” 95 o1
El Hle H Y Uk foEr s
qbar 8 °?
(1) 15182
(3) 58290

i “FLOWER”
“GNRXGU” @ orar 2
“FATHER” & &1 His H
UehIX for@ar o @ehar & °?

(1) GCWIGU
(2) FCXGUW
(3) FDWIGU
(4) GCXUGW

(2) 69289
(4) 69292

M=z

)

Tas
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73. How many times do the hands of a

clock meet each other in 2 days ?
(1) 11
(2) 44
(3) 22
(4) 33
74. If the word “HEAD” can be written

as JDCC, then how can the word
“NOSE” be written in that Code ?

(1) PNUD
(2) NPSD
(3) QOST
(4) QMSE

Direction : (Question No. 75)

In the following Question, select the
option showing the main figure (X) after

rotation.

7. %

X)

(1)

A o <&
®) W @ %

NMMS-NOV-2022
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73.

74.

R :

B
T RT F a1 gEAT um-gER
q fpal A faet 2 7
(1) 11
(2) 44
(3) 22
(4) 33
gie “HEAD” 9= @0 JDCC ferar

ST B, ar “NOSE” 9= &l &1 &S
Y fpa e fo/ar o 9t B °

(1) PNUD
(2) NPSD
(3) QOST

(4) QMSE

(Je1 EE&r 75)

fFrefafaa g7 d 9o &% a9 g™
Rl (X) @ I AT fAabed @
T B |

75.

i
M & @ %
¥ o€

3) (4)

P.T.O.
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76.

71.

78.

A man starts walking towards
west, after walking some distance
he turns 135 degree left of the
direction of walking. In which

direction is he going now ?
(1) North-East
(2) North-West
(3) South-East

(4) South-West

Chirag’s birthday is on Tuesday 29
May. If Sahil was born on 17th
November, then on which day of
the week will Sahil’s birthday be

in the same year ?
(1) Tuesday

(2) Friday

(3) Wednesday

(4) Saturday

In a class of 73 students, the rank
of Rahul 1s 24th from the top.
What is its sequence from the
bottom ?

(1) 50th
(2) b5lst
(3) 52nd

(4) 49th

NMMS-NOV-2022
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76.

71.

78.

Tk A 9iRE™ H ST AT
IR HET B, HB X GAAqd b
g€ g8 =TT H B B 135° 9
gSH Il 2 | A9 g8 fha e
Frw e’

(1) S

(2) SAX-uf=H

(3) =feroT-gd

(4) SfEroT-uis=H

fRrET &1 SR §i@are 29 HE
F 2| I G@fed & TH 17
qEEIT I AT AT, A IE Gy
qiied &1 STHEGA d<e & 69
&7 8rFm ?

(1) =TS
(2) gAY
(3) FEaTT
(4) fER

73 fEneil @ weh ke H A Hl
HH ST F 2441 B | A= A IR
HH FT S 7

(1) 504t
(2) 51ar
(3) 52dT

(4) 494t
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(25) B

79. Sunil is eighth from both the ends 79. ﬂ?ﬁ?\‘f FT TH GieRa § I R 9
in a row. How many total students sar T B dfek H RN Bk
are there in the row ? B g ?

(1) 16 (1) 16
(2) 15 (2) 15
(3 17 (3) 17
4) 14 (4) 14

80. On reaching a meeting place on 80. A I Tk TFHAA & T U
Sunday, I learned that I had Clg?ﬁb_{ ¥ o B ¥ fuiRg
reached 2 days before the 9 & @ ”’F ‘{cf B qg”%r AT él
scheduled day. If I reached there afe & ol wMER @ aEr
on next Saturday, how many days qéa?n, al a9 fOee =&
would I have been late ? SIS
(1) 4 days (1) 4@

(2) 3 days (2 3t

(3) 1day ) 1f&=

(4) 2 days (4) 2=
Direction : (Question No. 81 to 83) s ¢ (I e 81 § 83)
In these questions, a number series is T USHl § Uk & SICKI| e B
given with one term missing. Choose the SaH U U= NAS| 2| kg o faeedi #
correct alternative from the given ones 9 ge fgehed gHu ST e S g
that will complete the series. AT Bl

81. 11, 8,16, 12, 36, 31, ? 81. 11, 8,16, 12, 36, 31, ?

(1) 155 (2) 124 (1) 155 (2) 124
(3) 62 (4) 108 (3) 62 (4) 108
NMMS-NOV-2022 P.T.O.
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82.

83.

84.

85.

86.

4, 10, 22, 46, ?
(1) 92
(2) 66
(3) 68
(4) 94

28, 23, 19, 16, 14, 13, ?
(1) 12
@) 11
(3) 10
4) 13

If X means +, Y means —, Z means
+ and P means X%, then find the
value of 10P2 x 5Y5%5 :

(1) 24
(3) 15

(2) 10
(4) 20
After sunrise, in which side will be

the shadow of a person standing

facing north ?

(1) Right

(2) Left

(3) It will depend on the person

(4) None of these

If 44 x 12 = 8 and 78 x 22 = 14,
then 81 x9=7°

(1) 18
(3) 45

(2) 24
4) 30

NMMS-NOV-2022
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82.

83.

84.

85.

86.

4, 10, 22, 46, ?
(1) 92
(2) 66
(3) 68
4) 94

28,23, 19, 16, 14, 13, ?
1) 12
@) 11
(3) 10
4) 13

gie X a1 A +, Y HT 37T —, Z
Fr 37 + X P T o7l x HET
SQ, dF 10P2 x 5Y5Z5 @ HM
BISEC I LS
(1) 24
3) 15

(2) 10
(4) 20
gIled & 9|’ IO Hl AR qJ@

Fh T ROl AR @ BMET
e ST I 1 ?

(1) &

(2) &

(3) @' =afra 9 MR &
(4) 75 4 Hg 7D

afd 44 x 12 =8 3T 78 x 22 = 14
B, al 81x9="2
(1) 18
(3) 45

2) 24
4) 30
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87.

88.

89.

90.

How many cubes are there in the

given figure ?

1) 14
3) 15

The position of how many digit in
the number 7214658 will remain
the same after changing the digits

of this number in ascending order ?

(1) 4 2) 3
(3) 2 4) 1
Pooja  remembers that  her

mother’s birthday is after 16th
and before 22nd while her brother
remembers that her mother’s
birthday is after 20th and before
25th. If both the information 1is
correct then on what date are his

mother’s birthday ?
(1) 20 (2) 19

(3) 21 4) 23

If 13 + 7 =109 and 14 + 6 = 408,
then 17+5=7
(1) 22 (2) 508

(3) 85 (4) 345

NMMS-NOV-2022
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817.

88.

89.

90.

& TE Tl § fhaw w9 ?

1) 14
(3) 15

@) 11
4) 12

T 7214658 H fhaw TR &
Y H Tedd H 9% UH 9HE
= 7
1) 4
(3) 2

@) 3
4) 1

g & e & fF IFHl AT @l
SfeT 16 % d@ AR 22 daE
$ Usd & Sidih 3dh 9IE hH A
2 % SOd | &1 JHRET 20 B
e qAT 25 IE B Usd 2 | IR
I B SR el &, ar Iehl
AT & SR fhd e @ ' ?

(1) 20 (2 19

(3) 21 4) 23

gfE 13 + 7 = 109 37X 14 + 6 = 408
g, ar17+5=2?
(1) 22 (2) 508
(3) 85 (4) 345

P.T.O.
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(28)

PART - II (T - II)
SCHOLASTIC APTITUDE TEST

Aferer arar gderor

Questions : 91 to 180

91.

92.

93.

94.

95.

Which of the following is not an
example of polymer ?

(1) Cellulose  (2) Glucose
(3) Nylon (4) Starch

The range of audible frequencies
for human ear is :

(1) 20 Hz to 200 Hz

(2) 20 Hz to 2000 Hz
(3) 20 Hz to 20000 Hz
(4) 20 Hz to 200000 Hz

The North pole of a bar magnet
exerts a force of ..... on North pole
of another bar magnet.

(1) Attraction

(2) Repulsion

(3) Exerts no force
(4) Can’t be said

The 1image formed retina
retains for ..........

removal of object.

on
even after

(1) % second (2) % second
3) 1 second (4) S second
8 16

Which acid i1s present in Ant
sting ?

(1) Formic Acid

(2) Acetic Acid

(3) Lactic Acid

(4) Oxalic Acid

NMMS-NOV-2022

91.

92.

93.

94.

95.

Time : 12 Hours

e § & %9 Sgas @l
JeTeX & B 7

(1) qogasT  (2) T
(3) AT (4) &=

CINCHCTE NG S L C T eI O
P 9T T -

(1) 20 Hz & 200 Hz

(2) 20 Hz & 2000 Hz

(3) 20 Hz & 20000 Hz

(4) 20 Hz ¥ 200000 Hz

et e H IAA Y,
fpdl gy ©8 b & I gd
L E O T T B
(1) 3ATERYoT

(2) Hfcrepsor

........

1 1
1) Z@Eﬁﬂ@ 2) 5
3) %aaaug @ L

I & SH H HA-AT T ASE
2§ 7

(1) ®IfH® T

(2) T e

(3) dfFesp o1

(4) STRAfeTe ST
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96.

97.

98.

99.

100.

Which indicator gives pink colour
in basic solution ?

(1) Methyl Orange

(2) Red Litmus Paper

(3) Phenolphthalein

(4) Blue Litmus Paper

Which is the primary component
of natural gas ?

(1) Hydrogen

(2) Ethane

(3) Carbon dioxide

(4) Methane

During a thunder storm :

(1) Keep moving while holding
umbrella.

(2) Should stand in open ground.

(3) Should move to high altitude
place.

(4) Should sit in bus/ car with its
windows shut.

Tin cans, used for storing food, are
made by electroplating tin on iron
because :
(1) Tin
iron

1s more reactive than

(2) Tin is less reactive than iron

(3) Tin and Iron are equally
reactive

(4) All the above are correct

Which gas causes global warming ?

(1) Oxygen

(2) Sulphur dioxide
(3) Carbon monoxide
(4) Carbon dioxide
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101.

102.

103.

104.

Ozone layer protects us from
which radiations ?

(1) Infrared Rays

(2) Microwave

(3) Ultraviolet

(4) X-rays

The vehicles are designed
that :

SO

(1) Fluid friction increase
(2) Fluid friction decrease
(3) Fluid friction don’t change

(4) There 1s no scientific concept
of this fact

The force applied on a body :
(1) May change its shape.

(2) May change the velocity of
moving object.

(3) Only (1) is true.

(4) Both (1) and (2) are true.

Which property of CO2 makes it

suitable to wuse it in fire

extinguisher ?

(1) Itis lighter than oxygen.

(2) It increases temperature of the
fuel.

(3) It is heavier than oxygen.

(4) It contracts in volume when

released from cylinder.
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105.

106.

107.

108.

109.

110.

111.

When did Neil Armstrong landed
on surface of moon ?

(1) 20 July, 1968
(2) 21 July, 1968
(3) 21 July, 1969
(4) 22 July, 1969

The Chemical Formula of rust is :
(1) FesOq4 (2) FeO
3) Fe20s3 (4) FesO2

What is the unit of calorific value ?
(1) KJ (2) Kg
3) KJ/Kg (4) KW

The transparent front part of
human eye is called :

(1) Cornea (2) Iris
(3) Optic Nerve (4) Retina

Which metal is soft and can be cut
with knife ?
(1) Gold

(3) Calcium

(2) Sodium
(4) Copper

Melting of wax is an example of
which type of change ?

(1) Biological
(2) Chemical
(3) Physical
(4) Physical and Chemical both

In Medieval India the department of
Diwan-e-wizarat was related to :

(1) Abroad (2) Religion
(3) Revenue (4) Military
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(3) Bicwraw (4) drsw

Y &H Ugar k9 IR &
qiad 1 IaeL0T & 7

(1) s

(2) TEEH

(3) Hifers

(4) Afass SN qEESE Sl

AAHRIE 9Rd H SaH-T-fasmra
fIorT T o -

OREER! (2) gH°

(3) T (4) =

P.T.O.

Downloaded from cclchapter.in



112.

113.

114.

115.

In the Vedic period, there was a
bigger institution than the village ?

1) Kula (2) Vish
(3) Jan (4) Sabha

Identify the diagrams given below
and select the relevant option :

(1) Uterus and Fertilization
(2) Embryo and Zygote
(3) Uterus and Embryo
(4) Fertilisation and Zygote

Name the given microorganism

and group to which it belongs.

(1) Spirogyra , Algae
(2) Rhizopus, Fungi
(3) Penicillium, Fungi

(4) Chlamydomonas, Algae

Spreading the powder on carrom
board will ............ friction.

(1) increase
(2) decrease
(3) friction don’t change

(4) none of the above
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116.

117.

118.

119.

120.

If each side of an equilateral
triangle is doubled, then its area
becomes how many times ?

(1) 2 2 3

(3) 4 (4) 8

The smallest planet of solar
system is :

(1) Venus (2) Mercury

(3) Earth (4) Saturn

A plastic used for making floor
tiles, kitchenware and fabric
which resist fire is .............. .

(1) Bakelite (2) PVC

(3) Polythene (4) Melamine

When a cracker is ignited, a
sudden reaction takes place with
the evolution of heat, light and
sound and a large amount of gas is
formed in the reaction. Such
reaction is called :

(1) Explosion

(2) Rapid combustion

(3) Spontaneous combustion

(4) Slow combustion

Which of the following statement
about metals is true ?

(1) Oxide of magnesium is basic in
nature.

(2) Sodium and gold are metals
that can be cut with knife.

(3) Mercury is the lightest metal.

(4) Zinc can’t replace copper from
copper sulphate solution.
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121.

122.

123.

124.

125.

How many dot patterns are there
in Braille system ?

(1) 58 (2) 60
(3) 56 (4) 63

Which number should be added to
49 containing the same digits to
make it divisible by 11 ?

(1) 94 @) 9

(3) 4 (4) 49

The slow process of conversion of
dead vegetation into coal is called :

(1) Coal formation
(2) Bitumen formation
(3) Carbonisation

(4) Fossilisation

18 out of 36 people love reading, so
reading in the pie chart will be
represented by :

(1) 36 degree sector

(2) Quarter sector

(3) Semi circular sector
(4) None of these

Which of the following changes in
environment may not be possible
due to deforestation ?

(1) Increase in atmospheric
temperature
(2) Increase in water holding

capacity of the soil
(3) Increased chances of flood
(4)

Conversion of fertile land into
desert
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126.

127.

128.

129.

Who founded Nalanda University ?

(1) Kumargupta
(2) Chandragupta-I
(3) Skandgupta
(4) Harshvardhana

I act as control centre of the
activities of cell. Whoam I ?

(1) Vacuole
(3) Nucleus

(2) Cell membrane
(4) Plastids

Which of the following is a water
related disease ?
(1) Eye Flu
(3) Malaria

(2) Cholera
(4) Plague

Which of the following statement is

correct regarding carbon farming ?

(1) Involves -cultivation of crop
after clearing/burning forest
till 1its looses fertility and
provide revenue to farmers.

(2) Helps the crop to retain soil
health, reduces  chemical
infiltration into water bodies,
increases biodiversity and

revenue to farmers.

(3) Animal raising practices with
lot of Chemicals in the fields
and fumes earn more revenue.

(4) Small scale farming with old

and traditional cropping

methods with low production.
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130.

131.

132.

133.

The difference between two whole
number 1s 66. The ratio of the two
numbers is 2 : 5. The two numbers
are :

(1) 60 and 6
(2) 100 and 33
(3) 110 and 44
(4) 99 and 33

The point (-5, 2) is nearest to :

(1) x-axis

(2) y-axis

(3) origin

(4) equidistant from x-axis and
y-axis

‘Friction produces heat.” This
principle can be proved by which
of the following activities ?

(1) Heat is produced when hands
are rubbed together.

(2) Rubbing the match sticks on

the rough end of the match box

causes it to burn.

(3) On running the electric mixer

for a few minutes, its jar

becomes hot.

(4) All of the above activities can
prove the principle of ‘friction

produces heat.’

The thyroxine production requires
the presence of
necessary to develop tadpoles into
adults.

(1) Copper
(3) Iron

in water

(2) Iodine
(4) Sodium
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134.

135.

136.

137.

138.

139.

What is the circle which connects
all the vertices of a polygon called ?

(1) Semi-circle (2) In circle

(3) Outer circle (4) Circum circle

100° + 20° + 5° is equal to :
(1) 125 (2) 25
(3) 1/125 4) 3

The cost of 7 Kg of potatoes is
Rs. 42. How many Kgs of potatoes
can be purchased for 96 Rupees ?

(1) 10 Kg (2) 12 Kg

3) 15 Kg (4) 16 Kg

What is the volume of the cuboid
of length 8 xy, breadth 3 xy and
height xy ?
(1) 24 xy2
(3) 24 x3y2

(2) 24 x2y
(4) 24 x3y3

Correct value of 13.572 to the
tenth place is :

(1) 10 (2) 14.5
(3) 13.67 (4) 13.6
Eikansh has two, two rupees

coins, one five rupees coin and two
ten rupees coins. what
combination should the boy select
three coins

In

so the amount 1is
maximum ?

(1) Two five rupees and one ten
rupees coins

(2) Three ten rupees and one five
rupees coins

(3) Four two rupees and one ten
rupees coins

(4)

Two ten rupees and one five
rupees coins
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140.

141.

142.

143.

The factors of xyz are :
(1) x 2) y
3) z (4) All of the above

If the weight of 12 sheets of thick
paper is 40 gms, how many sheets
of the same paper would weigh
2500 grams ?

(1) 750 (2) 800

(3) 850 (4) 950
Loudness 1is determined by the
.............. of vibration.

(1) Amplitude

(2) Noise

(3) Frequency

(4) Wave

Which of the principle given in the
options 1is represented from the
given figure more appropriately ?

(1) Atmospheric pressure is the
force of gravity on air in a
column of unit area.

(2) A liquid exerts pressure on the

walls of the container.

Liquid exerts equal pressure

on the walls of the container at

the same depth.

The pressure exerted by water

at the bottom of a container

depends on the height of the
column.

3)

(4)
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144.

145.

146.

147.

148.

149.

150.

Which of the following is the value
of 0.1 x51.7?

(1) 517
(3) 0.517

(2) 51.7
4) 5.17

What should be subtracted from

-3 to get —1 ?
1 1
m 1 @ -1
2 _2
@3 2 @ -2

The cube of 1 —%is :

1 1

(1) I-3 2) -5
8 8

3) o7 (4) ~o7

Suppose A is a digit, find the value
of Aif 31A + 1A3=501:

1) 8
(3) 6

2) 2
(4) 4

Minimum possible interior angle
in a regular polygon is :

(1) 70° (2) 60°

(3) 90° (4) 120°
The value of /(-1) .4/(-1) 1is:
(1) -1 (2) +1

(3) +2 4) 0

The base of a prism is :

(1) Circle

(2) Triangle

(3) Square

(4) Any Shape
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151.

152.

153.

154.

155.

156.

areas are

lying
susceptive to ............. .
(1) Landslides (2) Flooding

(3) Earthquakes (4) Tsunami

Low very

What was the Provinces called in
the Chola Administration ?

(2) Country
(4) Mandal

(1) Province
(3) Nation

In which district of Haryana
Rakhigarhi is located ?

(1) Fatehabad (2) Hisar
(3) Bhiwani (4) Sirsa

What 1s the retirement age of
Supreme Court Judges in India ?

(1) 58 Years
(3) 62 Years

(2) 60 Years
(4) 65 Years

From which mineral silicon is
obtained out of the following ?

(1) Coal (2) Bauxite
(3) Thorium (4) Quartz

Topography means :

(1) The physical characteristics of
an area of land especially the
position of its rivers, mountain
etc.

(2) Description of land, air and

celestial bodies

(3) Description of air of an area,

mountains and celestial bodies

Description  of  mountain,

oceans, rivers of an area

(4)
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157.

158.

159.

160.

Who introduced the rule of law in
India ?

(1) Mahatma Gandhi

(2) Mughals

(3) British Colonialists

(4) Hindu Kings

What was the ritual performed in
Ancient times before attaining
education ?

(1) Upnayan  (2) Gharbh
(3) Jatak (4) Gurukul
The Governor General who

implemented Subsidiary Treaty in
India ?

(1) Lord Dalhousie

(2) Lord Banting

(3) Lord Dafrin

(4) Lord Wellesley

Match the following as per their
relation with the following phrases :

(A) Terrace (1) Protection from

farming soil waste
(B) Inter - (i1)) Reducing
cropping surface run-off
(C) Contour (i11) Prevention  of
ploughing water flowing

down from slope
(D) Shelter belts (iv) Prevent gullies
(E) Mulching (v) Checking wind
movement
(F) Rock dams (vi) Retaining
moisture from
soil
(1) AQ), B(v), C@), DGi1), EGv), F(vi)
(2) A@), BG), C@v), D(v), EGi1), F(vi)
(3) A@u), BG), Caii), D(v), E(v1), F@iv)
(4) A(v), B(v1), C@i), DGi1), EGv), F@)
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157.

158.

159.

160.

ARG H HNT H AEA
JEA fobe & 7
(1) HerET e

(2) 77
(3) fafesr Iafvash

(4) &g o

191 =1 ) G M= I £ L e S s M et
RIT ST aTaT 9%hIX o -

(2) T

(4) ToHA

ARG H Hed® afYg AN i
ATAT TG ST hie o ?

(1) e SR

(2) @E e

(3) @E THRA

(4) e ATl

FliRgd aeRIiRll & 9 39k
qee &% SAFAR T @l e Y

1) 3I9TIq
(3) SR

@A) FEgar () BEd & ol
Tyt @R ¥ =9
B) AR ®EA (i) a8 § Iudre

T HH HEAT
(C) |Hr=a T8 (iil) St H A=
e | AT
(D) T 9 (iv) AT Bl AhT
(E) qaamre (v) a1 @ TR
eIl
(F) 3k e (vi) et s ==
ERILRECE]

(1) A@, B(v), C@y), D@ii), EGv), F(vi)
(2) A@), B@), C@v), D(v), E@Gii), F(vi)
(3) A@), B@), C(ii), D(v), E(vi), F@v)
(4) A(v), B(vi), C(1), D@ii), EGv), F@)

P.T.O.
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161.

162.

163.

164.

What is the process in which minerals

lying near the surface are dug ?
(1) Drilling

(2) Off — Shore drilling

(3) Quarrying

(4) Extraction

Who implemented the free trade
policy in India ?

(1) France

(2) Germany

(3) Japan

(4) Britain

In which Buddhist Text

Mahajanapadas are given ?
(1) Bhagwati Sutra

(2) Upanishad

(3) Angutar Nikay

(4) Mulachar

16

Which of the following is correct
about “Ramsar Sites” ?
(1) Bhindawas Wildlife Sanctuary

and Sultanpur National Park

Thol Lake Wildlife Sanctuary
and Vadhvana Wetland

Bhindawas Wildlife Sanctuary
and Vadhvana Wetland

)

3)

(4) Sultanpur National Park and

Thol Lake Wildlife Sanctuary
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161.

162.

163.

164.

Je HF-dr Uik § Sas adg &
I 92 @St @ @iar Sen 7
(1) NFET/FHT FAAHT /S99

(2) AT duT

3) I

(4) Fr=pyor

KT ARSI bl ARG H AR
fhar or 7
(1) wie |
(2) STHAT
(3) U= =
(4) fses A

P = 7T § 16 HWemTH9aE!
foeor fRam B 7

(1) ¥Teel g

(2) SuFg

(3) AR T

(4) JA=R

fr=fafaa & -9 SO @&t e ?

(1) THSE™E gUsiid A9 g
TG TS IFAA

(2) O A FSIg AFIARTT g
AT SAEHH

(3) M@ g=sig TR 4
AT A=A

(4) GIMgY TE IgAM d O
T aIsig STHAOT
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165.

166.

167.

168.

169.

Who is
Sikhism ?
(1) Guru Har Ray

(2) Guru Har Kishan
(3) Guru Teg Bahadur
(4) Guru Hargovind

called Bal Guru 1in

Out of the

industry is secondary activity ?

following which

(1) Tourism
(2) Fishing
(3) Agriculture
(4) Coal mining

Which crop is referred as “green
gold” among the following ?

(1) Coconut
(2) Sugarcane
(3) Tea

(4) Coffee

In the Rayatwari system the rayat
was called :

(1) Farmer

(2) Labour

(3) Zamindar

(4) Jagirdar

What do you mean by FIR ?

(1) First Information Report

(2) First Information Commission
(3) First Knowledge Commission
(4) All of the above
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165.

166.

167.

168.

169.

B

g o1 H g s fRa e
SICIE-I

(1) T6 =

(2) T& EXHH

(3) ® TTeRIZY
(4) T& EUNE=

=1 7 8 s=-a1 SE fadEew
Tafafe g 7
(1) gded IR
(2) I UTA

(3) H
(4) IS G IFT

M wEdl H 9 R wEd Sl
T Mes’ Hel Sar & 7

(1)

(2) =T

(3) I

(4) =il

oAt Faer H YT &al Sl
or

(1) e =

(2) ASTEY <l

(3) STHIEX I

(4) SFTRER &0

THo &Mgo 3o (FIR) & &9
T TET B 7

(1) w&H Fg=rm Rard

(2) 9&H AT SA™RT

(3) IIH A SAANT

(4) SURTRT |«

P.T.O.
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170.

171.

172.

Match the following List-I to II :

List-1 List-I1
(A) Land use (i) Prevent soil
erosions

(B) Humus (i1) Land suitable

for agriculture

(C) Rock dams (ii1) Production use
of land

(D) Arable land (iv) Organic matter
deposited on
top soil

(1) A@), B@i), C(ii), D@Gv)

(2) A(@ii), B@av), C@1), D@i)

(3) AGv), B@i), C@1), DG)

(4) A@i), B(@), C@iv), DGii)

Match the

sanctuary with

park/
bird/

following
correct
animal given below :
Animal/Bird Place/National
park/Sanctuary

(A) Elephant (i) Kaziranga

(B) Tiger (1) Periyar
(C) Lion (i11)) Dudhwa
(D) Rhino (iv) Gir

(1) A@), B, C(i1), D@av)
(2) AQii), B@), C@Gv), D@1)
(3) AQ1), B(i), C@av), D@)
(4) A@v), B@), C@i1), D@)

Which of the article of Indian
Constitution is related to abolition
of untouchability ?

(1) Article 17 (2) Article 18
(3) Article 15 (4) Article 16
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170. ge-1 61 I § ARG i -

171.

172.

G-I -1
(A) -39 () faedt & Hea
T HAT
(B) &oT /@l (i) HiT IUgHT
firzdl i
(C) Ik aiar (i) 9 1 I/
SAEH ITANT
D) FW T (iv) FEE  gard
g B STHE

(1) A@), B(i), Cii), Dv)
(2) A(ii), B(iv), C@), D(i)
(3) A(iv), B(ii), C(i), D()
(4) A(i), B(i), C@iv), D(ii)

=1 ag /9l @ ST SR
% 9O @& HaE Hifs

qg]/98i M /TS
S /AHIRY
(A) Brelt eSS
(B) e (i) IRFR
©) A (iii) geram
(D) Wk EFT amEr (iv) FR
HE

(1) A@), B, Ci1), D@av)
(2) AQu), B@), C@av), D@ay)
(3) A1), B(@ii), C@Gv), D@)
(4) AQv), B(11), C@i1), D@)

gRaE d@faas @ @
AV TG (YITEA) B
U F q aied & 7

(1) oTg=8= 17 (2) 3TJ=8= 18
(3) Tg=8T 15 (4) TI== 16
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173.

174.

175.

176.

177.

Who is the Chairman of Rajya
Sabha ?

(1) Prime Minister of India
(2) President of India
(3) Vice-President of India

(4) Finance Minister of India

In which year the law against
Child Labour was implemented ?

(1) 2001 (2) 2003
(3) 2005 (4) 2006

Who is responsible for sanitary
conditions in the country ?

(1) Health Minister
(2) Home Minister
(3) Finance Minister
(4) Chief Minister

Which American
responsible for the Bhopal Gas

Company 1is

Tragedy ?
(1) Ford
(2) Pepsi
(3) Wipro
(4) Union Carbide

When did the Constitution of India

come into force ?

(1) 15 August, 1947
(2) 26 November, 1949
(3) 26 January, 1950
(4) 9 December, 1950
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173.

174.

175.

176.

177.

B

ToOET &I G i 8T 8 °?

(1) 9IRT &1 gEI=HHAT
(2) AR T WsgafT
(3) XA 1 T
(4) 9T &1 faa =530

I oH & aah AfaEw R

g9 @ R =T 7
(1) 2001 (2) 2003
(3) 2005 (4) 2006

29 W Tl Gl &
B T@ar © 7

(1) w@reeg w31

(2) T& =

GRESLE]

(4) geaE=

HET-G1 AR HUAI NI T
TEE & T SOErE ' °

(1) »rE
(2) U=
(3) femm
(4) I Freizs

ARAE  G@fags o AR e
T ?

(1) 15 ST, 1947

(2) 26 AT, 1949

(3) 26 SEAX, 1950

(4) 9 EE=R, 1950

P.T.O.
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B

178.

179.

180.

How can we reduce environment

Pollution ?
(1) By using diesel cars

(2) By using CNG Kits in vehicles

(3) By using petrol cars
(4) All of the above

Which of the following is a private
sector industry ?

(1) Hindustan Aeronautics Ltd.
(2) Tata Iron & Steel Industries
(3) Steel Authority of India
Thermal

(4) National Power

Corporation

For which river the word 'Indus'

was used in India ?
(1) Ravi

(2) Ghaggar

(3) Sindhu

(4) Satluj

(46)

178.

179.

180.

ggEReT UgWeT & BH &9 Uk
ghd € 7

(1) S99 FR b TAFT &R

(2) aredl # "o THo Silo fehe &
TN &

(3) Ui HR B TINT &R

(4) SUET gl

1 & 9 @q-an, e 8= @
FERT B 7

(1) feg&a wHier s
(2) TMET AP Toe il IEN
(3) EIeT HYMRET ATH e

(4) T 99 faEa Fem

e q=| 9dqRG H R T4 B
foTa ogerT fopam T B 7

(1) e
(2) "R
(3) Ty
(4) TAISA

NMMS-NOV-2022
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6.

10.

11.

12.

13.

14.

15.

16.
17.

18.

usHl % IO, IIX =k H i @ il
wwﬁ?ﬁgﬂhmaﬂwm%,
= g T R o

O e B o

AW B I ™ SOX G "HEr S, 9
IO A @ B A U 9 9 ©

© ® © @

gie U 9 el @l B WY 2d & Al AR
SAX IIT HIET ST |

B I
Sar 6

. X% HA U gRIE H 3E YA & fag & T

el SFTE 9Y &1 &1 |

.G IO Fad SAC UFH (OMR) WX & 3ffeed

FH | AIT I YD AR HL | IAX T
2g 29d % (F%e FIS) H gAnT Mt B

. g% 999 % foQ Rw w = fomedl | @ S

fgpea & T AT 99% (OMR) X &ad TF &l
gd H YU e H Oid @R 99 F 9 0H
IR I Sfkd X B G IH ST A8 S
T 2 |

srwpefl gfeea Y 6 3@ IO U=eh O Hiel |
ST Qawwﬁémﬁrsmqwm
ARl U SgHHI® IUX Uk H o MEiRd
W & Afaiead o= 9 R[Rid |

gse QRIS Ud IO 9 B eAYaS TANT HY,

iR e o aRRaf § (Faw geT gRawr o

IAX WE B HHIG A fWear Hl R @l

BIghI) ga¢ g7 Grawr 8 3=y &l #arn
/

gs gROH/SOY 9Eeh H [T T A
el Wl ade ¥ elord o= § o |

gt H ghem BA/FA OH O OUAA FE B
AT fopdl U sl 91gg amEl, giEda
EXAfeiad  hRTST i GfeET, ﬁa’{ Az B,
FAFSIh SIHLT I7 hAT ST WX hl A

H A S AT I FIA H AGART S 2 |

ISRUSET-ARY M U U STell ofuAr
T (T o) famamd |

o= Adierh a1 e ® [@AT g @ faer
FIE Tt STIAT W T BIE |

SAFS(~1eh /EETATAT Uiehaleh I SUANT afoid 2 |

fopel Bla H ued gRAeHl AR SAX U5 H Fis
ART ST T |

e " BN R, Sl qdiem et /et
8lgd 9 Yd SR YN HE-UIAEh bl AT
Fﬁtr%ganzreﬁamﬁwaqﬁg%waﬁém
qhd T |

6.

10.

11.

12,

13.

14.

15.

16.
17.

18.

Answers to questions in answer sheet are to be
given by darkening complete circle using black ball
point pen as shown below :

O e O o

The answer will be treated wrong, if it is marked, as given

below :
v ® © @

If you fill more than one circle it will be treated as a
Wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed
to be changed.

The candidate should ensure that the Answer Sheet is
not folded. Do not make any stray mark on Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of
Test Booklet will not be provided.

The candidate will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.

Candidate is not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic/Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, candidate must hand over the
Answer Sheet to the Invigilator in the Room/Hall. The
candidate is allowed to take away this Test Booklet with
them.
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gehoie I U
3TouHo3TRo HHH
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3 hours

et P SEATEIT /Signature of the Invigilator :

oreeff @) 10 e &1 G597 g gRasr gT 89 RN # ge7, g9 gEae J Ry 7¢ gof & diRga 797 9% F77 a9 SRT 937 P g
Rar a1 af gev-97 gwae F go  diRGT T Ta7 89 & @ g = ordfers @ [Ma5T FWH G9F 9 JHAE Jad & | GO G
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STRIFRNET % forg Fder
1. IR =% (OMR) 39 999 YRR & 3= &l

INSTRUCTIONS FOR THE CANDIDATES :

1. The OMR Answer Sheet is inside this Test Booklet.

2| S SRl U9 YRAeRT Fie @ el S, o
IAX U R Y A A had Fwi i @R
U9 9 faEyer «% |

. 9eT W rEi 3§28 & ud usd g F 180 UsT
2| Uk UT TH b B B FIF FURHE BT
T&T &1

.30 U T {qEROT Sifehd Hid Ud IO U WX
M9 & % [T A il S @ige U9
TR &Y | T UeA-gRGHT H ITART FHA oA
T U W WX H AEeEl 9Xd | §@d J9F
gieer @< garT T8 1 S

. T8 o gRfea & & & gs9 gRaew wHiw oA
ST 95E HHG UH B &1 TR FE F= B a@r
Al gAY gA-gRAHE AR I I=E A &
e [ieteh bl gi ST i |

. g8 gdem @ 9 7 8 -
ART-1 : NieH AT geor
AFT-I1 : e qrgar qh&er (9. 91 & T, 180)

(m. 1.8/ = 90)

When you are directed to open the Test Booklet, take out
the Answer Sheet and fill the particulars carefully with

black ball point pen only.

. The test is of three hours duration and consists of

180 questions. Each question carries one mark. There is no
negative marking.

. Use Black Ball Point Pen only for writing particulars on

this page/marking responses in the Answer Sheet. The
candidate should remain careful in handling the question
paper and in marking the answers on the answer sheet.

Another booklet set will not be given.

. Also ensure that your Test Booklet Serial No. and

Answer Sheet Serial No. are the same. In case of
discrepancy, the candidate should immediately report the
matter to the Invigilator for replacement of both the Test
Booklet and the Answer Sheet.

. This Test has two Parts :

Part-1 : Mental Ability Test (MAT) (Q.1t0 Q. 90)

Part-II : Scholastic Aptitude Test (SAT) (Q. 91 to Q. 180)

q?a.-ggma?amﬁﬁvws?vﬁé‘sﬁ#
Z1

Note : Read other remaining instructions given on the

last page of this Booklet.
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(3)

PART - I ({RT-1)
MENTAL ABILITY TEST

s TIar gleToT

Questions : 1 to 90

Direction : (Question No. 1 and 2)

The three different position of a dice are
given below. Select the suitable answer

to the following questions.
<A 7 LC 1 LB ~
E E
1. Which letter is on the surface
opposite to D ?
1) A
(2) B

3) E

4) F

2. Which letter is on the surface

opposite to F ?
(1) B
(2) D
3) E

4) C

NMMS-NOV-2022

Time : 12Hours

fEsr ¢ (U HE 1 T 2)

Teh O ol A9 ST Rafd ==
a2 B Freafafed medl & Suged
IO BN T L |

1. D & fUd9 @ds WX &=-ar
37X B ?

1) A
@) B
(3) E

4) F

2. F & fauig dds ¥ &H=-4r
37X B ?

1) B
@2 D
®3) E
4) C

P.T.O.
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Cc

Direction : (Question No. 3 to 6)

The answers to the following questions

are based on the diagram given below :

A
«3TSETH
E (Teacher)
(Artist) D G | F
c « ¥
B (Scientist)
3. Teachers who are not scientists

but artists are represented by
which letters ?

(1) D
3) E

@) F
4) A

Scientists who are teachers and
artists are represented by which
letters ?

1) E
3) C

2) G
4) F
Artists who are scientists but not

teachers are represented by which
letter ?

1) B @) D
3 F 4 C
Scientists who are neither
teachers nor artists are

represented by which letter ?
(1) B 2) F
3) D 4 C

NMMS-NOV-2022

(4)

fdsr : (I3 d==m 3 9 6)

fr=fefea g+ & SO A Ru To
MR UX 1T ¥ :

A
E 3T Ih
> (Teacher)
(Artist) D G | F
c « =i
B | (Scientist)
3. I FAAYEH SN Jsiek S 8,

=] HAR &, hd AR IR

gafdtd fpe @ g ?
(1) D 2 F
3) E 4) A

I JEiees S STHUE 3K
FHATRIT &, hE ST & UsiRidT
fpg @ B °
(1) E @) G
3) C
J FABR ST GEE B IR

4) F

gafdtd fee @ g ?
(1) B 2) D
(3 F 4 C

I Jenvee S A A1 STEHUsh @
MT T & FARR &, Fha o1
a7 veiig fpu @ ¥ ?

1) B @) F
(3) D 4) C
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Direction : (Question No. 7 to 10)

There are given seven logical diagrams
(a, b, ¢, d, e, f and g). Select one which
best illustrates the relationship among
three classes in each of the following
questions.

OO @ ®@c
® @0

g
7. Mustard, Wheat, Potato.
(1) e @) g
3) b 4) c
8. Boy, Student, Player.
(1) f (2) c
3) g (4) e
9. Brinjal, Food, Vegetables.
(1) b (2) e
3) a 4 g
10. Thief, Judge, Criminal.
1) f (2) b
3) g 4) d

NMMS-NOV-2022

(5)

fdsr ¢ (I d@e&mm 7 9 10)

g 9% 99 == (a, b, ¢, d, e, £ 3NT )
few 7w 2| Fre=foRaa & @ g usH
g 99 a1 & G 99 QN an
49 g |

OO @ @C
& 0

g

7. w4, g, o |
1) e 2 g
3) b 4) ¢

8. s, fa=mell, Raaet|
1) f (2) ¢
3 g (4) e
9. &, @, s |
1) b (2) e
3) a 4) g
10. =X, SToT, ST9E |
(1) f 2) b

3 g (4) d

P.T.O.

Downloaded from cclchapter.in



C

Direction : (Question No. 11 to 14)

In the following questions there are
statements followed by
Choose the conclusion(s) which must
logically  follow the given
statements.

conclusions.

from

(1) If only conclusion I follows.
(2) If only conclusion II follows.
(3) Neither conclusion I nor II follows.

(4) Both conclusion I and II follows.

11. Statements: Some teachers are
players.
All Players are
doctors.
Conclusions: I Some doctors
are teachers.
II Some doctors
are players.
12. Statements: Some jeeps are
buses.
Some Buses are
Cars.
Conclusions: I All buses are
Cars.
II Some Cars are
buses.
13. Statements: All flowers are
vegetables.
All leaves are
vegetables.

I Some vegetables
are leaves.

Conclusion :

II Some vegetables
are flowers.

NMMS-NOV-2022

(6)

fdsr ;- (ue d@m 11 § 14)

FrafaRaa el ®, ®o9 & I =Ry
2| ey #1 T9e Y S fRw o e
q dliches &9 & HAFAXOT AL |

(1) afs Faa Frpd 1 STTEET T € |

(2) gfe Had Fe=pY I STFERT &I
g

(3) F ar Fr=pd [ IR 1 &1 11 SAEReT
HIAT B |

4) Fe=p 1 SfR 1T &0 STgader Rd
gl

11. Y : FHB ATH (Ears! 2 |
g Raegl St € |

frepe 1 [ %5 Sl HAATH € |
Il B St Raast € |
12. FHU9 : HB S F9 T
B/ I8 BR F |
frepe ;1 |t 9 R 2
II %5 &R a4 2 |
13. Fo9 : O B afesEr € |
s g3 afesTar g |
frepe : 1 e dfesar gimEm € |

Il & Afal B/ 2 |
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14. Statements: All animals are
horses.

All  horses are
birds.

Conclusions : I Some birds are
animals.

IT All animals are
birds.

Direction : (Question No. 15 to 17)

Read the following information and
answer the questions given below.

(1) P+ Q means P is mother of Q.
(2) P+ Q means P is husband of Q.
(3) P—Q means P is sister of Q.
(4) P xQ means P is son of Q.

15. A—-Bx C + D + E, then which of
the following are true ?

(1) A is brother of E
(2) Ais sister of E

(3) Bis Husband of C
(4) C is brother of E

16. Which of the following relations
show that A is the daughter of D ?

(1) A-BxC+D

2 D+C-AxB

3B A-BxC=+D

4 D+C-BxA

17. If A x B+ C = D, then how is B

related to D ?

(1) Mother-in-law

(2) Mother

(3) Husband

(4) Father

NMMS-NOV-2022

14. T : G0 I SN2 T
adt 912 gall ¥
frepe 1 1 %o well SeR € |

II 9§t J=a< gefi 2 |

st ¢ (I d@Emm 15 9§ 17)
FrefeiRad STHe & U@ SliX - '
S|l &% IAY & |
(1) P+Q &1 372f 8 P, Q & HIaT B |
(2) P+Q &1 37 8 P,Q &1 Ui 2 |
B P-Q &1 1f B P,Q & = 2|
(4) PxQ &1 31 2 P,Q & I 2 |
15, A—-BxC+D+Eg, a1 fF=faiad

¥ HE-ar g e ?

(1) A Er 92 2|

(2) A,Ea 89 2|

(3) B, C & Uiy B

(4) C,Eh 912 2|
16. fr=faiag § 9 @H9-91 999 98

guiar 8 6 A, D & g B 7

(1) A-BxC+D

2 D+C-AxB

(3) A—-BxC=D

4 D+C-BxA
17. g AxB+C+D B, @ B & D

T R ey B 7

(1) &=

(2) AT

(3) @i

(4) foer

P.T.O.
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18.

19.

The volume of water in a tank
doubles every minute. The tank is
completely filled in 30 minutes. In

how many minutes will the tank
be half full ?

(1) 15 Minutes
(2) 29 Minutes
(3) 20 Minutes
(4) 10 Minutes

If the word “JAIPUR”
written as QZRKFI, then how can
the word “ROHTAK” be written in
that Code ?

(1) LIPGZQ

(3) JKRHZP

can be

(2) TLSGZP
(4) LIGQZO

Direction (Question No. 20)

In the following question, select from the

figure which satisfies the same condition

of the placement of the dots as in figure

(X).

20.

M

X)
(1) @ 2) @
3) @ (4) @

NMMS-NOV-2022

(8)

19.

e

T Thl & Ul B HET Uh
e & usd & A SRl B
3l 30 e H Ui w9 # WY
St 2| fhan faeer § Sa oel
TG ?

(1) 15 @=Ee

(2) 29 e

(3) 20 =<

(4) 10 =<

gfg “JAIPUR” 1= 1 QZRKFI

foremr srar 8, @ “ROHTAK” 1=
H A He H RO gwr @
ST Tehel & 7

(1) LIPGZQ  (2) ILSGZP
(3) JKRHZP  (4) LIGQZO
: (9s e 20)

fFefeiad g7 |, g8 Sfepia A S
foig T @ I Rl sl s Al
2 Srar 7 etmpfa (X) F 2

20.

T
)

(1) @ @ @

o L&) w
D o)
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21.

22.

23.

24.

If + means X, X means —, ~ means
+ and — means +, then find the
value of 288 —16+9x 54 +9:

1) 0
(3) 225

2) 171
4) 117

If it is 2 : 20 in the clock, what will
be the time after turning the hours
hand 40 degrees ?

(1) 3:40

(2) 6:20

(3) 3:00

(4) 5:40

Varun walks 20 meters in the
North direction then walks 20
meters in the East direction, then
12 meters in South direction and
then stops after walking 26 meters
in the West. In which direction
and how far is he now from the
starting point ?

(1) 6 meters West
(2) 14 meters South-East
(3) 10 meters South-East

(4) 10 meters North-West

If “DUCK” is written as @49% and
“LIKE” 1s written as ¥I8%#, then
how can “ELUDE” be written in

the same code ?
(1) #83%# (2) @89%#

(3) #4a# (4) @34%@H#

NMMS-NOV-2022

(9)

21.

22.

23.

24.

C

g + 1 37 x, X BT 3T —, + T
31ef + ST — T 7T +, HAT S, A
288 — 16 + 9 x 54 ~ 9 &I A A
HiT -
1) 0

(3) 225

@) 171
4) 117

afe g1 7 2 It 20 e gu 2,
ar g @l s 40° gHA & d& FAl
T BT 7
(1) 3:40
(2) 6:20
(3) 3:00
(4) 5:40

TJET gRH § 20 Hiex Iax¥ f&em H
S 8 fe 20 Hiex gd fRem H
Y 12 Hiex aferor fe=m #, e
26 HieX qivgH f&sm H I@ht 6

ST 21 ofd, 98 Ui e 9
fope faem §  feaeil gl W B 7

(1) 6 Hiex qieaH
(2) 14 Hrex oy
(3) 10 Hiex =feror-gyd

(4) 10 Hiex IAT-9Ii=H
gfe “DUCK”> &I @49% 37X
“LIKE” @ 38%# for@m Sar g,

ar “ELUDE” =l Exall He 7 g
JepX forar ST dahar 8 7

(1) #8T%t (2) @89%#

(3) #:4@# (4) @4%@#

P.T.O.
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C

25. Q’s sister is P, R’s brother is Q, S’s
son i1s R, then how P 1s related

to S ?
(1) Daughter (2) Son
(3) Father (4) Mother

Direction : (Question No. 26 and 27)

Select a proper group of number / letters
from the given alternative.

26. 123 _2_41_4124 _23
(1) 3431 (2) 4313
(3) 4331 (4) 4321
27. a _abc_bc _abed _
(1) abde (2) bade
(3) baed (4) abed

Direction : (Question No. 28 to 31)

Read the following information and
answer the questions given below. The
following information compares the age
of A, B, C, D and E. A is older than B, C
is older than B but younger than A. D is

younger than E and B. B is older than E.

28. Who is the youngest ?
(1) E 2) A
3) C 4) D

29. Whose age is exactly in the middle
of everyone ?
(1) B 2) A
3 D 4 C

NMMS-NOV-2022

(10)

25. QFH BT PE, RAT A2 Q T, SHT

g9 R 2, @ P & S @ #1 Hay
g7

@ = (2) g
(3) fOar (4) Hrar
feer : (Is7 dem 26 ud 27)

ftu @ el & @ dEAr/ ol @
Th FE e YU S ReEd e
H gicd B ST b |

26. 123 _2_41_4124 _23
(1) 3431 (2) 4313
(3) 4331 (4) 4321
27. a_abc_bc _abed _
(1) abde (2) bade
(3) baed (4) abed
fder : (ueT = 28 | 31)

fFrfaRaa sMe @& 9@ 8l e '
T YAl b IO & | T STHET H A,
B, C, D IR E & 3" & ga-m & B
TIA BA e el C B d g B
AT A & 8Bler g1 D, E iR B &
BT 21 B,E 9 921 21

28. 999 BT i & 7
(1) E 2) A
3) C 4) D

29, Ol SH GH B Sk W= H
g7
(1) B 2) A
3) D 4) C
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30. Whose age is between B and D ?

(1) A 2) E
3) C

31. Who is the eldest in age ?
1 C 2 E
(3 A 4) B

(4) None of these

Direction : (Question No. 32 to 34)

In the following questions, which of the

answer figures (1), (2), (3) and (4) will

complete the picture matrix ?

32.

1|/

] ?

0

®

(1) 2)

N

/
AN
®3) % (4)

¢

NMMS-NOV-2022

(11)

30.

31.

32.

e -
Frefafad geq # SOv eepRerEt (1),
(2), 3) X (4 #F & HA-W T
= ofege (Afge) & g HaT ?

el SUBIIRD® I H 8 7
1) A @) E

@) C (4) T q g
B IH H 999 FST7 8 7

1 C @) E

(3) A 4) B

(uT dEm 32 | 34)

1|/ |—
=
=
(D% (2)i
(3)% (4)%

P.T.O.
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33. O

a=le

(1)

@)

A
£
2

)
o)

34 00|00 |(0 O
e R
A |laaalAAn
Lo o o I s I | Q
AA [AAA
L ] 0
2
Fa
o]
M 1A @ |ana
o o0¢C 00
3 4
A A A

NMMS-NOV-2022
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33.

O
-~ PO

(1)

2)

3)

34 O 00|00 |0 O
|8 A
Fa AAAIAAA
O 00|00 [#]
AA |AAA
[+ ] %]
2
M
o]
@D (AA @ |IAA
0o0o0 co0o
(3) 4)
A A A

Downloaded from cclchapter.in




35. Which letter will be seventh to the
right of the seventh letter from the
left of the English alphabet ?

1) N @ M
3) G (4) T

Direction : (Question No. 36 to 41)

In each of the following figures number
are written according to some patterns.
One number is missing. Find the

missing number that replace the
question marks (?).
1 4 2 3 2 1
36.
8 27 ?
6 4 8 7 9 9
(1) 27 (2) 64
(3) 216 (4) 125
37.
Q) 7 (2) 10
3) 12 4) 9
38. m
8 5
11
12 6
48 9
? . 3
21 14
(1) 8 (2) 4
(3) 30 (4) 60

NMMS-NOV-2022

(13)

Cc

35. SAUSH oA & 9@ 9§ A
38T & =0 gradl 378 Hi-dr
R 7
(1) N
3 G

feer @ (99 demr 36 9 41)

= & T gds etefa # uw MiEd
FH OAJER HB gee e T g
TTH 9 U de g9 2 W a@en
S B, S g e (7) & ' W

@) M
4) T

SUged Bl |

1 4 2 3 2 1
36.

8 27 ?

6 4 8 7 9 9

(1) 27 (2) 64

(3) 216 (4) 125
317.

(1) 7 (2) 10

(3) 12 4 9
38. m

(1) 8 (2) 4

(3) 30 (4) 60

P.T.O.
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C
39. 13 14 182
15 ? 195
17 19 323
(1) 13 2) 17
(3) 11 4) 21
40.
0 4 6 7 n g 18
28 ? T4
3 5 8
(1) 24 2) 31
(3) 28 (4) 46
41. -
14
7
5 8
7 15
17
1) 3 2) 9
3) 19 (4) 25

Direction : (Question No. 42 and 43)
In a certain code language

(1) ‘tip ja pul’ means ‘ tomato is red’

(2) ‘pul sur mat’ means ‘red and green’

(3) ‘mat tip jir means ‘green is tasty’

42. In that language which word is

written for ‘tasty’ ?
(1) mot (2) sur

(3) tip (4) jir
NMMS-NOV-2022

(14)

39. 13 14 182
15 ? 195
17 19 323
(1) 13 ) 17
(3) 11 4) 21
40.
0 4 6 7 n g 18
28 ? T4
3 5 8
(1) 24 (2) 31
(3) 28 (4) 46
41. o
14
7
5 8
? 15
17
1 3 2 9
(3) 19 (4) 25

feer @ (997 demr 42 ud 43)

fepdl 9= e A |

(1) ‘tip ja pul’ @T 37T ‘ tomato is red’ &
(2) ‘pul sur mat’ &7 37 ‘red and green’ &

(3) ‘mat tip jir’ T 37T ‘green is tasty’ &

42. IO 9T F ‘tasty & @ H-4r

g% fomam = B 7
(1) mot (2) sur
(3) tip (4) jir
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43. In that language which word is
written for ‘tomato’ ?

(1) ja (2) pul
(3) mot (4) tip

Direction : (Question No. 44 and 45)
In the following number/letters series
find the number/letter which is wrong
according to the series.
44. 17,12, 20, 31, 46, 62

(1) 46 (2) 62

3) 31 (4) 12

45. C,E,I,P,W

1) E 2 W
3) P 4 1

46. How many triangles are in the
given figure ?

(1) 16 (2) 8
(3) 24 4) 10

47. Reaching the meeting place 15
minutes before 5 : 00, Asim came
to know that he had arrived 30
minutes before the one who was 50
minutes late. Tell what was the
scheduled time of the meeting ?

(1) 5:15 (2) 4:45
(3) 4:25 (4) 6:05

NMMS-NOV-2022

(15)

43.

ISCER

Cc

Al 9T H  ‘tomato’ & foQ
HI-A1 U= for@r T B 7

(1) ja (2) pul
(3) mot (4) tip

(I HEmr 44 oF 45)

dE d S GEa/STe el # 98
/AT S B S el &

ATAR TG 2 |
44. 17,12, 20, 31, 46, 62
(1) 46 (2) 62
3) 31 (4) 12
45. C, E,[,P,W
(1) E 2 W
3 P 4) I
46. <1 S STl H BIgS W deE
fepe=it & 7
(1) 16 2 8
(3) 24 (4) 10
47. 5 S5 9§ 15 AT Ysd do |

U YgAd U, ST & I8 HIgH
g3l % a8 50 e X 4 o
I A 9 30 WEe usd el
™ B g Sdsd % 9ok @
eiiRa a9 == e ?

(1) 5:15 (2) 4: 45

(3) 4:25 (4) 6:05

P.T.O.
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48. If white is called green, green is
called black, black 1s called red
and red is called yellow, then what

is the colour of blood ?
(1) Red (2) Black
(3) Green (4) Yellow

Direction : (Question No. 49 to 51)

In each of the following questions the
first
relationship. Choose one word out of the
which will

replace the question marks (?), having

two words have a common

given four alternatives,

same relationship with the third, the

pairs are given as follows.

49. Ammeter : Current : : Odometer : ?
(1) Speed

(2) Earthquakes

(3) Distance

(4) Humidity

50. Race : Track :: Cricket : ?
(1) Ground

(2) Stadium

(3) Pitch

(4) Tournament

51. Negroes : Africa :: Sherpas : ?
(1) Japan (2) Tibet
(3) Nepal (4) China

NMMS-NOV-2022

(16)

48. IfE G®Ha H U, BU HI HIE,
HIAT Hl T ST AT hl Giem
FHEl ST 8, O W& H T
HET-TT 8 7
(1) o
3) B8

kst ¢ (I e 49 § 51)

feiRad 9% 99 § Usd & U=
fopdl =7 fRdl e @ um-gER @ qdfed
g1 Ry w I foedt § @ ws Q&
g YA Sl gsarEsw e () & e
gy ST §hal & AR R sE § @l
e He 81, e 39 TR ’u ¥

(2) I
(4) dia

49. STHIEY : fagaarT : : SeHeT : ?
(1) i
(2) I

3) gl
(4) =T

G IF o Tee ;7
(1) TSs

(2) wieaw

(3) fo=r

(4) AHE

50.

IR ;ST
(1) Smar=
(3) A9t

Rar : ?
(2) fasaa
(4) ==

51.
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(17) C

Direction : (Question No. 52 and 53) ISEL (LTQ:T &1 52 T 53)
In the following questions, choose a MHleRaa 999 # I el § 9 T®
figures amongst the four alternatives 3T ﬁ, B S ofpla (X) &l us+
which when placed in question mark (?) e (?> F TE UT @I AT ar Jed
space of figure (X) would complete the qa Bl ST |
pattern.
52. 52.
7 7
(X) (X)
/ / / 4
m [ @ |47 W [ @ |47
v v
@ 77 @ |7 @ 77 @ |7
Ve Ve
53. 53.
? ?
(X) (X)
(1) (2) (1) 2)
(3 (4) 3) (4)
NMMS-NOV-2022 P.T.O.
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C (18)

Direction : (Question No. 54 and 55). fdsr ¢ (I @& 54 ©d 55)
Select the mirror image of the given & TE TR /8= (X) <l Fuor gferfeie
figure/word (X). ﬂﬁm |

54. 54.
| |
) )

(1) ?Z () JZ (1) ?Z () JZ

— —

3) ?Z () Fzrﬁ 3) ?Z () FZTZ

55. MALA&’)ALAME 55. MAL%ALAME
(1) MALAYALAM (1) MALAYALAM
(2) MAJAYAIAM (2) MAJAYAIAM
(3) WVI'VAVIVIN (3) WVIVAVIVIN
(4) MArAYArAm (4) MArAYArAM
Direction : (Question No. 56 and 57) s ¢ (usH Eemr 56 T 57)

Select the water image of the given SIS guiHEer iR el & fRu g
combination of English alphabet and BEIEREE IR SECIGIEE] gﬁlﬂl

number.

56. A1TM3b 56. A1TM3b

(1) VLILIN3P (2) VIA3P (1) VIWN3P (2) VIN3P

(3) VIN3P (4) VINEP (3) VIIN3P (4) VINEP
57. E8t4e9C 57. E8t4e9C

(1) 381keRD (1) 381he€D

(2) E81hoRD (2) E81poRD

(3) d8irab6C (3) d8i¥ab6C

(4) E8itedC (4) E8i¥edC

NMMS-NOV-2022
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Direction : (Question No. 58 and 59)

The given figure (X) is followed by four
figures (1), (2), (3) and (4), such that (X)

1s embedded in one of them. Trace out

the correct alternatives.

58.

59.

60.

Al

(X)
M @)
® | @ |
>

(X)
M @ © | B
G | 2 @ 8=

How many digits are there in

writing the numbers from 1 to

100 ?
(1) 198 (2) 192

(3) 99 (4) 100

NMMS-NOV-2022

(19)

R :

(w7 &Er 58 wd 59)

o & e (X)) 3 =E (1), (2), (3)
MY (4) H 9 usp & ukomw B, AfF
X) =@ 9 fFer uwes #§ fRa 2

UG feehed i U= X |

58.

59.

60.

Al

(X)
M @)
® |l @ |
>

(X)
M @ @ | B
G | 2 @ 5=

1 9 100 T GeEAr foe- | &
fepe ofeh =i 7

(1) 198 (2) 192
(3) 99 (4) 100

P.T.O.
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61.

62.

63.

64.

If the word “EARTH”
written as 51928, then how can
the word “ORBIT” be written in
that Code ?

(1) 15182
(3) 58290

can be

(2) 69289
(4) 69292

If the word “FLOWER” can be
written as “GNRXGU”, then how
the “FATHER” Dbe

written in that code ?
(1) GCWIGU
(2) FCXGUW
(3) FDWIGU
(4) GCXUGW

can word

How many times do the hands of a

clock meet each other in 2 days ?
1) 11
(2) 44
(3) 22
(4) 33

If the word “HEAD” can be written
as JDCC, then how can the word
“NOSE” be written in that Code ?

(1) PNUD
(2) NPSD
(3) QOST
(4) QMSE

NMMS-NOV-2022

(20)

61.

62.

63.

64.

e “EARTH” <=8 &I 51928
for@ar Srar 2, @ “ORBIT” S5 bt
THl s H fp9 e fm@r S
Tehar & °?

(1) 15182 (2) 69289
(3) 58290 (4) 69292
i “FLOWER” =% &l
“GNRXGU” forar <ar 28, o

“FATHER” < &l @&hls H p9
UehI for@r ST 9ehat & °

(1) GCWIGU
2) FCXGUW
(3) FDWIGU
4) GCXUGW

& R B a6 g
q ot I faear 8 ?
1) 11
@) 44
(3) 22
4) 33

TH-FX

gic “HEAD” 9= @ JDCC fo/ar
ST 8, a1 “NOSE” 9== &l &t &S
T fohe U forar ST Gehar B 7

(1) PNUD
(2) NPSD
(3) QOST
4) QMSE
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Direction : (Question No. 65)

In the following Question, select the
option showing the main figure (X) after

rotation.

65. %

X)

A o <K
®) W @ %

66. A man starts walking towards

(1)

west, after walking some distance
he turns 135 degree left of the
direction of walking. In which

direction is he going now ?
(1) North-East
(2) North-West
(3) South-East
(4) South-West

67. Chirag’s birthday is on Tuesday 29
May. If Sahil was born on 17th
November, then on which day of
the week will Sahil’s birthday be
in the same year ?

(1) Tuesday (2) Friday
(3) Wednesday (4) Saturday

NMMS-NOV-2022

(21)

e

: (9% EEAT 65)

F=fafaa g9 9 goie & 9 g
Rl (X) @ I AT fabed @
T B |

65.

66.

67.

>

X)

M @ @ %
o || %

Teh Al TiReH 3T =<l
URE FAT B, B X a9 B
e g8 oI Hl BT & 135° 9
ey FeAdl 8 | A9 g8 e fasn
Frwre?

(1) SA-gd

(2) IAL-4ig=H

(3) =feror-gd

(4) =feror-uis=H

RET &1 SR @A 29§73
H Tl I’ @A @& = 17
TEEIX w oBAT AT, A A AN
e Bl SHieT 9<e & e
f& 2rm ?

(1) HTIa (2) THATX
(3) gHaX (4) e

P.T.O.
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68. In a class of 73 students, the rank
of Rahul is 24th from the top.

What 1s its sequence from the

bottom ?
(1) 50th (2) 51st
(3) 52nd (4) 49th

69. Sunil is eighth from both the ends
in a row. How many total students

are there in the row ?
(1) 16 (2) 15
3) 17 (4) 14

70. On reaching a meeting place on
Sunday, I learned that I had
reached 2 days before the
scheduled day. If I reached there

on next Saturday, how many days

would I have been late ?
(1) 4 days (2) 3 days
(3) 1day (4) 2 days

Direction : (Question No. 71 to 73)
In these questions, a number series is
given with one term missing. Choose the
correct alternative from the given ones
that will complete the series.
71. 11, 8,16, 12, 36, 31, ?
(1) 155 (2) 124
(3) 62 (4) 108

NMMS-NOV-2022

(22)

68.

69.

70.

R :

73 Taemeit 1 uh e H A B
HH SHIT T 2441 3| AT F IHH
HH FT B ?

(1) 50at (2) 51dt

(3) 52t (4) 49at

gl % U dieRT | a0 Rl |
gar T 21 4R H ogma feaw
BE 8 7

(1) 16 @) 15

(3) 17 (4) 14

AR &H Th GHAT H T 9T
Teame e S fe H o faifa
fed & <1 o gd & 989 T g
gie ¥ Sl sfvER & ggf
geaar, o feam e fada @
Sar 7

(1) 4= (2) 3fe=

(3) 1= (4) 2T

(qe7 &&= 71 | 73)

T gsAl H Uk 9en gEer & T8 R
Sed o T gu 21 Ru Tu el o
9 gg fabed geT SoSEer HOg

71.

=l

11, 8, 16, 12, 36, 31, ?
(1) 155 (2) 124
(3) 62 (4) 108
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72.

73.

74.

75.

76.

4, 10, 22, 46, ?
(1) 92
(2) 66
(3) 68
(4) 94

28, 23, 19, 16, 14, 13, ?
(1) 12
2) 11
(3) 10
(4) 13

If X means +, Y means —, Z means
+~ and P means X, then find the

value of 10P2 x 5Y5Z5 :
(1) 24 (2) 10
(3) 15 (4) 20

After sunrise, in which side will be
the shadow of a person standing
facing north ?

(1) Right
(2) Left
(3) It will depend on the person

(4) None of these

If 44 x 12 = 8 and 78 x 22 = 14,
then 81 x9="7°

(1) 18
(3) 45

2) 24
4) 30
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72.

73.

74.

75.

76.

4, 10, 22, 46, ?
(1) 92
2) 66
(3) 68
(4) 94

28, 23, 19, 16, 14, 13, ?
1) 12
@) 11
(3) 10
4) 13

gie X &1 A +, Y @ A —, Z
Fr T + X P H 37l x TN
S, af 10P2 x 5Y5Z5 &/ |
ST ShIfSTY
(1) 24
(3) 15

(2) 10
(4) 20
e & 9|’ IO B AR g«

Fh TS hdl AR H BMEAT
e ofIX S99 1 7

(1) &

(2) &

(3) @& AfrT ¥ MY w3
(4) 15 4 Hg &

afd 44 x 12 =8 3T 78 x 22 = 14
2, al 81x9="?
(1) 18
(3) 45

2) 24
4) 30

P.T.O.
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Cc (24)

77. How many cubes are there in the 77. & S oTgia H fhaw 1 B 7
given figure ?
(1) 14 (1) 14 2) 11
(3) 15 (3) 15 (4) 12

78. The position of how many digit in 78. HE&AT 7214658 H fRA SR
the number 7214658 will remain E 39 &0 & Ah Hl ATUS!
the same after changing the digits HH H d&ad H 9] Th THH
of this number in ascending order ? = 7
(1) 4 2) 3 (1) 4 2) 3
(3) 2 4) 1 (3) 2 4) 1

79. Pooja  remembers that her 79. gSI F TE T 6 IS HT H
mother’s birthday is after 16th ST 16 & d% 3l 22 d
and before 22nd while her brother % Jsd 8 Sdih 39% qE Hl TS
remembers that her mother’s 2 6 Saa A1 &1 Sl 20 &
birthday is after 20th and before & q1 25 I & Ued 2| g%
25th. If both the information is aT-ﬁ P SAEHR el B, al IAH!
correct then on what date are his HT &l ST fpg arie & 8 ?
mother’s birthday ?
(1) 20 (1) 20
(2) 19 (2) 19
3) 21 3) 21
(4) 23 (4) 23

80. If 13+ 7 =109 and 14 + 6 = 408, 80. I 13 + 7 = 109 37X 14 + 6 = 408
then 17+ 5=? g, A17+5=2
(1) 22 (2) 508 (1) 22 (2) 508
(3) 85 (4) 345 (3) 85 (4) 345
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Direction : (Question No. 81 to 85)

125 Cubes of side 2 cm are put together
to form a bigger cube. After this each
surface of the big cube is painted red.
After colouring all the small cubes are
separated. On this basis answer the

following questions.

81. What will be the length of each
side of the larger cube formed
after all the smaller cubes are put

together ?
(1) 8 cm
(2) 4cm
(3) 6cm

(4) 10 cm

82. How many such small cubes will
be there which will have red colour

on only two surfaces ?

(1) 24 (2) 8

(3) 36 4) 12

83. How many such small cubes will
be there which will have red colour

on only three surfaces ?
(1) 12 (2) 24
(3) 54 4) 8
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(25)

fdsr @ (997 Hear 81 | 85)

2 GHI. YST 125 =91 H TH-A1
EGhHT U dS1 EFTWT“‘IICII%l%H%
g% 98 99 &l U&e dds UX A T
fFar Strar 31 7 HE B 9| 94 8l
gl Bl ST - AT HY f&AT ST B
29 SR IR MHARIRad 9991 & 3%
EUS L

81. @l BIC &I H TH-ATT W& &
e g9 g8 "9l Ucdeh ol
(FPAR) &1 @ I 8fl 7

(1) 8 |
(2) 494
(3) 6@H
(4) 10 9+
82. UH fhad ®IC =9 BH 59
Had & Fde 9T Al T B8R 7
(1) 24 2 8
(3) 36 (4) 12
83. UH fhad ®IT =9 B A%

FHad q9 dGdel 9¢ a3

R ?
1) 12 (2) 24
(3) 54 4) 8

P.T.O.
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84.

85.

86.

817.

How many such small cubes will
be there which will not have red

colour on any of its surfaces ?
(1) 27 (2) 36
(3) 24 (4) 25

How many such small cubes will
be there which will have red colour

on only one surface ?
(1) 36 (2) 54
(3) 16 (4) 48

If a person was born on last day of
February in 1980, then how many
birthdays will be celebrated till

November 2022 ?
(1) 42 (2) 41

(3) 10 4) 11

At what time will the hands of the
clock be in a straight line between
8 : 00 and 9 : 00 but not coincide ?

1 8: 1%
11
@ 8: 102
11
3) 8:16-+
11

@ 8: 122
11
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84.

85.

86.

817.

oe e Bl == BN R
fpEl Wl @de WX A [TOABT
BT 7
(1) 27
(3) 24

2) 36
4) 25

0y fhad Bl 9 BN s
Had Th dde 9% A T B8R °

(1) 36
(3) 16

(2) 54
(4) 48

e fpdl AR &1 ST 1980 &
®HEdl HEM & SifaH o ger,

T 2022 A% a8 (A
ST HE QT ?

(1) 42 2) 41

(3) 10 4 11

8 X 9 I & = fopd THT =HSI
H A gRAl uw Al Y@ o
BN g @Il el ?

1 8: 12
11

@ 8: 102
11

3) 8:16-+
11

@ 8: 122
11
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Direction : (Question No. 88 and 89)

Study carefully the given series and

Answer the following questions.

4WP#K38% &5QGS1$UNI25@«68

88. How many such numbers are there
in the given above series each of
which is immediately followed by a

letter and immediately preceded by

a symbol ?
11 (2) 0
3) 2 4) 3

89. How many such symbols are there
in the given above series each of
which is immediately followed by a
letter and immediately preceded

by a number.
(1) 2 2) 3
3) 1 4) 4
90. A couple has 5 married sons, each
of whom has three children. How

many total members are there in

this family ?
(1) 25 (2) 26
3) 27 (4) 12

NMMS-NOV-2022

(27)

feer : (Is7 e 88 wd 89)
F=fdfad et 1 eamyes AT
F AR A R{RE T4 gsq & I 2 |
AWP#K38% &5QGS1$UNI25@68

88. & T TUgE cfEer H U
g dE T ST iR gRA ued

T Ueiieh T B 7
1 1 2 0
(3) 2 4) 3

89. ¥ M IuYgE HEar H TH R
ucies 8 fSH Ueeh % JRA 9
Th X B AN Jd dBd Th

e § 7
1) 2 @) 3
3) 1 4) 4

90. FREl =i & 5 foamied 9o €
e 8 @%@ de-dE =
g1 39 URaR H FHA Frad @el
g7
1) 25 2) 26
(3) 27 (4) 12

P.T.O.
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(28)

PART - II (T - II)
SCHOLASTIC APTITUDE TEST

Aferer arar gderor

Questions : 91 to 180

91.

92.

93.

94.

95.

What 1is the retirement age of
Supreme Court Judges in India ?

(1) 58 Years
(3) 62 Years

(2) 60 Years
(4) 65 Years

What was the ritual performed in
Ancient times before attaining
education ?

(2) Gharbh
(4) Gurukul

(1) Upnayan
(3) Jatak

If the weight of 12 sheets of thick
paper is 40 gms, how many sheets
of the same paper would weigh
2500 grams ?
(1) 750
(3) 850

(2) 800
(4) 950

Which of the following is a water
related disease ?

(1) Eye Flu
(3) Malaria

(2) Cholera
(4) Plague

The
implemented Subsidiary Treaty in
India ?

(1) Lord Dalhousie

(2) Lord Banting

(3) Lord Dafrin

(4) Lord Wellesley

Governor General who

NMMS-NOV-2022

91.

92.

93.

94.

95.

Time : 12 Hours

IRa H e |Oed &
I fhel STg U Qerigd
e g ?
(1) 58 a¥
(3) 62 a¥

U i § e uia 9 9ed
RaT ST aTaT 9% hIX o -

(2) 60 T
(4) 65 a9

2) T
(4) THHA

gie Hie HETST &I 12 [fie &I
aot 40 O™ 2, ar faha-in sfie &r
aoi 2500 T BRI ?

1) I9TIH
(3) Siraes

(1) 750 (2) 800

(3) 850 (4) 950
fefefea & 9 S9-91 SH0
g O gt B 7

(1) sTE-w1  (2) &=w

(3) HATT (4) <

ARA H Herd® aiYg ARl i

IIAT TIHT STHIA i o7 ?

(1) <€ sARIS
(2) @ dfeT

(3) @E THIRA
(4) @2 IrsT
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96.

97.

98.

99.

100.

Out of the

industry is secondary activity ?

following which

(1) Tourism
(2) Fishing
(3) Agriculture
(4) Coal mining

Which crop is referred as “green
gold” among the following ?

(1) Coconut
(3) Tea

(2) Sugarcane
(4) Coffee

How can we reduce environment
Pollution ?

(1) By using diesel cars

(2) By using CNG Kits in vehicles

(3) By using petrol cars
(4) All of the above

Who implemented the free trade
policy in India ?

(1) France

(2) Germany

(3) Japan

(4) Britain

The force applied on a body :
(1) May change its shape.

(2) May change the velocity of
moving object.

(3) Only (1) is true.
(4) Both (1) and (2) are true.
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96.

97.

98.

99.

100.

C

1 § 9 @d9-ar =T facias
nfafafer &

(1) gded IR

(2) 7 gree

(3) JW

(4) HIAT @A I

M= wadl § 9 R wEd
T Mes’ FHal oer 8 °?
(1) =g (2) =T
3) =TI (4) HIHr

gEReT UgWeT & BH &d Uk

e & °?

(1) SIS BRI & JANT 8T

(2) aEAl # o THo Sio fhe &
JART &RT

(3) ST BRI B TANT &

(4) IURTRT |l

o AR I @l 9Rd H AL
fpar ar 7
(1) ®HE =
(2) STHAT =
(3) S A
(4) forest =

fepdl &g 9 S arelr o -

(1) a&g @& Al J aRad=r
ThaT B

(2) TSN axg & a9 H uRedd
AT FhaT B |

(3) Faa (1) I 2|

(4) %Gq'aa?r (1) T (2) AT AT

|

P.T.O.
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101.

102.

103.

104.

105.

The transparent front part of
human eye is called :

(1) Cornea (2) Iris

(3) Optic Nerve (4) Retina

Which gas causes global warming ?

(1) Oxygen

(2) Sulphur dioxide
(3) Carbon monoxide
(4) Carbon dioxide

Which property of COz makes it
suitable to use it
extinguisher ?

(1)
(2)

in fire
It is lighter than oxygen.

It increases temperature of the
fuel.

3)
(4)

It is heavier than oxygen.

It contracts in volume when
released from cylinder.

In which Buddhist Text
Mahajanapadas are given ?

(1) Bhagwati Sutra
(2) Upanishad
(3) Angutar Nikay
(4) Mulachar

16

In the Rayatwari system the rayat

was called :
(1) Farmer
(2) Labour
(3) Zamindar
(4) Jagirdar
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101.

102.

103.

104.

105.

Mg 99 & 9RESH ST 9TFT
FHeT ST 2 |

(1) Hif~aT (2) gRarent
(3) UpIAeh TR (4) e

HIF-T T TS T T BT
EES|IE-

(1) St

(2) ITHT SBIHFAES
BEIERRIRISIESIES

(4) HET SEATFIAES

......

COz &I HF-AT Yo7 30 AFAAHR
451 H SUANT HA & U SugEd
AT B 7

(1) T8 AR & & hl ¢ |

(2 T8 a9 & AUHNE H @l
=4

(3) T AT & 9T 2|
(4) sy 9 Moad X J@ ==
H THger B |

g S o7 H 16 HeHual &
farazor fear & ?

(1) et g

(2) IUTT9g

(3) AR eprT

(4) =R

oAt Faem H YT Hal Sl
or

(1) Rram ot

(2) ASTEX <l

(3) STHIEX i

(4) SIHTRER &l
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106.

107.

108.

Match the following as per their
relation with the following phrases :

(A) Terrace (1) Protection from

farming soil waste
(B) Inter - (11) Reducing
cropping surface run-off
(C) Contour (i11) Prevention  of
ploughing water flowing

down from slope
(D) Shelter belts (iv) Prevent gullies
(E) Mulching (v) Checking wind
movement
(F) Rock dams (vi) Retaining
moisture from
soil
(1) AQ), B(v), C@), DGi1), EGv), F(vi)
(2) A@), BG), C@av), D(v), EGi1), F(vi)
(3) A@), BG), Caii), D(v), E(v1), F@iv)
(4) A(v), B(v1), C@i), DGi1), EGv), F@)

Which of the following is correct
about “Ramsar Sites” ?

(1) Bhindawas Wildlife Sanctuary
and Sultanpur National Park

Thol Lake Wildlife Sanctuary
and Vadhvana Wetland

Bhindawas Wildlife Sanctuary
and Vadhvana Wetland

Sultanpur National Park and
Thol Lake Wildlife Sanctuary

@)

3)

(4)

Low lying areas
susceptive to ............. .
(1) Landslides

(2) Flooding

(3) Earthquakes

(4) Tsunami

are  very
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106.

107.

108.

Cc
Frefciad ol & "™ S5
G & AFAR 7T 1 BT Y

A) d@idigar () Bed @ i
Tt et 8 TE
(B) Sfd¥ ®Ed (i) @de 9 SudE

T HH HIAT
(C) =g Jars (il) ST H A=
T | I
(D) T&M 9eer  (iv) TAIrEr Bl AR
(E) 9qamr (v) 81T & A
eIl
(F) 6 =y (vi) et s =4l
A AT

(1) AQ@, B(v), C@), D), EGv), F(v1)
(2) A@), B@), C@av), D(v), EGi1), F(v1)
(3) A@), B@), CGi1), D(v), E(vi), F@v)
4) A(v), B(v), C@r), Di1), EGv), F@)

Frfeiad & =-91 SO @& e ?

(1) NHeEE™E el A9IReT g
I T IEA

(2) O A FESIg AFMIARTT J
AT SAEHH

(3) [HeE™E gsig IR 49
AT SATEHH

(4) GeagR TST IgqM 9 o
EISECESIERCERIEE]

ISEKER-NICY
arfa daeAsha 8 2 |
(1) JgEaaT

(2) =18

(3) 94

(4) G

............

P.T.O.
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109.

110.

111.

112.

113.

Who is
Sikhism ?
(1) Guru Har Ray

(2) Guru Har Kishan
(3) Guru Teg Bahadur
(4) Guru Hargovind

called Bal Guru 1in

What was the Provinces called in
the Chola Administration ?

(2) Country
(4) Mandal

(1) Province
(3) Nation

Topography means :

(1) The physical characteristics of
an area of land especially the
position of its rivers, mountain
etc.

(2) Description of land, air and

celestial bodies

(3) Description of air of an area,

mountains and celestial bodies
of

oceans, rivers of an area

(4) Description mountain,

From which mineral silicon is
obtained out of the following ?

(1) Coal (2) Bauxite

(3) Thorium (4) Quartz

Who introduced the rule of law in
India ?

(1) Mahatma Gandhi

(2) Mughals

(3) British Colonialists

(4) Hindu Kings
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109.

110.

111.

112.

113.

g g1 H T T fRE e
SICIE-I

1) T& e}

(2) & EXhH

(3) T& TTERIGY
(4) TE BUNE=

T IATAT H Ul hl HaT SIdr
or v

(1) = (2) T
(3) I~ (4) HUSA
STATHT T et ©

(1) FpEl 9 & &= @&l YTepiaeh
fauam afe=y, gdar enfe i
ERIFARSKIERI

(2) q¥, BT g SAERIT [USi @
ferereoT

(3) ThEl & &I =arell, ST
St a gaal &1 faeer

(4) el &= & uedl, yal, A
CANCCEL

M= d 9 fea g @ e
g glar & 7

(1) I RCIESIES]

(3) A= (4) T geerx
AR H BT H AT
g&A b w7

(1) HerHET e

(2) gt

(3) fafesr Iufvash

(4) g o
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114.

115.

116.

117.

What do you mean by FIR ?

(1) First Information Report

(2) First Information Commission
(3) First Knowledge Commission
(4) All of the above

For which river the word 'Indus'
was used in India ?

(1) Ravi (2) Ghaggar
(3) Sindhu (4) Satluj

Which of the following is a private
sector industry ?

(1) Hindustan Aeronautics Ltd.
(2) Tata Iron & Steel Industries
(3) Steel Authority of India

(4) National = Thermal  Power
Corporation

Match  the following  park/

sanctuary with correct bird/

animal given below :
Animal/Bird Place/National

park/Sanctuary

(A) Elephant (1) Kaziranga

(B) Tiger (1) Periyar
(C) Lion (111) Dudhwa
(D) Rhino (iv) Gir

(1) A@), B@Gy), CGiy), D@Gv)
(2) AQi), B@a), C@av), D@Ay)
(3) AQ1), B(i), C@av), D@)
(4) A@v), B@1), C@i1), D@)
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114.

115.

116.

117.

C

THo g0 3IRo (FIR) & &9
FT TS B 7

(1) 9\ gaar Rare

(2) 9&H AT SA™RT

(3) IIH IH AN

(4) IYAFT G4l

FeH q=| ARG &I fhE A& B
o ggerT fomam mar B 7

(1) (2) TEX

(3) T&y (4) FagT

= & 9 @9, e aF @
IEART B ?

(1) FegEm™ wiHfesd fqffds
(2) TTET AEA T & IERT
(3) I AR ST e

@ Tt A faga e

T g /dierEl @ S STHARY
% A gl e i

qg/qeit M /T
S /ARG
(A) =it eSS
(B) = (i) IRIR
(€) T (iii) geram
(D) @ AT AT (iv) TR
HE

(1) A(), BGi), C(ii), D(v)
(2) A(ii), Bd), C(iv), D(i)
(3) A(i), B(ii), C(iv), D()
4) A(v), B(i), C(ii), D)

P.T.O.
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118.

119.

120.

121.

Which American Company 1is
responsible for the Bhopal Gas
Tragedy ?

(1) Ford

(2) Pepsi

(3) Wipro

(4) Union Carbide

Who i1s the Chairman of Rajya
Sabha ?

(1) Prime Minister of India
(2) President of India
(3) Vice-President of India

(4) Finance Minister of India

In which year the law against
Child Labour was implemented ?

(1) 2001 (2) 2003
(3) 2005 (4) 2006

Match the following List-I to I1 :

List-I List-I1
(A) Land use (1) Prevent soil
erosions

(B) Humus (11) Land suitable
for agriculture

(111) Production use
of land

(D) Arable land (iv) Organic matter

deposited on

(C) Rock dams

top soil
(1) A@), B@Gi), CGii), DGv)
(2) A@ii), B@av), C@), D@1)
(3) A(v), BGii), C(Gi), DG)
(4) A@Gi), BG), C@Gv), DGii)
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118.

119.

120.

121.

HT-G1 STARERT HUAI NIT T
Sl &% T IAErR 8 7

(1) ®rE
(2) gl
(3) fermn
(4) IFET FHEiES

ST AT &I FHIIT i BT 8 °?

(1) 9RA &I gL
(2) AT 1 IsgAfT
(8) R T JU-TSEURT
(4) 9T &1 faa =530

I oH & Raah AfaEw [he
Y r] feRar =T v

(1) 2001 (2) 2003
(3) 2005 (4) 2006
-1 1 I § gAafer Hifsig
G-I gE-11
(A) -39 () faedt & Hea
T 6T
B) /@Sl (i) BT IugrT
fred =
(C) T & (iii) 9fF =1 Sfa s
IdEH ST
D) FW AT (iv) FEE  gard
g 1 STHII

(1) A@), B@Gy), C(ii), D@v)
(2) AQu), B@av), C@), D@A1)
(3) A@v), B(i1), C@G1), D@)
(4) AQ), B@), C@v), D(Gi1)
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122.

123.

124.

125.

126.

127.

Which of the article of Indian
Constitution is related to abolition
of untouchability ?

(1) Article 17 (2) Article 18

(3) Article 15 (4) Article 16

When did the Constitution of India
come into force ?

(1) 15 August, 1947

(2) 26 November, 1949

(3) 26 January, 1950

(4) 9 December, 1950

What is the process in which minerals
lying near the surface are dug ?

(1) Drilling

(2) Off — Shore drilling

(3) Quarrying

(4) Extraction

Which of the following is not an
example of polymer ?

(1) Cellulose (2) Glucose

(3) Nylon (4) Starch

When did Neil Armstrong landed
on surface of moon ?

(1) 20 July, 1968

(2) 21 July, 1968

(3) 21 July, 1969

(4) 22 July, 1969

The range of audible frequencies
for human ear is :

(1) 20 Hz to 200 Hz

(2) 20 Hz to 2000 Hz

(3) 20 Hz to 20000 Hz

(4) 20 Hz to 200000 Hz
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122.

123.

124.

125.

126.

127.

C
IR 1 k1 o B o I o o 1
Y=V STEgAT  (gOTEd)
U B O defed g ?
(1) eTg=sT 17 (2) Tg=me 18
(3) oTg=8= 15 (4) 3TJ=8= 16

ARAE  Glaa @ Arp A
T ?

(1) 15 STTEd, 1947

(2) 26 FT=, 1949

(3) 26 STEaRl, 1950

(4) 9 TRE=R, 1950

Ie H-9 gtk ¥ 5eH 9ag &
g 92 @St @l @IaT Sier 8 °
(1) T/ FAEAT/q9T

(2) qAET JquT

3) I

(4) Fr=pyoT

e § & %9 9ga®
JerER 7& T ?

(1) IS (2) TIHS
(3) AT (4) T

T STHEET 3 T=HT U9¥ Had
e @ 7

(1) 20 JIE,
(2) 21 ST,
(3) 21 ST,
(4) 22 SIE,

CINCHCTE NG S L C T BRI O
P UH T -

(1) 20 Hz & 200 Hz

(2) 20 Hz & 2000 Hz

(3) 20 Hz & 20000 Hz

(4) 20 Hz ¥ 200000 Hz

FT

1968
1968
1969
1969

P.T.O.
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128.

129.

130.

131.

132.

Which indicator gives pink colour
in basic solution ?

(1) Methyl Orange

(2) Red Litmus Paper
(3) Phenolphthalein
(4) Blue Litmus Paper

Which acid
sting ?

(1) Formic Acid
(2) Acetic Acid
(3) Lactic Acid
(4) Oxalic Acid

1s present in Ant

Which metal is soft and can be cut
with knife ?
(1) Gold

(3) Calcium

(2) Sodium
(4) Copper

When a cracker is ignited, a
sudden reaction takes place with
the evolution of heat, light and
sound and a large amount of gas is
formed in the Such
reaction is called :

reaction.

(1) Explosion
(2) Rapid combustion
(3) Spontaneous combustion

(4) Slow combustion

Which of the following statement
about metals is true ?

(1) Oxide of magnesium is basic in
nature.

(2) Sodium and gold are metals
that can be cut with knife.

(3) Mercury is the lightest metal.

(4) Zinc can’t replace copper from
copper sulphate solution.
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128.

129.

130.

131.

132.

HI-A1 Gereh g foeta | e
[ AT E ?

ORERIESEEIES]

(2) @ feews qux

(3) HAITHATTT

(4) e ferewd 99T

I & SH H HA-AT T ASE
BT 8 7

(1) ®ifHs T

(2) TEHT 3T

(3) dAfFesp o

(4) oTferafeTes ST

HI-HT &g TXH Bl @ AR =g
q PIEl ST Thell B 7

(1) &= (2) |ifsaw

(3) Bicwaw (4) drsm

S Uk YTl Usdiqd [hdr STran
2, A Up S UldahAr Bk
21 =g ufafear § Sw, g,
o1 BIC= 1 £l Y | =1 M= B e M s 1
2| T ufafsean weart 2 ¢

(1) faehe

(2) dig &8A

(3) HEq: T&d

(4) &= T_ A

argedt & ar # frafafed & |

HT-GT FIT FF & °

(1) FNfe &1 Sfferase uegfa
¥ e 2

(2) g9 IR @FT a8 o1 2
T2 =g | HIeT ST Fehall © |

(3) URT HEH Bh! o1 2 |

(4) i HAT Tehe G | HAT
Rl faeaiue A8t Y |ehall |
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133.

134.

135.

136.

How many dot patterns are there
in Braille system ?

(1) 58 (2) 60
(3) 56 (4) 63

Which number should be added to
49 containing the same digits to
make it divisible by 11 ?

(1) 94 @) 9

3) 4 (4) 49

The slow process of conversion of
dead vegetation into coal is called :
(1) Coal formation

(2) Bitumen formation

(3) Carbonisation

(4) Fossilisation

Which of the following statement is
correct regarding carbon farming ?

(1) Involves -cultivation of crop
after clearing/burning forest
till its looses fertility and
provide revenue to farmers.

(2) Helps the crop to retain soil
health, reduces  chemical
infiltration into water bodies,
biodiversity

revenue to farmers.

1Increases and

(3) Animal raising practices with
lot of Chemicals in the fields
and fumes earn more revenue.

(4) Small scale farming with old

and cropping

methods with low production.

traditional
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C
I wafr A R Righea S
Sl

(1) 58 (2) 60
(3) 56 (4) 63
49 # = ofHI g hE-dl

e Siel Sw R oas 11 9
e & S ?
(1) 94
(3) 4

Jq a99id & HEaw H  9Radd
F T ufskaT el B

(1) HFAT TS

@) Fagh e

(3) H/IEAIHIOT

(4) STETSHIERTOT

FrEE H QA B TR T OH

HT-9T HA Fer g ?

(1) a& Q@ BEad S @
PIEH /STATBY dh B b
e HOd IME Sl 8 S
dh a8 STFSUSe 9 8l AT
JAqT I8 [haEi Bl A /o
AT B

(2) TEdl & ABd/IYSTHIA bl
IR HX HEA odl © 9™l
It REE & S| dar
¥ u sl 8, J9 fOfgear
B o & S fRaEt &
ST STl 2 |

(3) Uy IAET AR /uem @
Ferar 41, ©dl § IEET h
TANT STaE fREE Sl STl
™ B

(4) BI¢ WX 9 Yl debrileh g
Ao w0 @ a1
3T 2l B

2 9
(4) 49

P.T.O.
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137.

138.

139.

140.

141.

Which of the following changes in
environment may not be possible
due to deforestation ?

(1) Increase n atmospheric
temperature
(2) Increase in water holding

capacity of the soil
(3) Increased chances of flood
4)

Conversion of fertile land into
desert

Who founded Nalanda University ?

(1) Kumargupta
(2) Chandragupta-I
(3) Skandgupta
(4) Harshvardhana

I act as control centre of the
activities of cell. Whoam I ?

(1) Vacuole
(2) Cell membrane
(3) Nucleus
(4) Plastids

Who is responsible for sanitary
conditions in the country ?

(1) Health Minister
(2) Home Minister
(3) Finance Minister
(4) Chief Minister

A plastic used for making floor

tiles, kitchenware and fabric
which resist fire is .............. .
(1) Bakelite (2) PVC

(3) Polythene (4) Melamine
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138.
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141.

aql HI FHeB B PO IrAEIOT H
fr=fafag & @ -9 aRkadq
q9q 78 B ?

(1) argHST qad= J gis

(2) T W S gROT e H
af=

(3) 91¢ &I FHET I¢ Sl &

(4) SIS i h 75T |
FEAT

RIGERCECICEINE G IR G |
oy :

(1) FHHTI

(2) == g=H

(3) TH=Id

(4) BYaEH

¥ wifdesr & gt & HEEer
FE & @ F FHF FHxar gl H
HT g 7

(1) TRferTenT

EEAEEIRESS]

(3) d=H

(4) <ifies

29 W AT Al wl e
HE TEdr g °?

(1) wreeg H531

(2) T& HA

(3) fa==T

(4) geaE=

2 S STFT Rl U &l B |
(1) SaEe (2) dio dio Hio
(3) difereli= (4) AR
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142.

143.

144.

145.

146.

The difference between two whole
number i1s 66. The ratio of the two
numbers is 2 : 5. The two numbers
are :

(1) 60 and 6

(2) 100 and 33

(3) 110 and 44

(4) 99 and 33

Spreading the powder on carrom
board will ............ friction.

(1) increase

(2) decrease

(3) friction don’t change

(4) none of the above

In the Vedic period, there was a
bigger institution than the village ?
(1) Kula (2) Vish

(3) Jan (4) Sabha

18 out of 36 people love reading, so
reading in the pie chart will be
represented by :

(1) 36 degree sector

(2) Quarter sector

(3) Semi circular sector

(4) None of these

Name the given microorganism
and group to which it belongs.

(1) Spirogyra , Algae

(2) Rhizopus, Fungi

(3) Penicillium, Fungi

(4) Chlamydomonas, Algae
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C
A gol el @ T 66 ©
A AR AU 2 : 5 ', &l
- 0%:

(1) 60 =X 6

(2) 100 X 33
(3) 110 =¥ 44
(4) 99 2T 33

FH AT W USsSY BEwd
ST B

(4) IUAFT § q P el

afes o H T A TS GEn
il oy ?
(1) B
(3) =

(2) fasr
(4) |«

36 § O 18 AR YeaT Jd—<
#d E, a1 Ued @ gg =@ H
LT ST -

(1) 36° HIFeX

(2) =rqgAisT HeFex

(3) oTefgw deFeX

(4) 379 ¥ pIs Tl

P.T.O.
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147.

148.

149.

150.

151.

Identify the diagrams given below
and select the relevant option :

Fusing
#  Nuclei

(1) Uterus and Fertilization
(2) Embryo and Zygote
(3) Uterus and Embryo
(4) Fertilisation and Zygote

If each side of an equilateral
triangle is doubled, then its area
becomes how many times ?

(1) 2 2) 3

3) 4 (4) 8

The smallest planet of solar
system is :

(1) Venus (2) Mercury

(3) Earth (4) Saturn

In Medieval India the department of
Diwan-e-wizarat was related to :

(1) Abroad (2) Religion

(3) Revenue (4) Military

During a thunder storm :

(1) Keep moving while holding

umbrella.
)
(3)

Should stand in open ground.
Should move to high altitude
place.

Should sit in bus/ car with its
windows shut.

(4)
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148.

149.

150.

151.

—

(1) e SR SuEe
(2) goT AR FHAA
(3) TS ST PO
(4) M= R grHs

gl uh THag BYgst #H oql
YoTSAT sl T Y f&dr =, o
SRl &=l feha AT TSI 7
D 2 2 3

@3) 4 (4) 8

AR afRar %1 dgaH T8 B -

(2) 9=
(4) <O

(1)
(3) get

eI AR H Eler-T- s
fIorT T o

(1) R (2) &+

(3) ST (4) =

SIESESEIE RGN

(1) BT dAHY ITAT AT |

(2) G WME 9X @S B ST
Sl

B) A T W TA AT
Sl

(4) R8Tl HR A¥ar 99 § s,
XA S HY dodAT Ared |
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153.

154.

155.

156.

The North pole of a bar magnet
exerts a force of ..... on North pole
of another bar magnet.

(1) Attraction

(2) Repulsion

(3) Exerts no force

(4) Can’t be said

Melting of wax is an example of
which type of change ?

(1) Biological
(2) Chemical
(3) Physical
(4) Physical and Chemical both

Tin cans, used for storing food, are
made by electroplating tin on iron

because :

(1) Tin 1s more reactive than
iron

(2) Tin is less reactive than iron

(3) Tin and Iron are equally
reactive

(4) All the above are correct

The Chemical Formula of rust is :

(1) FesOq4 (2) FeO

(3) Fe20s3 (4) FesO2

What is the unit of calorific value ?
1) KJ (2) Kg
(3) KJ/Kg (4) KW

NMMS-NOV-2022

(41)

152.

153.

154.

155.

156.

C

fpdl ©g FrEH H IIU A,
fpdl gaX B gk & IO gd
I T E |

Trel Ul % HSROT & e a9

SM g fEe § AR B U]

feq =1 fagaeed e S ®

FIh -

(1) o9 @' q SHEr  raneia
T B

2) fe7 e 9 &9 Fhadia 8 2

Q) fea Rk =l
ERIEIS SRR

(4) IueFA AT HE B

Y T I R SEY

ST T qEEE G ©
(1) FesOq4 (2) FeO
(3) Fe20s3 (4) FesO2

AN Theh T Sl Shs a7 8 °
(1) KJ (2) Kg
(3) KJ/Kg (4) KW

P.T.O.
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158.

159.

160.

161.

162.

The
retains

image formed on retina

for even after

removal of object.

(1) % second (2) é second
3) 1 second (4) S second
8 16

The vehicles are designed
that :
(1) Fluid friction increase

SO

(2) Fluid friction decrease

(3) Fluid friction don’t change

(4) There 1s no scientific concept
of this fact

Which is the primary component
of natural gas ?

(1) Hydrogen

(2) Ethane

(3) Carbon dioxide

(4) Methane

Ozone layer protects from
which radiations ?

(1) Infrared Rays

(2) Microwave

(3) Ultraviolet

(4) X-rays

Correct value of 13.572 to the
tenth place is :
(1) 10

3) 13.67

us

(2) 14.5
(4) 13.6

The thyroxine production requires
the presence of
necessary to develop tadpoles into
adults.

(1) Copper
(3) Iron

in water

(2) Iodine
(4) Sodium
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e g g1 ufaled, a%g g™
& 9 Al I
TEdT 2 |

1 1
1) Z@Eﬁﬂ—s’ 2) 5

3) %aaaug @ L

qEl aedal & [E9Ed 29 UK

AT S & dreb

(1) == =97 9% SQ

(2) &4 =99 HH & Sq

(3) Y =4 "YU FEl Faardl

(4) 39 TdI AW P  ASNH
RO &1 &

ggfes T @1 iR ek
H-GT 8 ?

(1) BEgIeT

(2) 289

(3) FEA SEATFAES

(4) Hig=

Mo 9Xa &d fopq fafeeon &
T B °?

(1) STadr fBeor

(2) Hrgshiae

(3) RIS

(4) T

LMY TE dk  13.572 H1 Tl
7 2

(1) 10 (2) 14.5

(3) 13.67 (4) 13.6

2eqI H g%k Hesd H faed
FH b T STELTER AERIRAA
% I9Ed b [T 9= H
P IURATT I STEThaT Bl & |
(1) qrem (2) SAEEN

(3) et (4) SfsaH

.........
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163.

164.

165.

166.

The base of a prism is :
(1) Circle

(2) Triangle

(3) Square

(4) Any Shape

Eikansh has
coins, one five rupees coin and two
what

combination should the boy select

two, two rupees

ten rupees coins. In
three coins so the amount 1is

maximum ?

D

Two five rupees and one ten

rupees coins

@)

Three ten rupees and one five

rupees coins

3)

Four two rupees and one ten

rupees coins

(4)

Two ten rupees and one five

rupees coins

The cube of 1 —%is :

1 1

M 1-5 @ 1-o-
8 8

3 o7 4) ~97

Suppose A is a digit, find the value
of Aif 31A + 1A3=501:

1) 8
3) 6

@) 2
(4) 4
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o9 &1 TR BT B

(1) g

2) By

(3) @i

(4) IS 0 AR

THT H U™ &, A B B
f®, Th dra @U@ ferRr
A T TH B H [gFs B
THIT H A GO H A
bl 1 TI9 HIAT =T dlich
AT SAfeeRaH B8l ?

(1) & 9 59T X U &9 99

CANESEST)

2 99 =9 v X TH U=
BUY B [eRBT

(3) I & YUY X UH ad v
CANESEE)

(4) T TT B WX TH dF B9
CANESEET]

1—%%‘[‘&:{@7”1

1 1

M 1-5 @ 1-o-
8 8

(3) o7 (4) ~o7

O oot 6 A Tk 3% 8,

31A + 1A3 = 501 H A & A
BT
1) 8 @) 2
3) 6 (4) 4
P.T.O.
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167.

168.

169.

170.

What is the circle which connects

all the vertices of a polygon called ?
(1) Semi-circle

(2) In circle

(3) Outer circle

(4) Circum circle

Loudness is determined by the

.............. of vibration.

(1) Amplitude

(2) Noise

(3) Frequency

(4) Wave

What is the volume of the cuboid

of length 8 xy, breadth 3 xy and
height xy ?

(1) 24 xy2
(2) 24 x2y
(3) 24 x3y2

(4) 24 x3y3

The value of /(=1) ./(-1) is:
1) -1
@) +1
(3) +2

4) 0
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SH g I T HE S dgYST b
a« g AR &t Sirear @ 7

(1) erefga

(2) er=ga

(3) == gd

(4) 9=
geelel U b
MaifRa & S 21

(1) s

(2) 9%

(3) T I TR

(4) TLT

SH 999 &1 A T BRI

WWSxy,%ﬁBxyaﬁ'{
SAE xy & 7

(1) 24 xy?

(©) 24 x2y

(3) 24 x3y?

(4) 24 x3y3

J(=1) ./(=1) =T A B
1) -1

@) +1

(3) +2

4) 0
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172.

173.

174.

175.

Which of the principle given in the
options 1is represented from the
given figure more appropriately ?

(1) Atmospheric pressure 1is the
force of gravity on air in a
column of unit area.

(2) A liquid exerts pressure on the
walls of the container.

(3) Liquid exerts equal pressure
on the walls of the container at
the same depth.

(4) The pressure exerted by water
at the bottom of a container
depends on the height of the
column.

Minimum possible interior angle
in a regular polygon is :

(1) 70° (2) 60°

(3) 90° (4) 120°

The factors of xyz are :

(1) x @)y

3) z (4) All of the above

Which of the following is the value
of 0.1 x51.7?

(1) 517 (2) 51.7

(3) 0.517 (4) 5.17

The point (-5, 2) is nearest to :

(1) x-axis

(2) y-axis

(3) origin

(4) equidistant from x-axis and
y-axis
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172.
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174.

175.

1" N 4

(1) 3HE &FhA & dgEEd uX
SHEECISIINICEESEEI P UESI B
T P TUET 2 |

(2 =@ I #F AR UX T
AT 2 |

(3) & A9 H SERI U HHE
TEE 9T GHE a9 e 2 |

(4) TPl S99 & It 9¥ 9l
ECIEUSHIR IS | B | I E |
qeEl % W H A 1Y
e wear B

T FEET gyl # d"9d siel
Hrfae AR IO 8 Tehall © -
(1) 70° (2) 60°

(3) 90° (4) 120°

XyZ Ed 9T<h g

(1) x @)y

) z (4) IgUad T4l

0.1x51.7 &I OF BRI :

(1) 517 (2) 51.7
(3) 0.517 (4) 5.17
g (-5,2) ®H0a B :
(1) x-37&7

(2) y-37&1

(3) =

(4) x T y-377 9§ U0 X

P.T.O.
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176.

177.

178.

179.

180.

What should be subtracted from

-3 to get —1 7
1 1
m 1 @ -1
2 2
3) 3 (4) ~5

heat.’” This
principle can be proved by which
of the following activities ?

‘Friction produces

(1) Heat is produced when hands
are rubbed together.

Rubbing the match sticks on
the rough end of the match box
causes it to burn.

)

3)

On running the electric mixer
for a few minutes, its jar
becomes hot.

(4) All of the above activities can
prove the principle of ‘friction
produces heat.’

The cost of 7 Kg of potatoes is
Rs. 42. How many Kgs of potatoes
can be purchased for 96 Rupees ?

(1) 10Kg (2) 12Kg
3) 15 Kg (4) 16 Kg
100° + 20° + 5° 1s equal to :
(1) 125 (2) 25

3) 1/125 4) 3

In which district of Haryana
Rakhigarhi is located ?

(1) Fatehabad (2) Hisar
(3) Bhiwani (4) Sirsa

(46)

176.

1717.

178.

179.

180.

—%ﬁﬁwwﬁ%—lw
a7

1 1
o + @ -1
2 _2
® 2 @ -2

‘qioT § HHT 3@ Bl & 39

sia 1 1 ° 9 e fohameRag

& AN = o ST oEedr B 7

(1) e &H AWE H WA WX
T I Bl B |

(2) A= @ Al I "SI &
ey R 9T WeA 9 a1 S
Iadl 2

(3) Toga MR ®l §B e d%
IA™ UX IR X TH Bl
ST B

(4) IS9P Gl FRATRATl &I
‘¥ ¥ ST IG el &
fasia o s A S aehdn
=

7 Kg AR & HHT 42 9 T
96 BUd H fehe- Kg oAl &AW 7

(1) 10 Kg 2) 12 Kg
3) 15 Kg (4) 16 Kg
100° + 20° + 5° B[ HE & :
(1) 125 (2) 25
(3) 1/125 4) 3

TENS! BREeT H§ O hE B H
ferg 2 ?
(1) wAeER
(3) THamt

(2) fBEr
(4) FEn
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6.

10.

11.

12.

13.

14.

15.

16.
17.

18.

usHl % IO, IIX =k H i @ il
wwﬁ?ﬁgﬂhmaﬂwm%,
= g T R o

O e B o

AW B I ™ SOX G "HEr S, 9
IO A @ B A U 9 9 ©

© ® © @

gie U 9 el @l B WY 2d & Al AR
SAX IIT HIET ST |

B I
Sar 6

. X% HA U gRIE H 3E YA & fag & T

el SFTE 9Y &1 &1 |

.G IO Fad SAC UFH (OMR) WX & 3ffeed

FH | AIT I YD AR HL | IAX T
2g 29d % (F%e FIS) H gAnT Mt B

. g% 999 % foQ Rw w = fomedl | @ S

fgpea & T AT 99% (OMR) X &ad TF &l
gd H YU e H Oid @R 99 F 9 0H
IR I Sfkd X B G IH ST A8 S
T 2 |

srwpefl gfeea Y 6 3@ IO U=eh O Hiel |
ST Qawwﬁémﬁrsmqwm
ARl U SgHHI® IUX Uk H o MEiRd
W & Afaiead o= 9 R[Rid |

gse QRIS Ud IO 9 B eAYaS TANT HY,

iR e o aRRaf § (Faw geT gRawr o

IAX WE B HHIG A fWear Hl R @l

BIghI) ga¢ g7 Grawr 8 3=y &l #arn
/

gs gROH/SOY 9Eeh H [T T A
el Wl ade ¥ elord o= § o |

gt H ghem BA/FA OH O OUAA FE B
AT fopdl U sl 91gg amEl, giEda
EXAfeiad  hRTST i GfeET, ﬁa’{ Az B,
FAFSIh SIHLT I7 hAT ST WX hl A

H A S AT I FIA H AGART S 2 |

ISRUSET-ARY M U U STell ofuAr
T (T o) famamd |

o= Adierh a1 e ® [@AT g @ faer
FIE Tt STIAT W T BIE |

SAFS(~1eh /EETATAT Uiehaleh I SUANT afoid 2 |

fopel Bla H ued gRAeHl AR SAX U5 H Fis
ART ST T |

e " BN R, Sl qdiem et /et
8lgd 9 Yd SR YN HE-UIAEh bl AT
Fﬁtr%ganzreﬁamﬁwaqﬁg%waﬁém
qhd T |

6.

10.

11.

12,

13.

14.

15.

16.
17.

18.

Answers to questions in answer sheet are to be
given by darkening complete circle using black ball
point pen as shown below :

O e O o

The answer will be treated wrong, if it is marked, as given

below :
v ® © @

If you fill more than one circle it will be treated as a
Wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed
to be changed.

The candidate should ensure that the Answer Sheet is
not folded. Do not make any stray mark on Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of
Test Booklet will not be provided.

The candidate will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.

Candidate is not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic/Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, candidate must hand over the
Answer Sheet to the Invigilator in the Room/Hall. The
candidate is allowed to take away this Test Booklet with
them.
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Rar a1 af gev-97 gwae F go  diRGT T Ta7 89 & @ g = ordfers @ [Ma5T FWH G9F 9 JHAE Jad & | GO G
&I % geErg FE Frar @R TE AT T §7 10 Fret # sifaR¥, gel # Iav 87 7 Sifka #T % R Q3 392 # gwa Rar s

STRIFRNET % forg Fder
1. IR =% (OMR) 39 999 YRR & 3= &l

INSTRUCTIONS FOR THE CANDIDATES :

1. The OMR Answer Sheet is inside this Test Booklet.

2| S SRl U9 YRAeRT Fie @ el S, o
IAX U R Y A A had Fwi i @R
U9 9 faEyer «% |

. 9eT W rEi 3§28 & ud usd g F 180 UsT
2| Uk UT TH b B B FIF FURHE BT
T&T &1

.30 U T {qEROT Sifehd Hid Ud IO U WX
M9 & % [T A il S @ige U9
TR &Y | T UeA-gRGHT H ITART FHA oA
T U W WX H AEeEl 9Xd | §@d J9F
gieer @< garT T8 1 S

. T8 o gRfea & & & gs9 gRaew wHiw oA
ST 95E HHG UH B &1 TR FE F= B a@r
Al gAY gA-gRAHE AR I I=E A &
e [ieteh bl gi ST i |

. g8 gdem @ 9 7 8 -
ART-1 : NieH AT geor
AFT-I1 : e qrgar qh&er (9. 91 & T, 180)

(m. 1.8/ = 90)

When you are directed to open the Test Booklet, take out
the Answer Sheet and fill the particulars carefully with

black ball point pen only.

. The test is of three hours duration and consists of

180 questions. Each question carries one mark. There is no
negative marking.

. Use Black Ball Point Pen only for writing particulars on

this page/marking responses in the Answer Sheet. The
candidate should remain careful in handling the question
paper and in marking the answers on the answer sheet.

Another booklet set will not be given.

. Also ensure that your Test Booklet Serial No. and

Answer Sheet Serial No. are the same. In case of
discrepancy, the candidate should immediately report the
matter to the Invigilator for replacement of both the Test
Booklet and the Answer Sheet.

. This Test has two Parts :

Part-1 : Mental Ability Test (MAT) (Q.1t0 Q. 90)

Part-II : Scholastic Aptitude Test (SAT) (Q. 91 to Q. 180)

q?a.-ggma?amﬁﬁvws?vﬁé‘sﬁ#
Z1

Note : Read other remaining instructions given on the

last page of this Booklet.
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(2)
I% FE % 7T/ FOR ROUGH WORK
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(3)

PART - I (|- 1)
MENTAL ABILITY TEST

ifser AvIar ghemr

Questions : 1 to 90

Direction : (Question No. 1 to 4)

In the following questions there are
followed by
Choose the conclusion(s) which must
the

statements conclusions.

logically follow  from given
statements.

(1) If only conclusion I follows.

(2) If only conclusion II follows.

(3) Neither conclusion I nor II follows.

(4) Both conclusion I and II follows.

1. Statements: Some teachers are

players.
All Players are
doctors.
Conclusions: I Some doctors
are teachers.
II Some doctors
are players.
2. Statements: Some jeeps are
buses.
Some Buses are
Cars.
Conclusions: I All buses are
Cars.
II Some Cars are

buses.

NMMS-NOV-2022

Time : 12 Hours

fdsr @ (I dEmr 1 | 4)

FrafaiRaa el J, ®o9 & I =Ry
2| ey @1 Fme Y S R o e
q dliches &9 A HAFAIOT HX |

(1) afs Faa Frpd 1 STTEET I € |

(2) gfe Had Fe=Rd I STFEROT &Il
g

(3) 7 @ Fr=pd 1 AR 7 &1 11 SAFEReT
AT B |

4) e 1 fR 1T &0 STgader id
g1
1. I : HB AAIF ALl € |
a Raergt St € |
fept : I B St oTeM 2 |

Il B St Raast € |

2. FHAT : FHB G TG 2 |
BB I8 BR F |
frepe - 1 @it = Y 2
II % HR a9 2 |

P.T.O.
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3. Statements: All flowers are
vegetables.
All  leaves are
vegetables.

Conclusion: I Some vegetables

are leaves.

II Some vegetables
are flowers.

4, Statements: All animals are
horses.
All  horses are
birds.
Conclusions: I Some birds are
animals.
IT All animals are
birds.

Direction : (Question No. 5 to 7)

Read the following information and

answer the questions given below.
(1) P+ Q means P is mother of Q.
(2) P+ Q means P is husband of Q.
(3) P—Q means P is sister of Q.

(4) P xQ means P is son of Q.

5. A— B x C + D + E, then which of

the following are true ?
(1) A is brother of E

(2) Ais sister of E

(3) Bis Husband of C
(4) C is brother of E

NMMS-NOV-2022

(4)

3. HAT : 9 A AfesTAr 2|
afl g afesar 2
Frepd : 1 go afEt aRmEr B
Il & Al BT 2 |
4. FHYT : TH SAHAT A 2 |
adr 912 weft ¥
frepe 1 1 %o well SeR € |
IT | STaY gelt 2 |
feer : (987 d=mm 5 ] 7)

fr=fafaa s & 9 ok A fRu
gl % 3IAX 2 |

(1) P+Q &1 378f 8 P, Q & AT 2 |
(2) P+Q @1 37ef 8 P, Q &1 Ui 2 |
(3) P-Q @1 31f 28 P,Q & sl&d B
(4 PxQ 1 3 8 P,Q 1 9 2|

5. A—-BxC=D+EZ?, ar fFrfaiad
59 P91 @ e ?
(1) A,E=r o 2|
(2) A,E® 98 2|
(3) B,C %1 ufaq ®1
(4) C,E=r «1g 2|
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6. Which of the following relations

show that A is the daughter of D ?
(1) A-BxC+D
2 D+C-AxB
3 A-BxC+D
4 D+C-BxA

If Ax B+ C + D, then how is B
related to D ?

(1) Mother-in-law
(2) Mother

(3) Husband

(4) Father

The volume of water in a tank
doubles every minute. The tank is
completely filled in 30 minutes. In

how many minutes will the tank
be half full ?

(1) 15 Minutes
(2) 29 Minutes
(3) 20 Minutes
(4) 10 Minutes

If the word “JAIPUR” can be
written as QZRKFI, then how can
the word “ROHTAK” be written in
that Code ?

(1) LIPGZQ

(3) JKRHZP

(2) ILSGZP
(4) LIGQZO

NMMS-NOV-2022

(5)

. T% TH & Ul

. gfig “JAIPUR”

D

. Frefafeg § 9 #9-ar 949y T8

goiem B %5 A, D @ g B 7
(1) A-BxC+D
(2 D+C-AxB
(3) A-BxC+D
(4 D+C-BxA

. T AxB+C+D B a B & D

q o Hayg § 7
(1) |a™
(2) "rar
(3) dofa
(4) Toar

F HAET gA®
e o usd & SR SR @
e 30 e H QUi w9 # WY
S B 1 o el | S emel
w3 ?
(1) 15 #=e
(2) 29 =<
(3) 20 e
(4) 10 e

= B QZRKFI
forar star 8, @ “ROHTAK” ==
P T wE H PO uwmR fomEn
ST 9ehdl 8 °?
(1) LIPGZQ

(3) JKRHZP

(2) ILSGZP
(4) LIGQZO

P.T.O.
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D

Direction (Question No. 10)

In the following question, select from the
figure which satisfies the same condition

of the placement of the dots as in figure
X).

10. M

X)

(1) @ 2) @
3) @ (4) @

11. If + means X, X means —, ~ means

+ and — means +, then find the
value of 288 —16+9x 54 +9:

1) 0

) 171
(3) 225
4) 117

12. Ifitis 2: 20 in the clock, what will
be the time after turning the hours
hand 40 degrees ?

(1) 3:40
(2) 6:20
(3) 3:00
(4) 5:40

NMMS-NOV-2022

(6)

fEwr : (987 & 10)
e usT H, g8 Spla ga S
feig o= @ IET R Bl s HIr
2 oar & omfa (X) # B

10. 7

X)

1) @ @) @
3) @ (4) @

11. IfE + &1 37ef x, x B 37 —, + FHl
3T + AR — BT 37 +, 7AFT SAC, A
288 — 16 + 9 x 54 + 9 &I HME =T
HIFTT
(1) 0
2) 171
(3) 225
(4) 117

12. IfE g2 ¥ 2 g1 20 e &U €,
ar =S H gs 40° gHA & 9
qHg BR ?

(1) 3:40
(2) 6:20
(3) 3:00
(4) 5:40
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13. Varun walks 20 meters in the
North direction then walks 20
meters in the East direction, then
12 meters in South direction and
then stops after walking 26 meters
in the West. In which direction
and how far is he now from the
starting point ?

(1) 6 meters West

(2) 14 meters South-East
(3) 10 meters South-East
(4) 10 meters North-West

14. If “DUCK” is written as @49% and
“LIKE” 1s written as I8%#, then
how can “ELUDE” be written in

the same code ?

(1) #83%# (2) @89%#

(3) #4@# (4) @4%a#

15. Q’s sister is P, R’s brother is Q, S’s
son 1s R, then how P 1s related
to S ?

(1) Daughter (2) Son
(3) Father (4) Mother

Direction : (Question No. 16 and 17)

Select a proper group of number / letters
from the given alternative.

16. 123 _2 41 _4124_23
(1) 3431 (2) 4313
(3) 4331 (4) 4321

NMMS-NOV-2022

(7)

D

13. IS URY H 20 Hiex 3Ia¥ &1 &
Sam 8 fee 20 Hiex gd fem H
Y 12 Hiex aferor fa=m #, e
26 HieX qivgy f&sm # I@he &6
ST 21 °fd, 98 URiYe e 9
fope faem ® g fRaeil g0 WX B 7

(1) 6#HIeX gie=gH

(2) 14 HrexX oy
(3) 10 #HieX =feror-gd
(4) 10 Hiex IAT-9Ii=H

14. I “DUCK”> &l @49% <X
“LIKE” @ 38%# for@m Sar g,
al “ELUDE” &1 &t s § g
JepY forar ST 9l 8 7
(1) #8I%# (2) @89%#
(3) #4@t (4) @I4%@#t

15. QF T2 P8, RHI A2 QB, S
g9 R 2, @ P & S 9§ F1 Hay
g
(1) g=ir 2) 3
(3) foar (4) =TT

feer - (Is7 dEm 16 wd 17)

ffu @ fopedi d A deun/stErl w6
Th FE e YU S ReEd e
g Bl ST G |

16. 123 _2_41_4124 _23
(1) 3431 (2) 4313
(3) 4331 (4) 4321

P.T.O.
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17. a_abc _bc_ abed _
(1) abde (2) bade
(3) baed (4) abed

Direction : (Question No. 18 to 21)

Read the following information and
answer the questions given below. The
following information compares the age
of A, B, C, D and E. A is older than B, C
is older than B but younger than A. D is

younger than E and B. B is older than E.

18. Who is the youngest ?

(1) E 2) A
3) C 4 D
19. Whose age is exactly in the middle
of everyone ?
1) B 2 A
3) D 4 C
20. Whose age is between B and D ?
1) A 2 E
3) C (4) None of these
21. Who is the eldest in age ?
(1) C 2 E
3) A (4 B

NMMS-NOV-2022

(8)

17. a_abc_bc _abed _
(1) abde (2) bade
(3) baed (4) abed
e ¢ (ueT d=m 18 | 21)

fr=faiaa s & 9 o) A fRu
T Ul b I 3 | M SRR H A,
B, C,D X E & I & g1 Hl TS
TIA B ezl C B g B
Akt A | 8ler 21 D, E iR B &
Bler 21 B,E § 9271 ¥

g 8ISl HiT & 7
(1) E

18.
@) A

3) C 4) D

sl ST il & S G H°
g

19.

(1) B 2) A

3) D 4) C
20. fFoa SEBSIRD® S H 8 ?

1) A 2) E

3) C (4) =TH A PIE e
21. &9 I H GI9 qS7 T 7

1) C 2) E

(3) A (4) B
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(9) D

Direction : (Question No. 22 to 24) ISEL (5[37-[ e 22 9§ 24)
In the following questions, which of the Frfiad gs9 # ST) GTIEQ%PJIT (1),
answer figures (1), (2), (3) and (4) will 2), 3) AR (@) HF A H-AT HA
complete the picture matrix ? = e (Afged) @ 91 w7
22. 99.
| ? D — ° D
[ |/ ] sl
(1) 2
% ® i (1) % @ y
3 4
% v % ®) % ) %
el T OO
Al Ak
(1) ﬁ @) @ (1) ﬁ @) @
o R o |4 o Q) © |4

NMMS-NOV-2022
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24 00|00 |(0 O
e R
A |laaalAAn
Lo o o I s I | Q
AA [AAA
L ] 0
?
FiY
o]
M 1A @ |ana
o o0¢C 00
3 4
A A A

25. Which letter will be seventh to the
right of the seventh letter from the
left of the English alphabet ?

(1) N
(2) M
3) G
4) T
Direction : (Question No. 26 to 31)

In each of the following figures number
are written according to some patterns.

One number is missing. Find the

missing number that replace the
question marks (?).
1
26. 1 4 2 3 2
8 27 ?

6 4 8 7 9 9

(1) 27 (2) 64

(3) 216 (4) 125

NMMS-NOV-2022

(10)

24 00|00 |(0 O
e R
A |laaalAAn
Lo o o I s I | Q
AA [AAA
L ] 0
2
FiY
o]
M 1A @ |ana
o o0¢C 00
(3) (4
A A A

25. SAUSH o ® AW FoAEd
FEX F TM AET FERX BT
BT 7
(1) N
2 M
3) G
(4) T

fdsr ¢ (u d@emm 26 | 31)

d= & S Uk SRR H Uk MiRE
FH AR FHE den el O
TH 9 U de g9 2 e a@en
ST &L, ST e (7) & A W
SUYERT Bl |

26. 1 4 2 3 2 1
8 27 ?
6 4 8 7 9 9
(1) 27 (2) 64
(3) 216 4) 125
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217.

28.

29.

NMMS-NOV-2022

1) 7 (2) 10
3) 12 4 9
(1) 8 2) 4
(3) 30 (4) 60
(1) 13 2) 17
3) 11 4) 21
4 6 7 n g 18
28 74
3 8
(1) 24 (2) 31
(3) 28 (4) 46

(11)

27.

28.

29.

30.

1) 7
3 12

(2) 10
4) 9

(1) 8 (2) 4
(3) 30 (4) 60
(1) 13 (2) 17
(3) 11 4) 21
4 6 7 n g
2
3
(1) 24 (2) 31
(3) 28 (4) 46
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31.

12

1) 3 @) 9
3) 19 4) 25

Direction : (Question No. 32 and 33)
In a certain code language

(1) ‘tip ja pul’ means ‘ tomato is red’

(2) ‘pul sur mat’ means ‘red and green’
(3) ‘mat tip jir’ means ‘green is tasty’

32. In that language which word is
written for ‘tasty’ ?

(1) mot (2) sur
(3) tip (4) jir

33. In that language which word is
written for ‘tomato’ ?

(1) ja (2) pul
(3) mot (4) tip

Direction : (Question No. 34 and 35)

In the following number/letters series
find the number/letter which is wrong
according to the series.

34. 7,12, 20, 31, 46, 62
(1) 46 2) 62
(3) 31 4) 12

NMMS-NOV-2022

31. -

14

1) 3 2 9
3 19 (4) 25

feer @ (9s7 demr 32 ud 33)

fepdl 9= e @ §

(1) ‘tip japul’ @T 37 ‘tomato is red’ &
(2) ‘pul sur mat’ T 37 ‘red and green’ &

(3) ‘mat tip jir’ T 37 ‘green is tasty’ B

32. IO 9T H ‘tasty & fe@ Hi-4r

=% foram = B 7
(1) mot (2) sur
(3) tip (4) jir

33. IO 9T H ‘tomato H g
HI-a1 U= for@r T B °?

(1) ja (2) pul

(3) mot (4) tip
feer : (9s7 dear 34 wd 35)
A= A S G /AER el H g8
/e S B S HEen &
HATAR T |
34. 17,12, 20, 31, 46, 62

(1) 46 (2) 62

(3) 31 4) 12
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35.

36.

317.

38.

C,E,I,P,W
1) E @) W
3) P @) 1

How many triangles are in the

given figure ?

(1) 16 (2) 8

(3) 24 4) 10

Reaching the meeting place 15
minutes before 5 : 00, Asim came
to know that he had arrived 30
minutes before the one who was 50
minutes late. Tell what was the
scheduled time of the meeting ?

(1) 5:15 (2) 4:45

(3) 4:25 (4) 6:05

If white is called green, green is
called black, black 1s called red
and red is called yellow, then what

is the colour of blood ?
(1) Red

(2) Black

(3) Green

(4) Yellow

NMMS-NOV-2022

(13)

35.

36.

37.

38.

C,E,I,P,W

(1) E 2) W

3 P 4) 1

& S ARl H BYSl Wl EE

fope= B 7

(1) 16 (2) 8

(3) 24 4) 10

5 a9 ¥ 15 e usd Yo% wd
U 9gAd gu, oTHM & I8 HIGH
g3l % a8 50 e X 4 o
I Al | 30 e gsd o
T B UE SaRd 6 Jo% H0

fenfa 9o == o ?
(1) 5:15 (2) 4: 45

(3) 4:25 (4) 6:05

gile d%ha &l B, B Hl I,
HIAT B ATA AR AT BN AT
FET SEr B, o TR B I
HA-ET & 7

(1)

(2) AT
(3) B
(4) diar

P.T.O.
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D

Direction : (Question No. 39 to 41)

In each of the following questions the

first two words have a common

relationship. Choose one word out of the

given four alternatives, which will

replace the question marks (?), having
same relationship with the third, the

pairs are given as follows.

39. Ammeter : Current : : Odometer : ?
(1) Speed

(2) Earthquakes

(3) Distance

(4) Humidity

40. Race: Track :: Cricket : ?

(1) Ground
(2) Stadium
(3) Pitch

(4) Tournament

41. Negroes : Africa :: Sherpas : ?
(1) Japan
(2) Tibet
(3) Nepal
(4) China

NMMS-NOV-2022

(14)

Ry :

FrlaiRaa g 999 # dsd & S
fepdl 9 fopdl ¥ & Th-gur | geiead
g1 g v 9 fawedt & & ws TEn
g YA Sl gserEsd fHed () & e
q¥ 3T §hal & 3 dEY 98 9 &l
e ey 81, Sie g9 g feu ¥

(I GE&r 39 | 41)

39. ITHICX : fogaemy : : SASHeT : 7
(1) i
(2) I

@) g
(4) STEAT

40. 3T : 9F : fppe 1 7
(1) 73S

(2) wieaw

(3) fo=r

(4) TAHE

41. BN : SRR Q9T : 7
(1) ST
(2) fossa
(3) SUTeT

(4) I
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(15) D

Direction : (Question No. 42 and 43) ISEE (5[37'[ & 42 T§ 43)
In the following questions, choose a FHeRaa 999 # 9 el § 9 T
figures amongst the four alternatives 3T ﬁ, B ST ofpla (X) &l U+
which when placed in question mark (?) e (?> F TE 9T @I AT Yed
space of figure (X) would complete the qa Bl ST |
pattern.
42. 42.
7 7
(X) (X)
/ / / 4
m [ @ |47 W [ @ |47
v v
@ 77 @ |7 @ 27 @ |7
Ve Ve
43. 43.
? ?
(X) (X)
(1) 2) (1) 2)
(3 (4) (3) (4)
NMMS-NOV-2022 P.T.O.
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D (16)

Direction : (Question No. 44 and 45). fdsr : (999 GEam 44 W 45)
Select the mirror image of the given q T ST /8= (X) <l Fuor gfafee
figure/word (X). T |

44. 44.
| |
X) )

(1) ?Z @) JZ 1) ?Z () JZ

— —

3) ?Z (4) Fzrﬁ 3) ?Z () FZTZ

15. MALA&’)ALAME 45. MAL%ALAME
(1) MALAYALAM (1) MALAYALAM
(2) MAJAYAIAM (2) MAJAYAIAM
(3) WVIVAVIVIN (3) WVIVAVIVIN
(4) MArAYArAm (4) MArAYArAM
Direction : (Question No. 46 and 47) sr : (Us EeEEm 46 wd 47)

Select the water image of the given IS guiHer iR el & fRu g
combination of English alphabet and LEIEREE IR SECIGIEE] gﬁl’QI

number.

46. A1TM3b 46. A1TM3b

(1) VLILIN3P (2) VIA3P (1) VIWN3P (2) VIN3P

(3) VIWN3P (4) VINEP (3) VIIN3P (4) VINEP
47. E8t4e9C 47. E8t4e9C

(1) 381keRD (1) 381he€D

(2) E81hoRD (2) E81hoRD

(3) d8irab6C (3) d8i¥a6C

(4) E8itedC (4) E8it¥edC

NMMS-NOV-2022
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Direction : (Question No. 48 and 49)

The given figure (X) is followed by four
figures (1), (2), (3) and (4), such that (X)

1s embedded in one of them. Trace out

the correct alternatives.

48.

49.

50.

Al

(X)
M @)
@ || @ |
>

(X)
M @ @ | B
G | 2 @ 8=

How many digits are there in
writing the numbers from 1 to

100 ?
(1) 198 (2) 192

(3) 99 (4) 100

NMMS-NOV-2022

(17)

ISCER

(I HEmr 48 wF 49)

far & =7 X) IR BE (1), (), 3)
AR (4) ¥ ¥ uh H qROmH B, K
X) = @ frer e H ffed 2
SUYET faeheq @l e @Y |

48.

49.

50.

hi
(X)
(1) @)
@ ] @) \1
"
(X)
M @ @ | B
3) 3 @) E
1 9 100 9% @& foe § g

fehae ofep BT 7

(1) 198 (2) 192
(3) 99 (4) 100

P.T.O.
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51. If the word “EARTH” can be
written as 51928, then how can
the word “ORBIT” be written in

that Code ?
(1) 15182 (2) 69289
(3) 58290 (4) 69292

52. If the word “FLOWER” can be
written as “GNRXGU”, then how
can the word “FATHER” be
written in that code ?

(1) GCWIGU (2) FCXGUW
(3) FDWIGU (4) GCXUGW

53. How many times do the hands of a
clock meet each other in 2 days ?

(1) 11 (2) 44
(3) 22 (4) 33
54. If the word “HEAD” can be written

as JDCC, then how can the word
“NOSE” be written in that Code ?

(1) PNUD (2) NPSD
(3) QOST (49 QMSE
Direction : (Question No. 55)

In the following Question, select the
option showing the main figure (X) after
rotation.

55. %

X)

(1)

A o &
3 W @ %

NMMS-NOV-2022

(18)

51.

52.

53.

54.

R :

g “EARTH” <= &I 51928
forar Sar 8, af “ORBIT” STs= ohi
=l His H fp9 g f@r S
TehaT & °?

(1) 15182 (2) 69289

(3) 58290 (4) 69292

i “FLOWER” e
“GNRXGU” fo@m oar @
“FATHER” < &I s H
UehIX forEar o @ehar & °?

(1) GCWIGU (2) FCXGUW

(3) FDWIGU (4) GCXUGW

D R # g9 @ gEAT Tm-ae
T fpat I} e & °?

(1) 11 (2) 44

(3) 22 (4) 33

gic “HEAD” 9= @& JDCC fomn

ST B, a1 “NOSE” 9= &1 381 hls
Y fopa ym fomam o 9t B 7

B]
,ar
[EZSI

(1) PNUD (2) NPSD
(3) QOST (4) QMSE
(J<1 E&An 55)

fFr=fafaa g7 d 9o &% a9 g™
Rl (X) @ I AT fAabed @
T B |

55.

>

(

M ‘@ @ %
¥ ol

3) (4)
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56.

57.

58.

59.

A man starts walking towards
west, after walking some distance
he turns 135 degree left of the
direction of walking. In which

direction is he going now ?
(1) North-East
(2) North-West
(3) South-East
(4) South-West

Chirag’s birthday is on Tuesday 29
May. If Sahil was born on 17th
November, then on which day of
the week will Sahil’s birthday be
in the same year ?

(1) Tuesday (2) Friday

(3) Wednesday (4) Saturday

In a class of 73 students, the rank
of Rahul 1s 24th from the top.
What is its sequence from the
bottom ?

(1) 50th (2) 51st

(3) 52nd (4) 49th

Sunil is eighth from both the ends
in a row. How many total students

are there in the row ?
(1) 16
3) 17

@) 15
(4) 14
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(19)

56.

57.

58.

59.

D

Uk Ak 9iadH H SiR =@ar
UR¥ HET B, HB X GAAd b
e g8 T @ BT % 135° 9
e Il 8 | A9 a8 e fasn
Frw e’

(1) ST-gd

(2) IAX-Uig=H

(3)3@1‘?—‘1@

(4) =feror-ufzem

T &1 SRR §i@ar 29 98
N T IR Gied H TH 17
qEEX I OBAT AT, A IE ey
afed &1 SEed e & 69
& 8rFm ?
(1) HIa
(3) guarX

(2) P
(4) STER

73 foemell & U HEm H U B
HH ST F 2441 B | A= A IR
HH FT S 7

(1) 50at (2) 51dt

(3) 52at (4) 49t

g ® o dfR § S R |
gar M 21 4R H ogma fead
B g 7
(1) 16
3) 17

@) 15
(4) 14

P.T.O.
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60.

On reaching a meeting place on
Sunday, I learned that I had
reached 2 days before the
scheduled day. If I reached there
on next Saturday, how many days
would I have been late ?

(1) 4 days (2) 3 days
(3) 1day (4) 2 days

Direction : (Question No. 61 to 63)

In these questions, a number series is

given with one term missing. Choose the

correct alternative from the given ones

that will complete the series.

61.

62.

63.

64.

11, 8, 16, 12, 36, 31, ?

(1) 155 (2) 124
(3) 62 (4) 108
4,10, 22, 46, ?

(1) 92 (2) 66

(3) 68 (4) 94

28, 23, 19, 16, 14, 13, ?
(1) 12 @) 11
(3) 10 (4) 13

If X means +, Y means —, Z means
+ and P means x, then find the
value of 10P2 x 5Y5%5 :

1) 24
3) 15

2) 10
(4) 20
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60.

ISEEE

AT bl Teh T & &I UX
Tease H o1 R MeifRa
e & <1 'R g@ &1 959 T g
afe & ol wfMER @ aer
geaar, o feam R\ fada @
ST 7

(1) 4=
(3) 1=

(2) 3=
(4) 2=

(M7 EE&r 61 | 63)

T gsAl H U " SEer & T ®
e oh q' g 2| Ry T et |
q gg fabed geT SoSEe Hg

61.

62.

63.

64.

2l

11, 8, 16, 12, 36, 31, ?
1) 155 (2) 124
(3) 62 (4) 108
4,10, 22, 46, ?

(1) 92 (2) 66
(3) 68 (4) 94

28,23, 19, 16, 14, 13, ?
(1) 12 @) 11
(3) 10 (4) 13

g X a1 A +, Y HT 37T —, Z
P 37 + X P T o7l x HET
SQ, dF 10P2 x 5Y5Z5 @ HMF
S HieT -
(1) 24
3) 15

@) 10
(4) 20
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65.

66.

67.

68.

After sunrise, in which side will be
the shadow of a person standing

facing north ?

(1) Right

(2) Left

(3) It will depend on the person

(4) None of these

If 44 x 12 = 8 and 78 x 22 = 14,

then 81 x9=7?
(1) 18 (2) 24

(3) 45 4) 30

How many cubes are there in the

given figure ?

1) 14

3) 15

The position of how many digit in
the number 7214658 will remain
the same after changing the digits

of this number in ascending order ?
(1) 4 2) 3

3) 2 4) 1
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66.

67.

68.

(3) g& AR 9 T Ham
(4) 379 q FHE T

gfT 44 x 12 =8 3T 78 x 22 = 14

g, al 81x9="?
(1) 18 (2) 24

(3) 45 4) 30

& e oTpfa H fpaw w9 2 7

1) 14

@) 11

(3) 15 (4) 12

T 7214658 H fhaw TR @
Y H Tedd H 9% UH 9HE

= 7
(1) 4 2) 3
(3) 2 4) 1

P.T.O.
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69. Pooja remembers that her
mother’s birthday is after 16th
and before 22nd while her brother
remembers that her mother’s
birthday is after 20th and before
25th. If both the information is
correct then on what date are his
mother’s birthday ?

(1) 20
(2) 19
3) 21
(4) 23

70. If 13 + 7 =109 and 14 + 6 = 408,

then 17+ 5=7
(1) 22
(3) 85

(2) 508
(4) 345

Direction : (Question No. 71 to 75)

125 Cubes of side 2 cm are put together
to form a bigger cube. After this each
surface of the big cube is painted red.
After colouring all the small cubes are
separated. On this basis answer the
following questions.

71. What will be the length of each
side of the larger cube formed

after all the smaller cubes are put

together ?
(1) 8 cm (2) 4cm
(3) 6cm (4) 10 cm
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69. IS H IS © 6 IAH Al H
SfeT 16 & F@ AR 22
$ U 8 Sdih ITDH 9 H TS
T 5 SHd A1 @1 THRT 20 B
e qAT 25 AT B Usd 2 | AR
AT B AH FEr 2, Al Ihl
AT & SAled e i @ ' ?

(1) 20
(2) 19
(3) 21
(4) 23
afd 13 + 7= 109 37X 14 + 6 = 408
g, ar17+5="7
(1) 22

(3) 85

70.

(2) 508
(4) 345

e : (I E& 71 9 75)

2 GHI. YST i 125 =91 | TH-A1
Lh{ Uh &S] WWT\HICII%I%H%
e g8 99 &l &% dds UX A T
fpar ST 1 T7 FE B 9% 99 8
g1 BT STAT — ST HY &AT ST B |
9 MR WX MHfaRad 9|l & 3IaX
AT |

71. 941 BIC 990 &I TH-9O1T @A &
CICSIEE BICCHIEE G CE s S|
(FPAR) &t @ I 8fl 7

(1) 8 9+t
(3) 69Hl

(2) 49w
(4) 10 9
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72.

73.

74.

75.

76.

How many such small cubes will
be there which will have red colour

on only two surfaces ?
(1) 24
(3) 36

2) 8
(4) 12

How many such small cubes will
be there which will have red colour

on only three surfaces ?

1) 12 2) 24

(3) 54 4) 8

How many such small cubes will
be there which will not have red

colour on any of its surfaces ?
1) 27 ) 36
(3) 24 (4) 25

How many such small cubes will
be there which will have red colour

on only one surface ?
(1) 36 (2) 54
(3) 16 (4) 48

If a person was born on last day of
February in 1980, then how many
birthdays will be celebrated till

November 2022 ?
(1) 42 @) 41

(3) 10 4) 11
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72

73.

74.

75.

76.

D
09 fhaa ®Ble g9 8 SEs
dhHad & 9d8 9T dArd T B 7

1) 24
(3) 36

2) 8
4) 12

g fhad ®BlC 9 BN s
FHad 9 gGdel 9¢ a3
R ?
(1) 12 (2) 24

(3) 54 4) 8

09 fhadd Bl g9 8 e
el «1 9de WX o W1 ARl
R ?
(1) 27
3) 24

(2) 36
(4) 25

Tq fohae B¢ 59 B[ foeh

HhHdd T 9de 9¥ AT 37 R ?

(1) 36
(3) 16

(2) 54
(4) 48

I fepdl Al 1 ST 1980
HEd] HEN & SifaH o g,

JaEY 2022 9% 98 [hdd
SHeT HATE 7
(1) 42 (2) 41
(3) 10 4 11
P.T.O.

Downloaded from cclchapter.in



77. At what time will the hands of the
clock be in a straight line between
8 : 00 and 9 : 00 but not coincide ?

1 8: 12
11

@ 8: 102
11
3) 8:16--
11
@ 8: 1222
11

Direction : (Question No. 78 and 79)

Study carefully the given series and

Answer the following questions.

4WP#K38% &5QGS1$UNI25@«68

78. How many such numbers are there
in the given above series each of
which is immediately followed by a
letter and immediately preceded by

a symbol ?
11 (2) 0
3) 2 4) 3

79. How many such symbols are there
in the given above series each of
which is immediately followed by a
letter and immediately preceded

by a number.
(1) 2 2) 3
3 1 4) 4
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77. 83X 9 T B &iw Fhe v =
H A GAr UH Al @m H
BN g @l el ?

1 8: 1%
11

@ 8: 102
11
(3) 8:16--
11
@ 8: 1222
11

feer : (Is7 demm 78 wd 79)
F=fifad e #1 emgds AT
FHL AR A RBE M0 gl & IaT I |
AWP#K38% &5QGS1$UNI25@68

78. & & Iudwd  ofEenm # U
T 9% Uh e S A ded

T Udieh 91 8 7
1 1 @) 0
(3) 2 4) 3

79. &1 2 S HEer # U fhae
i & B T % gid 9’
Th Y B AN Ja dBd TH

e § 7
1) 2 2 3
3) 1 4) 4
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80. A couple has 5 married sons, each
of whom has three children. How
many total members are there in

this family ?
(1) 25 (2) 26

(3) 27 4) 12

Direction : (Question No. 81 and 82)

The three different position of a dice are
given below. Select the suitable answer

to the following questions.
<A 7 «LC 1 LB
sf ok [P
81. Which letter is on the surface
opposite to D ?
(1) A
(2) B

3) E
4) F

82. Which letter is on the surface
opposite to F ?

1) B
@ D
3) E
4) C
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D

80. fpelt =wufy & 5 foenfed g B

e

B 9 g9 & da-dE I
g1 39 IRER H FHA fhad ded
g7

(1) 25 (2) 26
(3) 27 4) 12
: (Us dEmr 81 ud 82)

Teh O ol dF S-S Rafa S
S Mg 2 FeEeiad 9l & SugEd

IAL HT =TI T |

81.

82.

D 3 fauig dds 9X -1
37X B ?

1 A
@) B
3) E
4 F

F & fauidg dds 9x &H=-4ar
378X B ?

(1) B
@ D
3) E
4 C

P.T.O.
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D

Direction : (Question No. 83 to 86)

The answers to the following questions

are based on the diagram given below :

A
«3TSETH
E (Teacher)
(Artist) D G | F
c « ¥
B (Scientist)
83. Teachers who are not scientists

84.

85.

86.

but artists are represented by
which letters ?

(1) D @) F

3) E 4 A

Scientists who are teachers and
artists are represented by which
letters ?

1) E @) G

@) C 4 F

Artists who are scientists but not
teachers are represented by which
letter ?

1) B @2 D

3) F 4) C

Scientists  who are neither
teachers nor artists are
represented by which letter ?

1) B 2) F

3) D 4) C
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84.

85.

86.

freer : (Je7 dear 83 & 86)

fr=fefea g+ & SO A Ru To
MR UX 1T ¥ :

A
E 3T Ih
> (Teacher)
(Artist) D G | F
c « =i
B | (Scientist)
83. I AAYEH S JsNi<e Sl ©,

=] HAR &, hd AR IR

gafda fopu @ B 7
(1) D 2 F
3) E 4) A

I Jateee S STHUE SR
FHATRIE &, hd ST T UsiRia

fpm M@ B 7
1) E 2) G

3) C

J FABR ST GEE B IR

4) F

gafsa fepu @ B 7
(1) B 2) D
(3 F 4 C

I Jenves S A A1 STEHUsh @
MT T & FARR &, ha o1
a7 veiig fpu @ ¥ ?

1) B @) F
(3) D 4) C
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Direction : (Question No. 87 to 90)

There are given seven logical diagrams
(a, b, ¢, d, e, f and g). Select one which
best illustrates the relationship among
three classes in each of the following
questions.

OO @ ®@c
® @0

g

87. Mustard, Wheat, Potato.

(1) e @ g

(3) b 4 ¢
88. Boy, Student, Player.

(1) f (2) ¢

3) g (4) e
89. Brinjal, Food, Vegetables.

(1) b (2) e

3) a 4 g
90. Thief, Judge, Criminal.

(1) f 2) b

®3) g 4) d
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freer : (ue7 demr 87 | 90)

g 9% 99 == (a, b, ¢, d, e, £ 3NT )
few 7w 2| Fre=foRaa & @ g usH
g 99 a1 & G 99 QN an
49 g |

OO @ @C
& 0

g

87. €A, g, A |
1) e 2 g
(3 b 4) c
88. TSI, fammefl, Raamel |
(1 f @) c
3) g (4) e
89. <, @M, TSl |
(1) b 2) e
3) a 4) g
90. =X, SToT, STV |
(1 f @) b

3 g (4) d

P.T.O.

Downloaded from cclchapter.in



91.

(28)

PART - II (T - II)
SCHOLASTIC APTITUDE TEST

Aferer arar gderor

Questions : 91 to 180
The image formed on retina
retains for .......... even after

92.

93.

94.

95.

removal of object.

(1) i second (2) é second
3) 1 second (4) S second
8 16

The transparent front part of
human eye is called :

(1) Cornea

(2) Iris

(3) Optic Nerve

(4) Retina

When did Neil Armstrong landed
on surface of moon ?

(1) 20 July, 1968

(2) 21 July, 1968

(3) 21 July, 1969

(4) 22 July, 1969

When did the Constitution of India
come into force ?

(1) 15 August, 1947

(2) 26 November, 1949

(3) 26 January, 1950

(4) 9 December, 1950

The Chemical Formula of rust is :
(1) FesO4 (2) FeO
(3) Fe20s3 (4) FesOq

NMMS-NOV-2022
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92.

93.

94.

95.

Time : 12 Hours

et o)X S+ giafes, 9% s
& 9 Al I
TEdT 2 |

1 1
1) Zaaaug (2) 5

3) %aaaug @ L

Mg 99 & 9REST ST AR
FHeT ST 2 |

(1) Hif~aT

(2) 9ianiEenT

G R EARIERSIEE

(4) e

T STHEEIT 3 T=HT U9¥ Had
e @l ?

(1) 20 S8, 1968

(2) 21 S, 1968

(3) 21 S[<g, 1969

(4) 22 ST, 1969

ARAE  G@fage o AR e
T 7

(1) 15 ST, 1947

(2) 26 AT, 1949

(3) 26 STEaRl, 1950

(4) 9 fdE=R, 1950

ST 1 EEEE G B
(1) Fes04 (2) FeO
(3) Fe20s3 (4) FesO2

......
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96.

97.

98.

99.

100.

101.

Which is the primary component
of natural gas ?

(1) Hydrogen

(2) Ethane

(3) Carbon dioxide

(4) Methane

Which gas causes global warming ?

(1) Oxygen

(2) Sulphur dioxide
(3) Carbon monoxide
(4) Carbon dioxide

The vehicles are designed
that :

(1) Fluid friction increase

SO

(2) Fluid friction decrease
(3) Fluid friction don’t change

(4) There 1s no scientific concept
of this fact

Which metal is soft and can be cut
with knife ?
(1) Gold

(3) Calcium

(2) Sodium
(4) Copper

Which of the following is not an
example of polymer ?

(1) Cellulose  (2) Glucose
(3) Nylon (4) Starch

Which indicator gives pink colour
in basic solution ?

(1) Methyl Orange

(2) Red Litmus Paper
(3) Phenolphthalein
(4) Blue Litmus Paper

NMMS-NOV-2022

(29)

96.

97.

98.

99.

100.

101.

D

gpfcres T @1 miefHe g
P-T1 B 7

(1) =EgeH

(2) a9

(3) FEA TEATFAES

(4) Hig=

H-GT AT TS AT BT BT
T B 7

(1) TS

(2) ITHT SBHFAES

(3) FHEA AARITFAES

(4) FEA SEATFAZS

qEl aedal & [E9Ed 29 UK

AT S & dreb

(1) =g 9997 g¢ 99

(2) &4 =9 HH & Sq

(3) 3T &9 =YY el Faardl

(4) 3 TI W B AENTD
STTRON &1 &

HA-T G AXH BN & AT AR,
q Hrer ST Tohell & ?

(1) &= (2) |ifsaw

(3) Bicwraw (4) drsw

Fefafad & | %9 Sgas
JeeoT 78 © 7

(1) qogasT  (2) T
(3) AT (4) &=

HI-A1 gaeh g faeaT § e
JMIAAT R ?

(1) HuEa s

(2) @A fefewd qux

(3) HAITHATTT

(4) i fdTeqd qux

FT

P.T.O.
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102.

103.

104.

105.

106.

The North pole of a bar magnet
exerts a force of ..... on North pole
of another bar magnet.

(1) Attraction

(2) Repulsion

(3) Exerts no force

(4) Can’t be said

Ozone layer protects from
which radiations ?

(1) Infrared Rays

(2) Microwave

(3) Ultraviolet

(4) X-rays

us

Tin cans, used for storing food, are
made by electroplating tin on iron
because :

(1) Tin 1s more reactive than
iron
(2) Tin is less reactive than iron

(3) Tin and Iron are equally
reactive

All the above are correct

(4)

Which acid i1s present in Ant
sting ?

(1) Formic Acid (2) Acetic Acid
(3) Lactic Acid (4) Oxalic Acid

Which property of CO2 makes it
suitable to
extinguisher ?

use it in fire

(1) It 1is lighter than oxygen.

(2) It increases temperature of the
fuel.

(3) It is heavier than oxygen.

(4) It contracts in volume when

released from cylinder.
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102.

103.

104.

105.

106.

el ©g B H IIU A,
fpdl gaX B8 Ik & I gd
ECEGHISIICN

............

Tl g1l % HEROl & Y 999

SM g fEeE § oAl B S

feq =1 fagaeed e S ®

Fih -

1) feq <’ 9 Suer feaneha
T B

(2) fes1 e 9 &9 Fraslia 8ar ©

3) fer R el IE SEY
ERIFIS IS

(4) IYAFT AT FEI B

I & SH H HA-AT T ASE
2r 8 7

(1) wIHw T (2) e o
(3) dfFesp o (4) TRl oTRT

COz T HIA-ET o1 3H ARAMHE

45 § IWGET HA b [T Iuged

ST B ?

(1) g8 ST 9 &«hl 2 |

(2 T g9 T dAYHAN HI FErT
=

(3) T& SIS q 9 B

(4) A=Y ¥ Moad 49X I8 HEm
H THgear B |
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107.

108.

109.

110.

111.

112.

During a thunder storm :

(1) Keep moving while holding
umbrella.

(2) Should stand in open ground.

(3) Should move to high altitude
place.

(4) Should sit in bus/ car with its
windows shut.

Melting of wax is an example of
which type of change ?

(1) Biological
(2) Chemical
(3) Physical
(4) Physical and Chemical both

What is the unit of calorific value ?
(1) KJ (2) Kg
3) KJ/Kg (4) KW

The range of audible frequencies
for human ear is :

(1) 20 Hz to 200 Hz

(2) 20 Hz to 2000 Hz

(3) 20 Hz to 20000 Hz

(4) 20 Hz to 200000 Hz

If each side of an equilateral
triangle is doubled, then its area
becomes how many times ?

(1) 2 2) 3

3) 4 (4) 8

The smallest planet of solar
system 1s :

(1) Venus (2) Mercury

(3) Earth (4) Saturn
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107.

108.

109.

110.

111.

112.

SIESESEIE RS EE

(1) BT dAHY IAAT ATl |

(2 o WM X @S 'l ST
ey |

B) T TN W TN AT
ey |

(4) TRl R YT 9 H RagaHl,
ATl I Y ST =1y |

Y &H Ugar k9 IR &
qiad 1 IaEL0T & 7

(1) s

(2) TEEH

(3) Hifers

(4) qifges X TEE=E =l

AN heh AT hl RS a7 8 °?
(1) KJ (2) Kg
(3) KJ/Kg 4) KW

HEE HE % [T " Sl AR
T IO T

(1) 20 Hz & 200 Hz

(2) 20 Hz & 2000 Hz

(3) 20 Hz & 20000 Hz

(4) 20 Hz ¥ 200000 Hz

qie Th GHAE BIYST w gl
YIS I AT Y f&Iqr S, o
ZHhT &(hel [ AT @7 7
1) 2 @) 3

(3) 4 4) 8

AR afRar %1 JgaH T8 B

(2) g
(4) <0+

1) I
(3) ge=t

P.T.O.
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113.

114.

115.

116.

117.

A plastic used for making floor
tiles, kitchenware and fabric
which resist fire is .............. .

(1) Bakelite
(3) Polythene

(2) pPVC
(4) Melamine

When a cracker is ignited, a
sudden reaction takes place with
the evolution of heat, light and
sound and a large amount of gas is
formed in the reaction. Such
reaction is called :

(1) Explosion

(2) Rapid combustion

(3) Spontaneous combustion

(4) Slow combustion

Which of the following statement

about metals is true ?

(1) Oxide of magnesium is basic in
nature.

(2) Sodium and gold are metals
that can be cut with knife.

(3) Mercury is the lightest metal.

(4) Zinc can’t replace copper from
copper sulphate solution.

How many dot patterns are there
in Braille system ?

(1) 58 (2) 60
(3) 56 4) 63

Which number should be added to
49 containing the same digits to
make it divisible by 11 ?

(1) 94 @) 9

3) 4 (4) 49
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114.

115.

116.

117.

TEH RAT S 91 U lReh
2 S SRT 1 U e 2 |
(1) SarEe (2) 9o dlo o
(3) difereli= (4) AAEEA

gl & a) H Frefatad J§ |

HT-GT FIT TFF & °

(1) Ffe &1 Sfferaee ugfa
¥ e 2

(2) Aifeg9 IR @FT a8 o1 2
T2 =g | HIeT ST Fehall © |

(3) URT FEH B! o1 ¢ |

(4) i HAT Tehe G | HAT
I faeiUe A8t Y dehall |

I waRr § Rea Righea gt

2 8 7

(1) 58

(3) 56

(2) 60
4) 63

49 H = TRl G HE-Al
g SEr Se 6 a8 11 |
fgursT 8 Sg ?
(1) 94
(3 4

2 9
(4) 49
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118.

119.

120.

121.

122.

The slow process of conversion of
dead vegetation into coal is called :
(1) Coal formation

(2) Bitumen formation

(3) Carbonisation

(4) Fossilisation

18 out of 36 people love reading, so
reading in the pie chart will be
represented by :

(1) 36 degree sector

(2) Quarter sector

(3) Semi circular sector

(4) None of these

Which of the following changes in
environment may not be possible
due to deforestation ?

(1) Increase in atmospheric
temperature
(2) Increase 1in water holding

capacity of the soil
(3) Increased chances of flood
(4)

Conversion of fertile land into
desert

Who founded Nalanda University ?

(1) Kumargupta
(2) Chandragupta-I
(3) Skandgupta
(4) Harshvardhana

I act as control centre of the
activities of cell. Whoam I ?

(1) Vacuole
(2) Cell membrane
(3) Nucleus
(4) Plastids
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7d a9™id & HEaw " 9Radd
F & ufshar wedrdl B

(1) HIAT T

@) Fagh e

(3) THIEIHIOT

(4) STaTeHIHIeT

36 § 9 18 K YedT 99a=<
FA &, A ded H U AT H
AT ST -

(1) 36° HFeX

(2) =g FFY

(3) oTefgw deFeX

(4) 379 4§ pI3 Tl

Il &I FHeB B PO IAEI0T H
fFr=fafaa & 9 -9 aRadq
q9q 78 B ?

(1) argHssE qaE= J gia

(2) TEdl @ S 9RO eHar H
afs

(3) TG P AHWEET d¢ AN &

(4) SIS i h 75T |
FEAT

& [aeafaenad il T9AT i
o :

(1) BART

(2) == geH

(3) T

(4) sYgLgT

¥ Fifreer @1 wiatatEt & e
FE & @9 F FHF FHar gl H
BT g 7

(1) TRiekTemr

(2) HITIERT e

(3) H=H

(4) wifies

P.T.O.
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123.

124.

125.

Which American Company 1is
responsible for the Bhopal Gas
Tragedy ?

(1) Ford

(2) Pepsi

(3) Wipro

(4) Union Carbide

Which of the following statement is

correct regarding carbon farming ?

(1) Involves cultivation of crop
after clearing/burning forest
till 1its looses fertility and
provide revenue to farmers.

(2) Helps the crop to retain soil
health, reduces  chemical
infiltration into water bodies,
increases biodiversity and

revenue to farmers.

(3) Animal raising practices with
lot of Chemicals in the fields
and fumes earn more revenue.

(4) Small scale farming with old

and traditional cropping

methods with low production.

The difference between two whole
number is 66. The ratio of the two
numbers is 2 : 5. The two numbers
are :

(1) 60 and 6

(2) 100 and 33

(3) 110 and 44

(4) 99 and 33
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HET-G1 AR HUAI NI T
FEE & T SOErE ' °

(1) =i
(2) gt
(3) famn
(4) I HEiEsS

FEF H TG B AR e H I

HT-9T HA Fer g ?

(1) gs Q@ SEdE S @@
PIEH /STATBY dh HXH b
g% ®wEd IME Sl 8 o
dh a8 STFSUSe 9 8l AT
qqr Je Rpa™l Bl ST /Ao
A 2

(2) T W Hed /IYSTSHIA bl
IR HX HEA adl © 9™l
TEEe REE @ S dar
¥ u sl ¥, 9 fafgear
B Forr & S fRaEt &
ST STl 2 |

(3) Uy IUEA W A /wem @
gerar 91, ©Tdl § IEET R
TANT STaE fREE Bl STl
= BN

(4) BI¢ WX 9 Yl debrileh g
Mo s @ ’Baa &4
3T 2l B

& gl HEmredl @ SR 66 ©

AR ZAHT U 2 : 5 B, &l
i

(1) 60 3T 6

(2) 100 X 33
(3) 110 37X 44
(4) 99 3T 33
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127.

128.

129.

130.

In Medieval India the department of
Diwan-e-wizarat was related to :

(1) Abroad (2) Religion

(3) Revenue (4) Military

In the Vedic period, there was a
bigger institution than the village ?
(1) Kula (2) Vish

(3) Jan (4) Sabha
Identify the diagrams given below
and select the relevant option :

Fusing
7 Nuclei

(1) Uterus and Fertilization
(2) Embryo and Zygote
(3) Uterus and Embryo
(4) Fertilisation and Zygote

Name the given microorganism
and group to which it belongs.

(1) Spirogyra , Algae

(2) Rhizopus, Fungi

(3) Penicillium, Fungi

(4) Chlamydomonas, Algae

Spreading the powder on carrom
board will ............ friction.

(1) increase

(2) decrease

(3) friction don’t change

(4) none of the above
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126. HEHRIA 9MRG H SEAH-T-fasid

fararT grafeera o -
(1) fagsr (2) a9
(3) T (4) T
127. afess s & W T TSI G
g e ?
(1) FHd (2) fast
(3) S (4) T9T
128.

Fusing
~  Nuclei

(1) THI ST ==

(2) IOT X FFHAA
(3) TS X o
(4) M= AR g

129.

(1) TS, <A
(2) WSS94, hdh
(3) UfHIfeTEH, Haeh

(4) FAHZSHIATH, Kl

e T gewsig X 39 99E
W gasd SE9 g 9eith @ o

130.
2 ST 2

(4) SUVFT § q HIg A8l

FI

P A W UKSsy BEHa I

P.T.O.
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131.

132.

133.

134.

What is the circle which connects
all the vertices of a polygon called ?
(1) Semi-circle (2) In circle

(3) Outer circle (4) Circum circle

Minimum possible interior angle
in a regular polygon is :

(1) 70° (2) 60°

(3) 90° (4) 120°

What should be subtracted from
—% to get —1 ?

1 1
(1) 3 (2 ~3
2 _2
3 3 4) 3

Which of the principle given in the
options 1is represented from the
given figure more appropriately ?

(1) Atmospheric pressure is the
force of gravity on air in a
column of unit area.

(2) A liquid exerts pressure on the
walls of the container.

Liquid exerts equal pressure
on the walls of the container at
the same depth.

The pressure exerted by water
at the bottom of a container
depends on the height of the
column.

3)

(4)

NMMS-NOV-2022

(36)

131.

132.

133.

134.

SH g B HFT FET S dgYST B
g4t arEr ARt @ Siedr § 7

(1) ereiga (2) oT=T:g

@) = gq (4) 9T

uh At 9ggs H oqe9d siel
G AR T BT FHhell © :
(1) 70° (2) 60°

(3) 90° (4) 120°

—%ﬁﬁwwﬁ%—lmﬁ

a7
1 1
(1) 3 (2) —3
2 2
3 3 (4) -3
fRar T B Feeedl § Ru g
?‘a fasia &1 Sfaa w9 Q gsMar
?
(1) 3 &b & agErd W

SHUEECIS NI EESEEI P U ESI B

T P TUET 2 |

(2 = Fd9 # [ERI 9T &
ST B

(3) &g SA9 H A 9T THM
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136.

137.

138.

139.

140.

The cube of 1 —%is :

1 1

@ 1-3 @ 1-o-
8 8

@) 5 @ -5

What is the volume of the cuboid
of length 8 xy, breadth 3 xy and
height xy ?
(1) 24 xy2
(3) 24 x3y2

(2) 24 x2y
(4) 24 x3y3

The factors of xyz are :
(1) x

@)y

(3) z

(4) All of the above

Loudness 1is determined by the
.............. of vibration.

(1) Amplitude

(2) Noise

(3) Frequency

(4) Wave

The value of /(=1).4/(=1) is:
1) -1 ) +1
(3) £2 4) 0

The point (-5, 2) is nearest to :

(1) x-axis

(2) y-axis

(3) origin

(4) equidistant from x-axis and
y-axis
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1—%%‘[‘&:{@7”1

1 1

W 1-3 @ 1-o-
8 8

@) 5 @ -5

9 g9AM B AEAH Rl BN
S T 8xy, iﬁ%‘l’é 3xy 3T
Sag xy 8 °?
(1) 24 xy2
(3) 24 x3y2

(2) 24 x2y
(4) 24 x3y3

Xyz * NNEZ g
1 x
@y
(3 z
(4) YT G4l

J(=1) ./(=1) T HF BFT :
1) -1 2) +1
(3) +2 4) 0

g (-5,2) ®H49 B :

(1) x-3787

(2) y-7e&t

(3) =

(4) x T y-3T7 § IO X

P.T.O.
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142.

143.

144.

The cost of 7 Kg of potatoes is
Rs. 42. How many Kgs of potatoes
can be purchased for 96 Rupees ?
(1) 10 Kg (2) 12 Kg

3) 15 Kg (4) 16 Kg

The thyroxine production requires

the presence of in water

necessary to develop tadpoles into
adults.
(1) Copper

(3) Iron

(2) Iodine
(4) Sodium

If the weight of 12 sheets of thick
paper is 40 gms, how many sheets
of the same paper would weigh
2500 grams ?

(1) 750 (2) 800
(3) 850 (4) 950
Eikansh has two, two rupees

coins, one five rupees coin and two
what

combination should the boy select

ten rupees coins. In

three coins so the amount is
maximum ?

(1) Two five rupees and one ten
rupees coins

(2) Three ten rupees and one five
rupees coins

(3) Four two rupees and one ten
rupees coins

(4)

Two ten rupees and one five

rupees coins
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7 Kg I &l HiHd 42 B9 B |
96 99 H fohcl Kg Sl Tad 7

(1) 10 Kg
3) 15 Kg

(2) 12 Kg
(4) 16 Kg

eI &l dIEk Hesh H fawia
P b U SAEsTE AR
% IdEA & [ g |
P IuRAfq H1 STaLTHar el B |
(1) drem (2) ST
(3) T (4) Afsaw

gie Hie HETST &l 12 e &
aot 40 O™ 2, ar feha-n sfie &1
ao= 2500 T BRT ?

.........

(1) 750
(3) 850

(2) 800
(4) 950

THIST & IE &, A B9 B

fo®, Th dra @U@ feRRr

A A T v B fawm E

THIT H A GO H oA

Pl 1 I99 HIAT AT dlich

ST AfeeRa 81 ?

(1) & 919 9 X UHh IH &
CANESCCA

(2 99 =9 s X TH U=
U B IeRBT

(3) X & v9Y 3X TH a9 I
CANESEET)

(4) T =TT B9 I TH Ui B
CANESEET)
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146.

147.

148.

149.

150.

100° + 20° + 5° is equal to :
(1) 125 (2) 25
(3) 1/125 4) 3

Which of the following is the value
of 0.1 x51.7?

(1) 517 (2) 51.7
(3) 0.517 4) 5.17

Correct value of 13.572 to the
tenth place is :

(1) 10 (2) 14.5
(3) 13.67 (4) 13.6
The base of a prism is :
(1) Circle

(2) Triangle

(3) Square

(4) Any Shape

Suppose A is a digit, find the value
of Aif 31A + 1A3=501:

1) 8
(3) 6

2) 2
(4) 4

‘Friction produces heat.” This
principle can be proved by which
of the following activities ?

(1) Heat is produced when hands
are rubbed together.

Rubbing the match sticks on
the rough end of the match box
causes it to burn.

@)

(3) On running the electric mixer

for a few minutes, its jar

becomes hot.

(4) All of the above activities can
prove the principle of ‘friction

produces heat.’
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100° + 20° + 5° HT HF & :
(1) 125 (2) 25
(3) 1/125 4 3

0.1x51.7 &I A9 BFM :

(1) 517 (2) 51.7

(3) 0.517 (4) 5.17

M WM g% 13.572 1 Tal
qe 2

(1) 10 (2) 14.5

(3) 13.67 (4) 13.6

g &1 TR BT ©

(1) g«

RECE

(3) @i

(4) =1g AT SATpf

A+ el 6 A U o B, ar
31A + 1A3 = 501 H A & "9
R ¢

1) 8 (2) 2

3) 6 (4) 4

‘qioT § HHT I@ Bl & 39

sia 1 1 ° 9 e Ehameead

& ORI e R ST @kl & 7

(1) s/ &H AWE H TEA WX
T IT Bl B |

(2) AT i Al H AFEE &
gl Y X WeH 9 9l S
IJodl B

(3) fagd M &l f B e O
TAM UX ITH S TH Bl
ST B

(4) I9gEFT Gl FRATRATl &I
‘¥ ¥ ST IG el &
=ia @ Rs A S |ehdn
2

P.T.O.
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151.

152.

153.

154.

Match the

sanctuary with

park/
bird/

following
correct
animal given below :
Animal/Bird Place/National
park/Sanctuary

(A) Elephant (1) Kaziranga

(B) Tiger (1) Periyar
(C) Lion (111) Dudhwa
(D) Rhino (iv) Gir

(1) A@), B@Gy), CGiy), D@Av)
(2) AQii), B@G), C@Gv), D@1)
(3) A1), B@ii), C@Gv), D@)
(4) A@v), B@1), C@i1), D@)

In the Rayatwari system the rayat
was called :

(1) Farmer

(2) Labour

(3) Zamindar

(4) Jagirdar

Who is in
Sikhism ?

(1) Guru Har Ray

(2) Guru Har Kishan

(3) Guru Teg Bahadur

(4) Guru Hargovind

called Bal Guru

In which Buddhist Text
Mahajanapadas are given ?

(1) Bhagwati Sutra
(2) Upanishad
(3) Angutar Nikay
(4) Mulachar

16

NMMS-NOV-2022

(40)

151.

152.

153.

154.

=1 ag /9l @ S AR
% 9O @& HaE Hifsy

qg/qeit M /TS
I /IR
(A) Brelt eSS
(B) = (i) IRIR
(©) ;W (iii) geram
(D) ©h AT @ (iv) TR
HES]

(1) A@), B, Ci1), D@av)
(2) AGi1), B@), C@av), D@1)
(3) A1), B(@ii), C@Gv), D@)
(4) A@v), B(11), C(@i1), D@)

ITqarSt Faem " 3T el S
o :

(1) FRam™ &1

(2) HSTEX =l

(3) STHIGX i

(4) STFIREX &0

e g1 H§ 9 s R e
ST @ 7

(1) T6 =

(2) TS BXHH

(3) T& ATEBIGT
(4) T& BCNE=

e 9 T=T § 16 HAeT9al &l
fareor ez B 7

(1) ¥Teel g

(2) Iuug

(3) SaX ~epr T

(4) =R
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156.

157.

158.

For which river the word 'Indus'
was used in India ?

(1) Ravi (2) Ghaggar

(3) Sindhu (4) Satlyj

Who i1s the Chairman of Rajya
Sabha ?

(1) Prime Minister of India
(2) President of India

(3) Vice-President of India
(4) Finance Minister of India

Match the following as per their
relation with the following phrases :

(A) Terrace (1) Protection from

farming soil waste
(B) Inter - (i) Reducing
cropping surface run-off
(C) Contour (i11) Prevention  of
ploughing water flowing

down from slope
(D) Shelter belts (iv) Prevent gullies
(E) Mulching (v) Checking wind
movement
(F) Rock dams (vi) Retaining
moisture from
soil
(1) AQ), B(v), C), DGi), EGv), F(v1)
(2) A@), B@), C@iv), D(v), EGi1), F(v1)
(3) A@), B@), Caii), D(v), E(vi), F@iv)
(4) A(v), B(vi), C@i), D@i1), EGv), F@)

Who is responsible for sanitary
conditions in the country ?

(1) Health Minister
(2) Home Minister
(3) Finance Minister
(4) Chief Minister
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D

e q=| ARG Hl ORI & B
feTe g fepem T B 7
(1) et (2) TET
(3) Ty (4) qagst
ToaAT &I G i BT 8 °?

(1) 9IRA &I gEIHHAT

(2) 9IRS BT TsgafT

(8) RS B IU-rsfer

(4) AR T fa =301

FliRgd aeRIiRll & 9 39k
qee &% SAFAR T @l e

A) dEgar (@) ed & omfise
Tyt @R ¥ g9
B) AR ®EA (i) a8 § Iudre

I HHA HAT
(C) &= Sars (i) St H A=
e | AT
(D) T 9 (iv) AT Bl Ak
(E) qaamre (v) Bl & T
eI
(F) 3k e (vi) et s ==
ERIEECE]

(1) A@), B(v), C@i), D(ii), E@iv), F(vi)
(2) A(@i), BG), C@iv), D(v), E(ii), F(vi)
(3) A(i), B@), C(ii), D(v), E(vi), F(iv)
(4) A), B(vi), C(i), D(ii), EGv), FQ)
a9 W AT Al wl =
P TG & ?

(1) @ =53l

(2) T& =

(3) fa==l

(4) gea==

P.T.O.
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160.

161.

162.

163.

In which year the law against
Child Labour was implemented ?

(1) 2001 (2) 2003
(3) 2005 (4) 2006
Low lying areas are very

susceptive to ............. .
(1) Landslides

(2) Flooding

(3) Earthquakes

(4) Tsunami

Topography means :

(1) The physical characteristics of
an area of land especially the
position of its rivers, mountain
etc.

(2) Description of land, air and

celestial bodies

(3) Description of air of an area,

mountains and celestial bodies

of

oceans, rivers of an area

(4) Description mountain,

In which district of Haryana
Rakhigarhi is located ?

(1) Fatehabad (2) Hisar

(3) Bhiwani (4) Sirsa

What is the process in which minerals
lying near the surface are dug ?

(1) Drilling

(2) Off — Shore drilling

(3) Quarrying

(4) Extraction
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I T & Raars STfEf-Em fhg

g9 @ fRar =T ?

(1) 2001 (2) 2003

(3) 2005 (4) 2006
BRSSO % ufa
31fa Haeasha 8a g1

1) &

(2) ae

(3) P4

(4) G

STATHT HT 37 -

(1) T8l 9% &% &5 % grpiaes
faoam afe=y, gdar enfe i
Reerfer, Teretrepicy

(2) q¥, BT g SAERINT [USi @
ferereoT

(3) TREl &1 HI =4ATAl, ST
St a gaal &1 feer

(4) R8T &= & uedi, dal, A
CANCCEL

TERET eaen # e e H
ferg 2 7

(1) HwdsEE (2) B

(3) Tyt (4) fan

Ie H-9 gtk ® Sed 9ag &
g 92 @St I @ar Siar @ °
(1) T/ FAET/A89T

(2) STUFET AT

(3) IeE=

(4) Fr=pyor
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164.

165.

166.

167.

Out of the

industry is secondary activity ?

following which

(1) Tourism
(2) Fishing
(3) Agriculture
(4) Coal mining

From which mineral silicon 1is
obtained out of the following ?

(1) Coal

(2) Bauxite

(3) Thorium

(4) Quartz

Which of the following is correct
about “Ramsar Sites” ?
(1) Bhindawas Wildlife Sanctuary

and Sultanpur National Park
Thol Lake Wildlife Sanctuary
and Vadhvana Wetland

Bhindawas Wildlife Sanctuary
and Vadhvana Wetland

@)

3)

(4) Sultanpur National Park and

Thol Lake Wildlife Sanctuary

What was the ritual performed in
Ancient times before attaining

education ?
(1) Upnayan
(2) Gharbh
(3) Jatak
(4) Gurukul
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D

1 § 9 @d9-ar =T facias
nfafafer &

(1) gded I

(2) 7 g

(3) B

(4) HIAT @A I

M= d§ 9 few garg 4@ e
e Elar 8 7

(1) HrET

(2) STeFATSS

(3) aifaw

(4) SR g

fFr=feifad & f9-o1 SO @& e ?

(1) THSE™E gUsiid A9 g
YT T TG

(2) O A FSIg AMIARTT g
AT G

(3) THSME™E I=usiid AHARTT g
AT =

(4) GIMgY T IgAM d e
A TSI AT

191 =1 ) G M= I £ L S S s M et
RaT ST aTaT 9%hIX o -

(1) IuaAH
(2) TH

(3) STrceh

(4) JoHA

P.T.O.
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168.

169.

170.

171.

Match the following List-I to II :

List-I List-I1
(A) Land use (1) Prevent soil
erosions

(B) Humus (11) Land suitable

for agriculture

(C) Rock dams (ii1) Production use

of land

(D) Arable land (iv) Organic matter
deposited on
top soil

(1) A@), B@i), C(ii), D@Gv)

(2) A@i), Bav), C@1), D@G1)

(3) A@v), B(ii), C(G1), D@)

(4) A@i), B@), C@v), DGii)

Which of the following is a private
sector industry ?

(1) Hindustan Aeronautics Ltd.
(2) Tata Iron & Steel Industries
(3) Steel Authority of India

(4) National @ Thermal
Corporation

Power

What was the Provinces called in
the Chola Administration ?

(2) Country
(4) Mandal

(1) Province
(3) Nation

Which of the article of Indian
Constitution is related to abolition
of untouchability ?

(1) Article 17
(2) Article 18
(3) Article 15
(4) Article 16
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-1 1 II § gAfed SHiee :
g=i-1 g=r-11
(A) -39 () faedt & Hea
Rl AhT
(B) &oT /@l (i) HiT IUGHT
foreet i
(C) Ik e (iid) 9fFr 1 SRIA/
SAEEH IUART
D) W IFT (iv) FEEH  TERT
g5 H1 STHIT

(1) A@), B(i), Cii), Dv)
(2) Adii), B(iv), C@), D(i)
(3) A(iv), B(ii), C@i), D()
(4) A(i), B(i), C@iv), D(ii)

= & 9 dF-a1, e a3 @
SENT ' ?

(1) g™ wHTesd s
(2) TTET TERA Toe A I
(3) I AR S e

(@ TfE ag faEga

T AT H gl Bl HeT A1l
o 7

(1) = (2) T

(3) e (4) HOSA

G 1k o B o S o o 1
AV TG (YITEA) B
U B 9 dafad g ?

(1) oTg=sT 17

(2) TT=8T 18

(3) eTg=mT 15

(4) ITI=8= 16
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172.

173.

174.

175.

176.

Which of the following is a water
related disease ?

(1) Eye Flu
(3) Malaria

(2) Cholera
(4) Plague

The force applied on a body :
(1) May change its shape.

(2) May change the velocity of
moving object.

(3) Only (1) is true.

(4) Both (1) and (2) are true.

What 1is the retirement age of
Supreme Court Judges in India ?

(1) 58 Years
(3) 62 Years

(2) 60 Years
(4) 65 Years

The
implemented Subsidiary Treaty in
India ?

(1) Lord Dalhousie

(2) Lord Banting

(3) Lord Dafrin

(4) Lord Wellesley

Governor General who

Who implemented the free trade
policy in India ?

(1) France

(2) Germany

(3) Japan

(4) Britain
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172.

173.

174.

175.

176.

D

fefafag & 9 s9-a@1 S\

gl 9 et B 7
(1) M-y (2) Tom
(3) HARAT (4) =T

fepdl &g 9 T arelr o -

(1) a&g @& ARl J aRad=r
TqHT 2 |

(2) AT a&g & a1 H aRec
AT Tl 2 |

(8) ad (1) I 2 |

(4) IUAFT (1) AT (2) T TH
=4

IRa H Haem 9Eed &

N feha=l SAg 9X Hargd

gy ¥ 7

(1) 58 a9

(3) 62 T

(2) 60 IY
(4) 65 ag

AR H Hem® it ARl i
IIAT TAHX STEA I o1 ?

(1) <€ sARIST
(2) @ dfeT

(3) @ HRA
ORSIEESES

T ARSI bl ARG H AR
R or ?
1) wa =
(2) STHAT =
(3) STU= =
(4) e =

P.T.O.
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177.

178.

179.

180.

How can we reduce environment

Pollution ?
(1) By using diesel cars
(2) By using CNG Kits in vehicles

(3) By using petrol cars
(4) All of the above

Who introduced the rule of law in
India ?

(1) Mahatma Gandhi

(2) Mughals

(3) British Colonialists

(4) Hindu Kings

Which crop is referred as “green
gold” among the following ?

(1) Coconut

(2) Sugarcane

(3) Tea

(4) Coffee

What do you mean by FIR ?

(1) First Information Report

(2) First Information Commission
(3) First Knowledge Commission
(4) All of the above

(46)

177.

178.

179.

180.

ggEReT UgWeT & BH &9 Uk

SETIIN

(1) S99 FR b TAFT &R

(2) aresi | Hio UHo Silo ke &
TR &RT

(3) Ui BRI B TANT SR

(4) IURTRT |+l

ARG H HNT H  AEA
JEA e & 7

(1) w&reHT e

(2) 7T

(3) ferfesr Sufwasi

(4) &g o

=1 woet § @ 9 wEa @
TS Mes’ FeT SIar 8 °

(1) AT

(2) =T

(3) ==

(4) BB

THo &go 3o (FIR) & &9
T TS & 7

(1) w=&rd gaer Rard

(2) UIH FAT AR

(3) IIH A SAANT

(4) IUFRT Gl
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6.

10.

11.

12.

13.

14.

15.

16.
17.

18.

usHl % IO, IIX =k H i @ il
wwﬁ?ﬁgﬂhmaﬂwm%,
= g T R o

O e B o

AW B I ™ SOX G "HEr S, 9
IO A @ B A U 9 9 ©

© ® © @

gie U 9 el @l B WY 2d & Al AR
SAX IIT HIET ST |

B I
Sar 6

. X% HA U gRIE H 3E YA & fag & T

el SFTE 9Y &1 &1 |

.G IO Fad SAC UFH (OMR) WX & 3ffeed

FH | AIT I YD AR HL | IAX T
2g 29d % (F%e FIS) H gAnT Mt B

. g% 999 % foQ Rw w = fomedl | @ S

fgpea & T AT 99% (OMR) X &ad TF &l
gd H YU e H Oid @R 99 F 9 0H
IR I Sfkd X B G IH ST A8 S
T 2 |

srwpefl gfeea Y 6 3@ IO U=eh O Hiel |
ST Qawwﬁémﬁrsmqwm
ARl U SgHHI® IUX Uk H o MEiRd
W & Afaiead o= 9 R[Rid |

gse QRIS Ud IO 9 B eAYaS TANT HY,

iR e o aRRaf § (Faw geT gRawr o

IAX WE B HHIG A fWear Hl R @l

BIghI) ga¢ g7 Grawr 8 3=y &l #arn
/

gs gROH/SOY 9Eeh H [T T A
el Wl ade ¥ elord o= § o |

gt H ghem BA/FA OH O OUAA FE B
AT fopdl U sl 91gg amEl, giEda
EXAfeiad  hRTST i GfeET, ﬁa’{ Az B,
FAFSIh SIHLT I7 hAT ST WX hl A

H A S AT I FIA H AGART S 2 |

ISRUSET-ARY M U U STell ofuAr
T (T o) famamd |

o= Adierh a1 e ® [@AT g @ faer
FIE Tt STIAT W T BIE |

SAFS(~1eh /EETATAT Uiehaleh I SUANT afoid 2 |

fopel Bla H ued gRAeHl AR SAX U5 H Fis
ART ST T |

e " BN R, Sl qdiem et /et
8lgd 9 Yd SR YN HE-UIAEh bl AT
Fﬁtr%ganzreﬁamﬁwaqﬁg%waﬁém
qhd T |

6.

10.

11.

12,

13.

14.

15.

16.
17.

18.

Answers to questions in answer sheet are to be
given by darkening complete circle using black ball
point pen as shown below :

O e O o

The answer will be treated wrong, if it is marked, as given

below :
v ® © @

If you fill more than one circle it will be treated as a
Wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed
to be changed.

The candidate should ensure that the Answer Sheet is
not folded. Do not make any stray mark on Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of
Test Booklet will not be provided.

The candidate will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.

Candidate is not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic/Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, candidate must hand over the
Answer Sheet to the Invigilator in the Room/Hall. The
candidate is allowed to take away this Test Booklet with
them.
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